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1). What is the function of the Field Supply Unit (FSU) in DC drive? | DC
SEEIY Bits Y@ e (FSU) I SR BT 3MTg?

(A) Produces required firing current to the firing circuit | BrfT fdbedn sawad BRIk
HRC TR

(B) Provides variable voltage to the field winding of the motor | Hiev=al wies fAf&wman
UG HYd

(C)  Provides variable voltage to_the armature winding of the motor | el HER
R IRUd gieeyl UglH oprd

(D) Provides a constant voltage to the armature of the motor | Hiey=am 3R a1 fRR

Correct Answer : B

2). What is the purpose of JOG key in control panel of D.C drive? | D.C
SIsEAN deld UAaadid JOG Bl a1 351 HIg 31g?

(A) Stop the motor | AICR Yigdl
(B) Restart the motor | Hiex Jwee &
(C) Inching operation | s ST

(D) Reverse the direction of motor | Hiex =t feem Idct HruaErs]

Correct Answer : C

3). What is the name of the connection diagram as shown in the figure? |
3Tl GRITITIHIU SISUIT 3Tpaid A1d B 3HTg?
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(A) Inverter circuit | $&@eR e

(B) AC drive with-motor | HieITg E?ﬁw
(C) DC drive with motor | AICIUg Sl S5
(D) UPS circuit | gHTH Afche

Correct Answer : B

4). Why the A.C drives are mostly used in process plant? | U Wic 7
A.C SIS SITd UHTUMA T dIgRdld?

(A) Easy to operate | 3RS HIUIY Y 3

(B) Robust in construction | XTI HSdd 3

(C) Very high starting torque | CTEIT Tl U ST 3l
(D) Maintenance free long life | SEHTA qad dref S

Correct Answer : D

5). What is the purpose of PROG / DATA button in BOP of AC drive? | AC
Ss8 H& BOP Hid PROG / DATA SCUITREIT SYANT H1?

(A) To change the parameter setting | IR AT Seavarardt
(B) To store the entered data and show the factory stored data | "Tex Hadl sel
A Sxvarardt S baet waflia Ser gfavarandt
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(C) To display the direction of rotation forward / REV | ¢ Bikds / REV 9l f=1 UafRia

(D) To display the values of the frequency and current | IRART 3T A 31?& PRI

Correct Answer : B

6). Which is the classification of drive according to dynamics and

’g%l%ls#ents? | WMW&H@WWWW

?

(A) Short time duty drive | RIf¢ <sH SICI SRE

(B) Intermittent duty drive | $cXTHCC SYCT TSR

(C) Automatic control drive | icHfed Eb_cjﬁgl'ga

(D) Controlled Transiet period | ﬁﬂ%—'\"" gﬂﬁ'EE' fufeas

Correct Answer : D

7). What is the reason of using shielded cable for connecting low signal
circuits in D.C drives? | D.C & o R 52“%3
DIRU[ h[Y

(A) Easy for connection | HaRMYTS! AU

(B) Good appearance | @il faamd BU[d
(C) Protects from mechanical injuries | i GRUAIURIA TREUT HRUIS!
(D) Eliminates the electrical interference | ﬁ'@'ﬂ'ﬂ el Ty HITGTATST

Correct Answer : D

8). Which is the correct sequence operation of key button in BOP of AC
drive to change the direction of rotation? | AC E‘I%[E Hey fihruare fazm
SEUITTST BOP HEIH bl ST SRR I ohH hIUTdT?

(A) Press ON — REV - ON
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(B) Press OFF - ON — REV

(C) Press ON — OFF — REV - ON

(D) Press ON — REV — OFF - ON

Correct Answer : C

9). What is the purpose of LCD on basic operator panel in D.C drive or
A.C drive? | D.C S138 fdhal A.C Sgee T affies 3TUYcR UeaRldl LCD T
I D 387

(A) Calculate the speed | Tl 0T T

(B) Measure the speed | a7 Hiel

(C) Monitor the parameter | T4 IR aX xd SquaRITS!
(D) Detect the load current | NISKCREIE R0

Correct Answer : C

10). What is the main use of A.C drive? | A.C 3158 a1 &I SUANT H14?

(A) High starting torque | WIEM Tl I Sl

(B) Group drive motors | gq@s‘?e'nﬁatf

(C) Control stepless speed in motors | Hied =1 9 ey fa=r fFriffa sar dar
(D) Interlocking system in industries | I Fealien ] ey

Correct Answer : C

11). What is the advantage of AC drive compared to DC drive? | DC
STedI qa-d AC S15@ d BTG PHIU?

(A) Requires more space | 3@ ST IS 318
(B) Installation and running cost is less | ET\‘EﬁTSZFI STfOT I <t fbaa &Y sy
(C) Wide and smooth speed control | $& 3110 [e3[es 1 Tcil (I=I0T


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 5
(D) Power circuit and control circuits are complex | UlaR Hidbe 3Tfor o'bc;?lcfl Tiche Sfed 3MTed

Correct Answer : B

12). Why the A.C drives are better suited for high speed operation? | SIIRd
T SHUIT SRR A13T A.C SIEE MUP T BT SRAT?

(A) High starting torque | TCIT €l 3o 3¥al

(B) Robust in construction | I8 HSdd 3l

(C) Having lighter gauge winding | fthee TIsT dTSf&T 3ol

(D) No brushes and commutation | ST SATOT HFRICT gl

Correct Answer : D

ch type of sensing unit employed in drive system? | SI'&F%'
@%ﬂwﬁgﬁﬂgﬁfam?

13). Whi
ReHy

(A) Opto coupler | 3T HER

(B) Speed sensing | wits af={w

(C) Photo voltaic cell | LA m Td

(D) Resistance temperature detector | e TR fecaeR

Correct Answer : B

14). What is the disadvantage of DC drive? | DC @3@% dlc Iura?

(A) Not suitable for high speed operation | 3& AT TR I 9d

(B) More complex with a single power conversion | JioRd iR BHRdMT -1 Sifed 3 &d

(C) Less expensive than AC drive for high capacity motor | 3= & eI AC
&1 HH Gleid

(D) Less maintenance cost | ST W HH!

~
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Correct Answer : A

15). What is the full form of B.O.P in D.C drive? | D.C §[s& H&d B.O.P Tl
Bd BIH B2

(A) Bridge Operation Panel
(B) Basic Operational Panel
(C) Basic Operation Programme

(D) Bridge Operator Programme

Correct Answer : B

16). What is the full form of "VFD"? | VFD T J01 91d &1 3{Tg?

(A) Variable Frequency Drive
(B) Value Fixed Drive
(C) Volume Frequency Drive

(D) Voltage Frequency Drive

Correct Answer : A

17). What is the full form of VVVFD? | VVVFD d© JUI 919 &1 3Tg?

(A) Variable Voltage Variable Frequency Drive
(B) Value Variable Voltage and Frequency Drive
(C) Voltage Value Variable Frequency Drive

(D) Variable Value Voltage Frequency Drive

Correct Answer : A


javascript:void(0)
javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 7

18). Which power modulator used in the electric drive system? | 5’@%
S RReOue $HIUd UiaR HiegeicR dIuRd Sild?

(A) Cyclo converters | ATl dragex

(B) Frequency multiplier | e Afee R

(C) Phase sequence indicator | ol e sfedhex

(D) Servo controlled voltage stabilizer | H?ﬁ?b_@ﬁ Blee o TISATISR

Correct Answer : A

19). Which control system is used for Eddy current drives? | TS| HC
L SIGH

(A) Slip controller | &9 HeleR
(B) Rectifier controller | IGTHRR dHelax

(C) AC voltage controller | AC gleco] c'bc;\\lcﬂ

(D) DC chopper controller | DC ﬂﬁ?@?ﬂ

Correct Answer : A

[ N

20). What is electric drive? | 3dfdcdh SI5E U HII?

(A) A device used as prime mover for generator | SFRER AT3! UTsH HeeR T U aIurId YUIRT
YUcdh

(B) A device converts A.C to D.C supply | A.C o D.C YW1 A& ¥UIdR HRUIRT Uch

(C) An elgctro mechanical device for controlling motor | Hiew=t fAazumaTdY AurRT
sa®el Ao AHd YD

(D). A machine converts mechanical energy into electrical | S 7RI Tif® Sor Iracggd
KHold YIdR exdl

Correct Answer : C
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21). Which type of machine\in industri_e\s is rovidned\with mrlilti motor
electric drive? | m‘fﬁ CAIRCEARE! Hecl HIck gallac e SlgeYle
Ua™ ol SIa?

(A) Rolling machine | AT a=it9

(B) Air Compressor | T3} HUMR

(C) Shearing machine | HTaAR00 (‘ff\}lﬁ"'l) E=RlE]

(D) Heavy duty electric drilling machine | Gl S'Q'Cgf Eﬁ% %’ﬂ ENiE]

Correct Answer : A

22). Which device controls the speed of A.C motor in A.C drive? | A.C
STsde A.C HIe T1 a7 HI0Id! 1%@1‘%?{ ?

(A) Field supply unit (FSU) | fthes I gfHE (FSU)

(B) COMMS technology box | COMMS C@AIQITS Sl
(C) Speed feedback technology box | TS Bledd chAIANT dle]
(D) Microprocessor based electronic device | AP o s'ﬁaa’rﬁ$ %@é‘ﬂ

23). What is the name of the characteristic curve in D.C drive as shown in

thef?n%re?|mamammﬁro.cwmﬂamawﬁm
DI 3Tg?

Correct Answer : D

(A) Speed Vs torque characteristic | offs 9 eid TIUT'EI'FCI

(B) Torque Vs field current characteristic | 2l T IS P Wﬁlﬁ

------- {C) -Speed Vs armature-current characteristic |-€Cﬁ3-a &trﬁfazm'tgmwi )
Cont act - 9370948482, 8055403224, 9325721873
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(D) Field current Vs armature current characteristic | BITE HIC d JHHTR HC ﬂ'UT%If[

24). What is the part name of the DC drive marked as X" shown in the
figure? | 3PHaHY GRIfAAT ‘X' WUH fagifrd Haiedl DC SIS I
1 BT 3Te?

Correct Answer : A

(A) Terminal cover | e hgr

(B) keypad part | DIUS UTT

(C) Maindrive assembly | 31 S et
(D) Gland plate | Wt wie

Correct Answer : C

25). What is the function of IGBT in AC drive? | AC S[S&@H IGBT 1 B
DB 3HTg?

(A) Smoothening incoming A.C supply | BT A.C T Y Bl

(B) Controls the power delivered to the motor | #leX @T SITUIR} UiaR Fafa swal

(C) Stabilize the output voltage from the rectifier | AFeHRR U 313cyc glecol fRR

(D) Converts incoming A.C into D.C | TYUMT A.C I D.C A FTUIdR Hd

Correct Answer : B
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Moduler - 1 Electrician Trade 2nd Year

1). Why the compensating windin 9‘3 is provided in the large DC
generators? | HIGAT ST YA HRUTs QUi fafeT W%ﬁ\‘ﬂﬁ"

(A) To neutralize the cross-magnetizing effect of armature reaction | 3R ufafeamt
IY-YFb g THTT T HRUATIST

(B) To reduce the commutation effect | DRICR[H T J HH! HIUATITS!

;C)VTO neutrallze the dety \ @%STR UII ion | 3mHeR e

(D) To decrease Q‘&\, T3 5 "’7’}

Correct Ans @ /f
§

2). N name of the pa '

TPl Glrdd

DC generato

(L
=

(A) Yoke | dld

(B) Pole coil | tﬁﬁﬁl%ﬁ
(C) Pole core | A BR
(D) Pole shoe | U] ][

Correct Answer : D

3). What is the name of the part of DC generator as shown in the figure?
| 3MThdld GRAGEITIHTY DC SR YA A1d BT 3HT8?
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(A) Stator | e
(B) Pole core | U BR
Pole shoes | @I?T{LGI

Correct Answer : B

5). What is the purpose of pole shoe in DC generator? | DC SRR 7
UIdl T 35”0 B ATG?

A O

(A) Increase the air gap | §ddldl 3{dR dTedl

(B) Increase the field strength | fthce @;‘d qTeau]
(C) Minimize the magnetic losses | YT dgHHl B0
(D) Spread out flux uniformly in the air gap | 34T 3R THTH TRITRT THRAT

Correct Answer : D
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6). Which type of DC generator is used for electroplating process? |

PHIUIAT YHRD DC SYER dTuRdId?

A

(A) Shunt generator | ¥[€ SFveX
(B) Series generator | RIS SRR

(C) Differential compound generator | SRR HURSE SRR

(D) Over Compounded Cumulative generator | 3R HUSSS HRIICE SFRCR

Correct Answer : A

Vv A

% Skill India
4,

8). What is the effect in D.C generator, if it is kept ideal for long time? |

DC SFeIHY &Y S1audd 3iier ddedry il &1 TROMH gil?

(A) Field coil resistance increases | Tie Eb"lv'sT[ TfaRiY ared
(B) Armature resistance increases | SR UfeRIY dled
(C) Armature reaction increases | 3R ufafhar ared

(D) Loses its residual magnetism | ] amﬁmgaﬁ THTEd

Correct Answer : D
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9). What is the name of the D.C generator as shown in the circuit? |
& GRIJAT DC SIHCR d A1 HIa?

8  FUSE HaA L, F L L+
L"' o —
Ty
1 [ 4
I
I
o :
BOURCE | Q L
B 9
£ I - ;
|
L-Lc e, ——

pei voltage
' DC

>
(C) Alternating voItageT‘s’R?ﬁﬁTl gleool /L

(D) Direct current voltage | STRA HIC Blecdl

Correct Answer : C

11). What is the name of the part marked as ‘X" in DC generator as shown

in thef%?%w&gamn@ocm@wwm
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(A) Armature core | SMHIR BISR,

(B) Brush | I

(C) Commutator raiser | FHceX ISR,
(D) Commutator segment | W‘&@Tﬂi—d

Correct Answer : C

N
E%i%s th;gfh brush contact resista
>

(A) Resistance between the opposite brushes | 3¢ SR A iR

(B) Resistance between the brush and brush holder | =1 3107 =T YR AT UfdhR
(C) Resistance between the brush and commutator | IRI 37for quﬁw
(D) Resistance between the brush and armature | SIRI 0T 3TH=R G UfddR

Correct Answer : C

14). Which rule is used to find the direction of induced emf in D.C
generator? | D.C SHYeHE URA emf dt fG=1 FMeuarardt Hiord Aad
CICLEIRSIGIE

(A) Cork screw rule | WWW,
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(B) Right hand palm rule | 3T gTATAT dosATAT 44,
(C) Fleming’s left hand rule | GRIfHTTEIT STedT gIdTe (499,
(D) Fleming’s right hand rule | FITHTET STt gTaTET |

Correct Answer : D

generator if VT Terminz
®lecyl val = virC &

(A) To reduce the armature current | 3MfHTR Hc HH HIVANS!

(B) To reduce the armature voltage drop | STHER P HHI HIVITHIS!
(C) Helps to solve Boolean Algebra | Tgﬁ‘l?ﬂ SISO HreguaTd Hed Bid

(D) To reduce the temperature of armature | TR AU HHI OIS

Correct Answer : B

17). What is the name of the generator as shown in the circuit? |
SFREXd AT DY 3Tg?
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ETARTING POETIN FHF !-;N:;m"m__ L+
Lo i
A whe .
| e, L) €5
Ea

= L

(A) DC shunt generator | St zie T ver

(B) DC compound generator |

(C) DC series generato

| Y/ R
(D) D gene: &

@ed

(B) Differential short shunt compound | FSmRfierd Qe g & STFRCR,

-

(C) Cumulative long shunt compound | FRIFCIAN T HUTIS TFRC,

(D) Cumulative short shunt compound | FRIFEIRITC id HUNSHS SRER

Correct Answer : A

19). What is the formula for dynamically induced emf? | SIREIEEl
YRS SUAUD YJ BT 31g?

(A) BLV volts

(B) BL sin® volts

(C) BLV sin® volts


javascript:void(0)
javascript:void(0)

Page 17
(D) BLV cos6 volts

Correct Answer : C

20). Which formula is used to calcu\la’ge the generated emf in D.C
generator? | D.C SFReTE Gdd (S-RCS ) U1 BRGNS

DIV G IR ST?

(A)

(A) Side end plates | e s 38 wie,

(B) Pole shoe lamination | tIV'IFTQR NSRS
(C) Commutator segment | FHI TR @Tlﬁ—c’,
(D) Armature core lamination | 3R PR dfAzE

Correct Answer : D
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22). What is the reason for heavy sparking at the commutator in DC
generator? | St SReHdd WEW@ SIRGR W SR BT 3T8?
(A) Excessive brush pressure | =T ST URR

(B) Defective cooling fan | TG HiciT th

(C) Defective coupling | T HUHT

(D) Strong field | ASTgd AaH

Correct Answer : A

24). What is the purpose of using resistance wire used in the

commutator in D.C generator as shown in the figure? | &ﬂﬁﬁ
SRAGEITYHTY! D.C tvlgﬁzmeﬂf«r DHRIC I IR e -]
JIURUGTET 3R S He?

(A) To maintain constant stage | Tdd ol IRGUIATTS

(B) To reduce the voltage drop | @éﬁgﬁ Yl HRUTMETST

(C) To increase the statically induced emf | Tiewmal URd é@wamwmﬁr

(D) For smooth reversal of current direction | qaqT fa=m '{[E'ﬂﬁ?f IdC HRUGTHATS!
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25). Why the armature core of a DC generator is laminated? | DC SIYER
T 3HIR DR AHACS BT SHHAN?

Correct Answer : D

(A) To reduce the copper loss | SIAE RCASIE! U HRUGEST
(B) To reduce the friction loss | T80T e HH! HITATATS!

N magchine in |dlem
o WL Shslbtrreiiars

(D) Blowing hot air m'%e machine | HRAIHS IRY ga1 31@‘,“’

Correct Answer : D

27). Why solid pole shoes are used in D.C generator? | D.C S ReAd
tﬁ/ﬁ RST hT dTURcld?

(A) To reduce the copper loss | DR AN HHI HOINTA!

(B) To increase the residual magnetism |ﬁ@?ﬁﬁﬁ§ﬁm

(C) To decrease the residual magnetism ﬁﬁ@? Tafes w4t HRugNTe!

(D) To reduce the reluctance of magnetic path | iﬁﬁﬁ'ﬂ ARTRY SifreaT HHl HRvarRIdl
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28& What is the effect of armature reaction in DC generator? | DC STER
3frHeR U= o1 H1a aRoms gidl?

Correct Answer : D

(A) Output voltage increases | 313cUc s\lc%\rl argd
P g9

(B) Output voltage decreases | 3T3cYc %ﬁéﬁ U g

i 4

\

o i

(A) Series generator | SRR /LL
(B) Shunt generator | e SeR

(C) Differential compound generator | SRR HURSS SR
(D) Cumulative compound generator | Wﬁﬁﬁ HUTIS e

Correct Answer : D

30). Which materials are used to make the brushes |n generator? |

SNCYHY SR SgUaTHTS! D0 Ilfigdd araRd

(A) Steel and graphite | id 3107 UhTse
(B) Carbon and graphite | BT ST UTHTZE
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(C) Cast iron and graphite | HTRE 3T HTOT UThTSC

(D) Aluminium and graphite | SfcgfA-H IO TMHTRE

Correct Answer : B

31). What is the name of generator, if its field is connected in parallel

with armature? | SFRCEXd A1d BT W, SR AT Bics STHARIE THIR
?

Correct Answer : C

33). What is the necessity of the residual magnetism in a self excited DC
generator? | @WWE%@@W@ AT Yddhardl HiY TR

3T8?

(A) Build up the voltage | gieed faesy Hivar
(B) Reduce the field current | ftheg i HHI HRUGNTS!
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(C) Reduce the armature current | 3THTR DT HH! BRI

(D) Maintain the constant output voltage | R 3113cYc Fleco Il

Correct Answer : A

34). What is the function of split rings in DC generator? | DC SRR g
e g s ®1Y 3iie?

(D) Mechanical | AP d

Correct Answer : D

36). Calculate the induced emf of 4 pole dynamo having 1000 rpm lap
wound and total number of conductors is 600, the flux / pole is 0.064
wb? | 1000 rpm T U1 3R 4 UId SHATAT URd STATTG 0T &Rl
30T e are el THUT IREAT 600 3HTg, TeTerd/Ulct 0.064 wh 31T8?

(A) 160V

(B) 320V
(C) 480V
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37). What is the effect on induced emf if the main field flux get distorted
in DC generator? | DC SFReAY T Hhice HIR] fahd e URd emf
R DY yROMH BIdr?

(D) 640V

Correct Answer : D

rmula for t iciency of a D.C gen

Y Skill India
%, -

(B) Input —-Losses

Qutput

c Output

© Qutput + Losses
Input

O) —-
Qutput

Correct Answer : C
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39). Why the D.C generator should run in one direction only? | Siksll
SXCR ok UohTd 1R T ATeidTa?

(A) To protect the brushes from damage | EENE] RCIE QWWW&WTW
(B) To protect the residual magnetism | ATy qdbcd HI&IUT HICITATST
(C) To avoid short circuit in the armature | SMHIRAL T Ffhe TSt
e 3fIER AISTT TS UITIIa !

(D) To avoid over loading of the generator

Correct Answer : B

'}

41). What is the reason for the DC generator fails to build up voltage? |

ST} SFYe @Bleesl IR HRUYN YRG! 804 BRUI H1Y 3T5?

(A) Field resistance is below the critical resistance | Tlcs UfcRig YR ufdemRIUeT @t S-I'I%
(B) Armature resistance is less | 3R UfdeR HH! GI'I%'
g(ii_l)% Field resistance is above the critical resistance | wits uferie MR ufdprRUeT a°

?D) Prime mover is running at above rated speed | fecieaT dTmUe UrsH HiaR SIRd oI

Correct Answer : C
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42). Which rule is used to find direction of magnetic field of the

;c%noud? | DS ST Jaob g QAT fG=T MYTITST HIoTdT a9 aruRe
?

(A) Cork screw rule | WW o
(B) Right hand palm rule | SSTST gTATAT dos Tl 0
(C) Fleming’s left hand rule | TifE = STed €A a0

(D) Fleming's right hand rule

NOUSTRLA iy

43). W ‘b nal voltage of the DC shunt generat & s if the

Correct Answer : B

Report

SEes dle U 5]
load i w &
(A) AH
(B)
©
(D) L

armature reactic
HH! TS

?armature = d

ase in brush voltage S ST S FHea
shunt flelm

%, Skill India g
'\ 2

e

44). What is the purﬁose of slot marked as ‘X’ as shownin the figure? |

X' BUH fIgifrd Heiedl Wilcdl 368 B 3He?
S

o\ %
\)'L_T_\/

X

,.é
-
[ —]
[y
i X%

Correc
Report

(A) To fix the key way | B AR fARTHRUT HIUTRATST
(B) To make air circulation | gdT UREEROT H0)

(C) For lubrication purpose | ﬁm LRSI
(D) For easy removal from shaft | WWWQTW


javascript:void(0)
javascript:void(0)

Page 26

Correct Answer : A

45). Which type of D.C generator is used for arc welding? | 3
SfesTaTe YT D.C SReR dTuRel SiTd?

(A) Shunt generator | Xi© SIHER
(B) Series generator | RIS S ReR

| additional turns i the shunt field | ¥ Tisred
o oy confiey bk oA et

(D) By adding additioﬂﬁ.l(sistance with winding | [df$T48 H@H UfdPR Sig

Correct Answer : A

47). What is the name of the generator as shown in the circuit? |
SRERT AT BT 3187

L+

i
E VDL TALE
(A) DC shunt generator | SIH RiE SRR

(B) DC series generator | St RS S Rex

"‘1

K

E * TRRMINAL
o,
By

L
-
1
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(C) Short shunt compound Generator | Q1¢ ]I HURHS SHCY

(D) Long shunt compound Generator | @ }€ HUNHS TARET

Correct Answer : D

48). Which type of D.C Generator works in absence of residual

%n;%netism? | ST YR D.C TR AT dadheara SufRdid B

?

n D.C generator?

S PRISIE2= I,

tizing current | Hie SR He
(C) To macﬁ;netize the poles to produce coil flux | 91 ﬁ'ﬁ?l%? A ﬁﬁi‘ﬁ el

(B) To decrease the ma

(D) To increase the reluctance of magnetic path | GEHIT AFTEI {16 Y ATGAUINTS!

Correct Answer : C

50). What is the working principle of D.C generator? | SRf SRexd drd
< BT 3T8?

(A) Cork screw rule | W >
(B) Fleming's left hand rule | TRifE = ST gTdr=n fAad
(C) Fleming’s right hand rule | TIfERT =T IsfedT Taran Fad
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(D) Faradays laws of electromagnetic induction | sl ?@H@"Tﬁﬁﬁ? SR °1 faw

Correct Answer : D

Skill India

PHrereT HRd - BA IR
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NIMI Mock Test

1). What is the condition for the maximum efficiency of a DC generator?
| ST SR HHE SIHEGHAd! 3T BT 3MTg?

(A) Eddy current loss is equal to hysteresis loss | TSl Hic Al g RY Al A 3T

(B) Variable losses is less than constant losses | gRad-g arg %’ fRR A ~1aem H Gﬂ%
(C) Variable losses is more than constant losses | uRad=ig arg %@R AN < TO&fT SR \’rI'I%
g[l)%?r Variable losses is equal to constant losses | ovuad @19 § Jdaawr arg <aRd

Correct Answer : D

2). Why solid pole shoes are used in D.C generator? | D.C SHREE
TITerS Ulel R[Sf DT aTaRdTad?

(A) To reduce the copper loss | PR G DHH OIS

(B) To increase the residual magnetism |W@?ﬁﬁﬁ§lﬂm

(C) To decrease the residual magnetism | IRTSe HAfeSH HH! HRUARITS!

(D) To reduce the reluctance of magnetic path'| ﬂ'ﬂ?ﬁ'ﬂ'ﬂ'ﬂﬁﬁ a1 Ht FRUgTETS

Correct Answer : D

3). Which rule is used to find direction of ma netlc field of the solenoid?

| QieHIg ST Jeb g & fG=T MYTIRISt ATORT SITcll?

(A) Cork screw rule | EF\W >

(B) Right hand palm rule | IS gTared] doodTeT faq
(C) Fleming’s left hand rule | qﬁmmmﬁm
(D) Fleming’s right hand rule | TATH = It grdren fAag

Correct Answer : B

Contact - 9370948482, 8055403224, 9325721873
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4). What is the working principle of D.C generator? | S¥l SRed B
o BT 3T5?

(A) Cork screw rule | WVW >

(B) Fleming’s left hand rule | T STeT gTdren |

(C) Fleming’s right hand rule | TATHT T IofedT gTarn Had

(D) Faradays laws of electromagnetic induction | Beadl sﬁa@ﬁﬁ% seRM 91 fFaw

5). How the interpoles are connected in a DC generator? | DC SHeR qed
QCQLIIN HY Slied Sdrd?

Correct Answer : D

(A) In series with armature | STHEAT e

(B) In parallel with armature | TR JHIR

(C) In series with shunt field | 2ic fthes =1 AR,

(D) In parallel with shunt field | icithes =1 THIR

Correct Answer : A

6). Which voltage drop is indicated in the portion marked as ‘X’ as

mvpvqgén the figure? | ST‘&W afhﬂ%gqmmﬁr X' TUA fergifdrd daied

(A) Series field voltage drop | HTCIHT Bice &lecsl SIU
(B) Armature voltage drop | R gleeol @IU
(C) Armature reaction drop | R ﬁ'Qﬂl‘ZF-[ $}I'TI

Contact - 9370948482, 8055403224, 9325721873
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o N ~

(D) Shunt field voltage drop | Rcfthes glecs ST

Correct Answer : C

7). What is the name of the part of DC generator as shown in the figure?
| 3T dld QRITITIHTU DC SIHRCIA] HRTT 19 1 311%?

(A) Side end plates | {-Il‘srs s LQC,

(B) Pole shoe lamination | UTGQRFTWH

(C) Commutator segment | HH TR AHE,

(D) Armature core lamination | SRR ®I3R ==

Correct Answer : D

8). Which energy is converted into electrical energy by the generator? |
SFIRCRGIN HIUAT Hord [degd o TUiaR gla?

(A) Heat | SWIdI

(B) Kinetic | TTfcsI=d

(© Chemical|$&lﬁ

(D) Mechanical | A @Hd

Correct Answer : D

9). How many parallel paths in duplex lap winding of a 4 pole DC
generator? | 4 UId DC SFRex =1 §@idy o4 dTg a1 A4 fohdlt THiaR AN
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(B) 6

© 8
(D) 12

Correct Answer : C

10). What is the effect on induced emf if the main field flux get distorted

in DC generator? | DC W@H@Uﬂ@ Ui l'c\:lqm A URd emf
R D1 YRUIMHA BIdl?

(A) Induced emf increases | 18] I S _5: THUh aredr
(B) Induced emf decreases | 39 € 9 § TH UG HHI gldl

(C) No change in induced emf | Eﬂ_ﬁj\ﬂg@wq@[ CANGIEESAY S\Id '_-l'lé'T
(D) Induced emf becomes zero | E@H@é@w_@?ﬁ

Correct Answer : B

11). Which loss is called as copper loss? | DI RCRIGINI SICE RCRIG
BUIdId?

(A) Constant loss | PIe< A
(B) Variable loss | %’Wﬁﬁ?ﬁﬁ
(C) Friction loss | L RSIES]

(D) Windage loss | I A

Correct Answer : B

12). Why the armature core of a DC generator is laminated? | DC STHYER
=l DR AACS BT dI?

(A) To reduce the copper loss | AiedTd T HH HUMHTA!
(B) To reduce the friction loss | o RCRIG] HHI HIUATIT!

....... (C) -To reduce_the_hysteresis loss.|- X RIT JHHH BEL PRUARIS] - - - oo oo oo
Contact - 9370948482, 8055403224, 9325721873
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(D) To reduce the eddy current loss | T8I TdHTH JHATT HHI HIVATIATS!

Correct Answer : D

13). What is the name of the D.C generator as shown in the circuit? |
& gRIaeied] DC 9-Re} d ATd HI?

& musE |= ; F ~b 4
L+1v —— .
{ :
1 [ 4
-
au.n.gce | [= L
1
| E L4 ]
I D
L—=-"¢ e ——

(A) Shunt generator | e SRR,
(B) Series generator | I GI:R’E?,

(C) Compound generator | HUTHS STRCR,

(D) Separately excited generator | Juicewl WIS%S’ R

Correct Answer : D

14). What is the formula for dynamically induced emf? | SOHHD Al
$SYLS STHUG Y 3 B 31167

(A) BLV volts
(B) BL sin® volts
(C) BLV sin® volts

(D) BLV cosB volts

Correct Answer : C

15). Which type of D.C generator is used for arc welding? | 3T
Ao B D.C SREX TR WiTdi?
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(B) Series generator | RIS 9HReR

(C) Differential compound generator | fEHRAd $UES T ver

(D) Cumulative compound generator | Wﬁﬂ HUTSS TR

Correct Answer : C

16). What is the property of wave winding in D.C generator? | D.C

SR dag ARSIl UIH B 31e?

(A) Low current low voltage | HHl P HHT Blecol

(B) High current low voltage | STd ®<c HH! Blecl
(C) Low current high voltage | FHI P O glecol

BN

(D) High current high voltage | SIRd Hc SR Blec

Correct Answer : C

17). What is the reason for the DC generator fails to build up voltage? |
g leeol TR B SRR §I0dTd HRUI By 3He?

(A) Field resistance is below the critical resistance | it Uiy THR UfdpRIuS Jrc \’:ﬂ%r
(B) Armature resistance is less | 3R YfdhR HH! G{I%'
E;C")% Field resistance is above the critical resistance | wics uferiy TR ufopRMOET a°

?D) Prime mover is running at above rated speed | fecieaT dTmUe UrsH HiaR SIRd avTH

Correct Answer : C

18). Which type of D.C Generator works in absence of residual

%netism? | BT YHRY D.C S-REX fARIY dedhara Uiy &

?

(A) Shunt generator | ]c SYCR
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(B) Series generator | RIS 9HReR

(C) Compound generator | HUTIS SHRER

(D) Separately excited generator | queedl Eﬂ'\‘l’lg%_\"; S eR

Correct Answer : D

19). Which metal is used to make the pole core of large DC machine? |

T3A1 DC BRI UId B R SHaUITTS ! hIUT YTl dIuR bl SiTd?

(A) Softiron | iue 3

(B) Castiron | PRC ST

(C) Cast steel | PIRT rd

(D) Stainless steel | Ty $id

Correct Answer : C

20). Calculate the emf generated in a 4 pole DC generator with simplex
wave wound armature has 1020 conductors and driven at a speed of

1500 rpm, the flux / pole is 0.007 webers? | RIKIR dog SaHAT
THERYE 4 UId S| SAveH e I ciedl STATGT 0T 6T 1020

Hedex 3ed AT 1500 IRUTHAT 97T+ draddd Sidid, Udd / Uid 0.007

89 3MTg?

(A) 178V
(B) 243V
(C) 357V

(D) 428V

Correct Answer : C

21). What is the name of the generator as shown in the circuit? |
SFREXd AT DY 3Tg?
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ETARTING POETIN HF?HJ%T-WL L+
I

A whe .

| e, L) €5

= + @ = L=

(A) DC shunt generator | St vie s Rer

(B) DC compound generator | SR HUh e SRR
(C) DC series generator | ST RIS S vex

(D) Separately excited DC generator | JUCdl THICS SN SFveR

Correct Answer : A

22). Why the terminal voltage of the DC shunt generator decreases if the
load increases? | TS TGN SINl ¢ SFRCXd ClH-d Glecs @l il gld?

(A) Because of armature reaction effect| TR Rea=m tlﬁ'UTITI'I'ﬂ%
(B) Due to decrease in armature resistance | WWWW

(C) Because of decrease in brush voltage drop | SIXI Rlee] §T‘-I At sﬂc’ullj,o\o

(D) Due to increase in shunt field inductance | WWWW

Correct Answer : A

23). Why the armature resistance of a D.C generator is kept very low? |

D.C SFRExd! TR YfeRe~1 qd HHI BT Sl Sild?

(A) To reduce the armature current | 3fHTR He HH HIVANTS!

(B) To reduce the armature voltage drop | STHER He HH! IV
(C) Helps to solve Boolean Algebra | WW&H@W%@%

(D) To reduce the temperature of armature | 3THERT ATIHT HH! HIUGMETST

Correct Answer : B
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24). Why the pole core is laminated in DC generator? | DC SReHY gid
PR AHACE BT el SN

(A) To reduce the friction loss | U1 JHEH HH! HRUTMTS!

(B) To reduce the windage loss | f[dSS THUM HH! HRUINTS]

(C) To reduce the hysteresis loss | [gXREd THU HHI HIUIMNTS!
(D) To reduce the eddy current loss | Q@zf ada= RCSIE] HHI HIVGTATST

Correct Answer : D

25). Which formula is used to calcu\la’ge the generated emf.in D.C
generator? | D.C S ReH e U (SIXCS) NG|

DI I AU SiTc?

gz
(A) Generated emf = E‘u’ult

M
(B) Generated emf = ﬁz—xﬁ‘u’nlt
6o P

N
(C©) Generated emf = £Ju:E".J’I:uIt
60 A

xE‘u’DIt
G0 X g

Correct Answer : C

(D) Generated emf =
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NIMI Mock Test

1). How the no volt coil is connected in a three point starter with DC

shunt motor? | DC T/ Al ¥l Ulge WAL Al Blee Higd DR Sladl
?

(A) Directly connected to the supply | Dre W'-‘Zﬁ Sredd 318
(B) Connected in series with the armature | $THIRYE AIfAIhd SISad

(C) Connected in parallel with the armature | STHRTE FHIGR Siead

(D) Connected in series with the shunt field | e uﬂwnﬁ% P pad

Correct Answer : D

2). What is the name of the test as shown in the figure? | &F@?ﬁﬁ
19 DI 3HT5?

(A) Open circuit test | 3= Tfhe Fraoh

(B) Armature winding resistance test | TR arafST IRy Ir=on
(C) Insulation resistance test | s:gﬁm%ﬁlw GBI

(D) Short circuit test | TTe Tfbe Traof

Correct Answer : C

3). Why the starters are required to start the D.C motors? | D.C Iﬁ?ﬁﬁ??
ERIRIG] TRl T 3152

(A) Regulate the field voltage | flhes o1 Bleeo Q!!aaﬁ PO
(B) Reduce the armature current | 3t ==t Hie FH HIvaETSY
(C) Control the armature reaction | TR RUaRM &l HRUTMNTS!
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Correct Answer : B

4). Calculate the average pitch (YA) for retrogressive wave winding, if the
number of armature conductor = 14, number of slots = 7 and number of

poles = 2 | "3THR heaexdl AT = 14, Wicd! BT = 7 0T gai=l e
= 2 3, mmﬁwmﬁammﬂ

(A) 4
(B) 6
© 8

(D) 14

Correct Answer : B

5). Which DC Motor is designed to work with the full load limits? | PI0TT
ST Al gul dle qaiqug did Sruae! fSeg daieh 3ig?

(A) Shunt motor | i Aiex

(B) Series motor | AT HAICY

(C) Cumulative compound motor | et HUrdh 8 Hiek

(D) Differential compound motor | fave® purds Hiex

Correct Answer : D

6). What happens if the starting resistance of four point starter opens
while DC compound motor is running? | S HUT3E AR EINESEGIGI
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R Ulsc WTledl URMNG UdhR SuSd B glgd?

4oy

(A) Motor stopped | HleR Yiaat

(B) Runs at slow speed | ¥ TTci= eTad

(C) Runs at very high speed | AR AT 4Tad
(D) Runs at reverse direction | 3dc o= erdd

Correct Answer : A

7). What is the better method to change the DOR of a compound motor
without changing its characteristics? | $UISH S Hied! afersed 7 Sgadl
STISR ITH UGd DI 31182

(A) Change the direction of armature current | 3THER Hiel |32I| dqdl

(B) Change the direction of shunt field current | 2 Bice dicd! [GRI dadl

(C) Change the direction of series field current | qTfcien] hles decd! [ daa

(D) Change the direction of both the armature and shunt field current | 3R 3o vie
IS HYC alald! (G- daal

Correct Answer : A

8). What is the effect in a D.C shunt motor, if its supply terminals are
interchanged? | D.C R[c HICXHI Yd Al gy didl iy
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(A) Runs in slow speed | I HH gIdl

(B) Runs in high speed | 3 AT YTad
(C) Runs in the same direction | IREAT fe=a yraat
(D) Runs in the reverse direction | faog feRid amaal

Correct Answer : C

9). What is the permissible temperature value of class ‘F’ insulation? | e
P AR URATING dadE G el $ig?

(A) 90°C

(B) 105°C

(C) 120°C

(D) 155°C

Correct Answer : D

10). Which rule indicates the direction of current in armature conductors
in D.C. Motor? | D.C. AICRHEIT 3R dreaeHdd
CAGIRE L ?

(A) Right hand grip rule | 3T gIAM! Udhs a9

(B) Right hand palm rule | 3SIeT GTATAT ded HT] fam
(C) Fleming’s left hand rule | TARRT=IT SToAT BTeT=T A
(D) Fleming’s right hand rule | TifETT=IT IS BIaran (499

Correct Answer : C

11). Where D.C compound motors are preferred? | DC HUNSS Alcy B
Ty et Sirdre?

(A) Constant load requirements | IS HIOH 3d dagl

....... (B) -Constantspeedreqxﬂmentﬂ@gmlé-m-&@maoal---------------------------------
Contact - 9370948482, 8055403224, 9325721873
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(C) High starting torque requirements | SR WIS leh iRl

gD) Constant speed under varying load requirements | s qredn ot wits |

Correct Answer : D

12). Which method of speed control offers the speed below the rated
speed of DC shunt motor? | @E@Fﬁﬁ Ugd Sl ”ie
haledT TITU&TT HHI AT <ai?

(A) Field control method | a1 Hlad Hc alGaul,

(B) Connecting additional winding in series with field | Blcgde Hifciod 3fidiRed g0

(C) Armature control method | MR WW

(D) Connecting additional resistance in series with field | w“lcsas Aiferehd Sifafad UfdeR

Correct Answer : C

13). Which'is used to insulate the winding leads of a motor? | el
aTOR bl SiTdl?

N

(A) Cotton tape | Pled ey

(B) Fibre sleeve | TIdR e

(C) Pressphan paper | U0 TR
(D) Leatheroid paper | GENESEEH

Correct Answer : B

14). What is the purpose of series resistor connected with holding coil in

a D.C four point starter? | 191 TR Tigc WAL Higd
SSaTeaT et XSeR o I A7

(A) Limit the current in holding coil | gifesT aﬁia YT He Fata s

Contact - 9370948482, 8055403224, 9325721873
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(B) Increase the current in holding coil | @'%”TW HYAT B dleaul

(C) Increase the voltage in holding coil | 8IfcETTdISd AT Blecsl ATGqUl

(D) Decrease the voltage in field coil | IS Pisardld ®lecsl HH! BRI

Correct Answer : A

15). Which DC motor can be operated at constant speed under varying
load? | BTN DC HICR dTdiedT YRR RUR Tt draddr dd?

(A) Differential long shunt compound motor | fave® did e HuThe HIcR
(B) Cumulative long shunt compound motor | T} A9 Rie HUISs Hlex

(C) Differential short shunt compound motor | faes e T U Ay
(D) Series motor | AT AR

Correct Answer : B

16). Which is the most effective method of balancing armature? | 3R

qfrd SIuaRT gafd HTd Tgd St 3g?

(A) Static balancing | fRR S
(B) Dynamic balancing | mmm?

(C) Attached with counter balancing | #T3cR CRIBHERREE

(D) Plugged with lead weight balancing | @I d¢ SA=ITEg W had

Correct Answer : B

17). What is the action of assist the induced emf in a running D.C motor?
| ITAAT D.C HiexHed UNT SUHTH AT Hed HRUA! fohdl ST 3MTg?

(A) Assist the applied voltage | ﬂFloE;\lcft\‘.\rlml Had P
(B) Opposes the applied voltage | W@éﬁm Ry sva
(C) Increases the armature current | 3THAR BT qTGad
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(D) Decreases the armature current | 3THIR HYC HHI B

Correct Answer : B

18). What is the name of the test as shown in the figure? | WH
CRIGCITIHIU] TTauiTe 19 BRI 3157

(A) Test for Grounded coil | | (1) ﬁ’s{ﬁi‘l’l—cﬁ Tt}
(B) Test for Shorted coil | BICEAENRIC R

(C) Test for open coil | G HISATS] AT

(D) Drop test | ST =rofl

Correct Answer : A

19). Which is inversely proportional to the speed of DC motor? | DC
AT ATTAT R THIUTT HIUTdl 3Tg?

(A) Field flux | Bics Telad

(B) Applied voltage | IS S glec
(C) Armature resistance | 3R UfdeR
(D) Load current | IS ®c

Correct Answer : A

20). Which motor has this characteristics curve as shown in the figure? |

3MTpatd cRifaeaToHTo HIoreT HievHed § afkrseayuf o 32
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(| ~—

(A) Series motor | RS "AleR

(B) Shunt motor | e AleR

(C) Cumulative compound motor | Wﬁﬁﬁ HUTSS HICR
(D) Differential compound motor | SRR HUES HIER

Correct Answer : C

21). Which type of DC armature winding has the front pitch (YF) greater
than back pitch (YB)? | 0T YR DC 3MTH=R ff$THed the U (YF)
Jo fOe (YB) &l SR 3MTe?

(A) Lap winding | QY aTgf&T

(B) Wave winding | dg argfaT

(C) Progressive winding | TRy argfeén

(D) Retrogressive winding | 3 Ui arsfsT

Correct Answer : D

22). What is the name of winding, if coil pitch is less than pole pitch? |

SR Hisd Urd UId Ue Uell SHH! R asfST 91d BT 3Mg?

(A) Full pitch winding | Bd Uld dISf&m

(B) Over pitch winding | 3iegR U arsfe
(C) Long chorded winding | @~T ®Ia araf
(D) Short chorded winding | RITd ®is AT

Correct Answer : D
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23). Why commutators are sparking heavily? | U] HiaaT THT0MER
DI B STg?

(A) Incorrect brush position | 78 Yl Y URIA HRE0T

(B) Incorrect field connection | fthes d H-aRM JhedTHS,

(C) Incorrect direction of rotation | o= fa=m ﬁ?ﬁ &Iﬂ??l'l'ﬂ%
(D) Incorrect armature connection | MR T FHaRH RS WRHH%

Correct Answer : A

24). Why the carbon composition brushes are used in the D.C motor? |
D.C TICXHL STel- HUIIRI S BT ATUR SITcTe?

(A) Increases the starting torque | I ieh dIgauarTe!

(B) Decreases the starting torque | 3R ufafsran EISGREY| Hd

(C) Protects the armature from over loading | R SR s U W&HW
(D) Reduces the spark in the commutator | P 2eX I Heuda wifdbT S
SIS

Correct Answer : D

25). What is the name of the speed control method as shown in the

circuit? | GfbcHe GRATEITIHTUN o1 01 UGt A1d BT 3MTg?

=

FED DG BUPPLY

ol

(A) Field control method | Bite Seld Ugd

L

L—

(B) Armature control method | MR ﬂﬁ?{q@?{

(C) Field tapping control method | Pics CIUT] o'bg\lﬂ Uad

------- {D} - Fietd diverter control method-|-T e SRIGEX BeleF gl -~ - == - === -=--==-=--=------
Contact - 9370948482, 8055403224, 9325721873
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NIMI Mock Test

1). Why the carbon composition brushes are used in the D.C motor? | D.C
SIRT hT dTUR T SIIdId?

(A) Increases the starting torque | e eldh ATeauaraTa]

(B) Decreases the starting torque | 3R gfafdar U & HId

(C) Protects the armature from over loading | MR 3fig s U QTF&IHW
(D) Reduces the sparkin the commutator | FH! 33 AN i HHt
HIUYTHTSY

Correct Answer : D

2). Which DC motor can be operated at constant speed under varying
load? | BIUId! DC AR dTaTeAl HRIET! fRRR T dreiadm dd?

(A) Differential long shunt compound motor | fqNg® did Y HUrSs Hicr
(B) Cumulative long shunt compound motor | Hgdl T Ue HUSS Hiek
(C) Differential short shunt compound motor | faves ¢ Y HUTHS AT
(D) Series motor | HIfeldT HIeR

Correct Answer : B

3). What is the name of the winding if the end lead of coil 1is connected
to the beginning lead of the adjust coil 2 through the commutator
segment? | Hisd 1 ol Agedl dle TTHCGR JHANST digd 2 1
AT Sreda 3RIA [dfSTa ATd &1 3-d?

(A) Simplex lap winding | RITeiT @U arafST
(B) Duplex lap winding | Wﬁqaﬂ%"{

(C) Simplex wave winding | iy deg arafe
(D) Duplex wave winding | @Tﬂ dg arfeT

Correct Answer : A
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Report

4). What is the formula to calculate the back EMF in a DC motor? | St
AT dd SUHTH! UM HRUARIS! I DI 3HTe?

N E o ZNP
(A & 960A

= __NP
B) ==7o60A

© B- wguNAP

Correct Answer : C

5). What is the better method to change the DOR of a compound motor
without changing its characteristics? | PUIS At afred 9 seadr
SIS IH Usgd PIUId 3HTe?

(A) Change the direction of armature current | STHTR BIcHl |3¥II dqdl
(B) Change the direction of shunt field current | T/ Bicg Hecd! [G=M dgall

(C) Change the direction of series field current | AT hics Hecdl fG= dadr
(D) Change the direction of both the armature and shunt field current | TR 3foT T

PIC alordl R Fadl

6). What is the permissible temperature value of class ‘F’ insulation? | e

'F SR TRATIA dTIAH Hed fbet 3Me?

Correct Answer : A

(A) 90°C

(B) 105°C
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(C) 120°C

(D) 155°C

Correct Answer : D

7). Why the rewound armature must be preheated before varnishing? |
1 TRH el UTgor?

(A) Dry out the moisture | SETdI 16X DG UITHATS!

(B) Help for quick drying of varnish | I B TSV

(C) Make easy to penetrate varnish inside | 3T A TR TrIauaRITa!
(D) Maintain uniform spreading of varnishing | IR THTH R S-FH odl

Correct Answer : A

8). Which rule is used to determine the direction of rotation of armature

in D.C motor? | D.C HiexHdTd SmiaR=al fthrudre! fa=1 3Rquamrat siurdn
[BREKCIERGIRSISIF

(A) Right hand grip rule | E IR

(B) Right hand palm rule | 3SIT BIdTHT A AT G
(C) Fleming’s left hand rule | TARRT=IT STAT BTATET AW
(D) Fleming's right hand rule | TIHT=T ISTed gTdra fAaq

Correct Answer : C

9). What;;éhe operation in rewinding process? | RarEfe ufedd sra
?
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(A) Cleaning of slots | Slcad! Wwadl

(B) Removing of winding | 901 dhlgH ey
(C) Removing of wedges | wedges DlIg Il
(D) Cutting of winding wire | fafe araa wfcn

Correct Answer : C

10). What is the purpose of series resistor connected with holding coil in

a D.C four point starter? | @@WU@EW@W
Sreae YIRS SRl 323 BT o2

(A) Limit the current in holding coil | SIS DIsa AYTT Hic AT HIot
(B) Increase the current in holding coil | SIS T Higel HY HIC ATGA0!
(C) Increase the voltage in holding coil | @%WTEHHW él@ﬁl qlequr

(D) Decrease the voltage in field coil | Pt higaddld glecs HH! D

Correct Answer : A

11). Which DC motor is suitable for heavy starting torque and high rate

of acceleration? | gdl T Tl SATOT I HaT GRIHTS! It DC HIeR
Iy 3MTg?

(A) DC series motor | SIHI AT Aiex
(B) DC shunt motor | ST Tfe Hiex

(C) DC differential compound motor | St fatasd Hurdrs AR

(D) DC cumulative compound motor | DC Tad! UGS Hiex
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Correct Answer : A

12). What is the name of rule as shown in figure? | &Wﬁm
14 BT 3T5?

(A) Fleming's right hand rule | AfHTT 3T gTaran fAay
(B) Palm rule | U e

(C) Fleming’s left hand rule | T ST BTaTAT fAaw
(D) Thumb rule | 37131 fHTT

Correct Answer : C

13). What is the name of the folded edges of the slot liner? | i
NIEREES] QHSQ’N*«II FHeid 91d B 3‘”%

(A) Overhang insulation | WH@W

(B) Coil separator | Plsd (AU

(C) Shaft insulation | RMUE YR
(D) Cuffing | S

Correct Answer : D

14). What is the name of the speed control method as shown in the

circuit? | GfdhcHe GRATEATIHTT! 9T HAFUT Ugdid A1 ST 3M7g?
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Jo=l
e 1
ok -

(A) Field control method | CBQTQ_S’WW
(B) Armature control method | STHER m Ukd
(C) Field tapping control method | S CrU WU@T‘T

(D) Field diverter control method | e SIqu;cri 0'r>§\lc1 U

Correct Answer : B

15). Which speed control system provides a smooth variation of speed
from zero to above normal? | DIVTAT o1 fATHU YUITeiA YT o ATH-AUET
SR ATl HEo] BReh UG hd?

(A) Field control | fﬁv?s’?:h_@ﬁ

(B) Armature control | \’rl'lﬁf?ﬁ@?f

(C) Field diverter control | fhes, SRC Eh_@ﬂ

(D) Ward-Leonard system control | arsfaenrs R W

Correct Answer : D

16). Which type of DC motor is used for sudden application of heavy
loads? | 3D SI€ YR CIHUIRITS] HIUAT YRl DC HIex dTURe! Sld?

(A) Shunt motor | AR

(B) Series motor | R Hiex

(C) Differential compound motor | fSTHRRTd HUSS AleR
(D) Cumulative compound motor | Pitrent ¢ hUISS e
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Correct Answer : D

17). Why commutators are sparking heavily? | YT JISAT YHTUMER
BT B Aed?

(A) Incorrect brush position | S8 Yt ¥ UTGH JRE&0T

(B) Incorrect field connection | ftheg d HraR gdwi“ﬁo\b,

(C) Incorrect direction of rotation | o=l fa= qﬁ%ﬁ W‘ﬂ%

(D) Incorrect armature connection | STHER o BRI RIS -H-Icqlﬁo\b

Correct Answer : A

18) Which fault in armature winding is determined by the test as shown

ﬂ%%%reﬂ @W&Tﬁ%ﬂﬁ@m%ﬂﬁmmm

(A) Open coil fault | Gﬁﬂmtﬁﬁ
(B) Coil insulation fault | ﬂﬁmtﬁc—ﬂ

(C) Grounded coil fault | UIRES d?\lsrcfl ice

(D) Grounded core fault | T3S BR Bice

Correct Answer : A

19). What is the type of the DC motor as shown in the diagram? | ICEIG]
GRIGITYHTI o UhR BT 3T5?
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L+cr L]
A '
[ 8

o,

{

L—

(A) Shunt motor | X[ AR

(B) Series motor | RIS AieR

(C) Long shunt compound motor | AFRAE $HUNSS HIeX

(D) Short shunt compound motor | ITe T HUYTES HIER

Correct Answer : D

20). Which type of D.C motor is used for constant speed drives? | |dd
e BT Yh Rl D.C HIER aURell Si?

(A) DC series motor | St RIS AR

(B) DC shunt motor | St zie AHeR

(C) Differential long shunt compound motor | fSwmREa dr vie HUks Aer
(D) Differential short shunt compound motor | fSHRIRTE Tic Tic Huis Aex

Correct Answer : B

21). Which type of test is illustrated for the armature after rewound? |
RIS AR SHARATST D107 Ub R Aol aifdedt Sird?

(A) Open coil test | shu'rrﬁ‘s‘aéw
(B) Shorted coil test | vﬁﬁgﬁéaéw

(C) Voltage drop test | glecol §TL4 o

Contact - 9370948482, 8055403224, 9325721873
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(D) Grounded coil test | 3S 31\IJ$Q'I o

Correct Answer : B

22). Which motor has this characteristics curve as shown in the figure? |

3MTPHaiid GRIATTIHTOl HIUTT HIeHe § AIRISeayui agh 3Mg?

|~

(A) Series motor | RIS AleR

(B) Shunt motor | gje AR
(C) Cumulative compound motor | FRYAEl HUSS HICR
(D) Differential compound motor | SRR HUNSS AICR

Correct Answer : C

23). Why the D.C series motor field winding is wound with thick wire? |
D.C HIfeIehT HICR hits 05Ul SIS AR T SIGHT el Bilcl?

(A) To regulate field voltage | BIeE Blecord MaH HRUGMNTS!
(B) To carry the load current | HIR Udlg dIg- LRI

(C) To keep maximum inductance | STRciId ST S8d¢~ SUITTA!
(D) To reduce the armature reaction | TR Ufafehar HHt HRuarErat

Correct Answer : B

24). What is the name of winding, if coil pitch is less than pole pitch? |

SR ®isd Urd UId Ud Ue o R SIS 19 BT 3MTg?

(A) Full pitch winding | Bd Uld dISf&T

....... (B).-Over.pitchwjnding-|.3d\l.06x’.ﬁHQLéiE!I--------------------------------------------
Contact - 9370948482, 8055403224, 9325721873
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(C) Long chorded winding | TI<T I8 AT

(D) Short chorded winding | T IS aNAT

Correct Answer : D

25). Which method of speed control offers the speed below the rated
speed of DC shunt motor? | "SI Sl DIUld! Ugd S ]I HICIAT X
heled] ATTUET HHT AT a2

(A) Field control method Iéﬁ%ﬁ'[ Ob\lsrm PHC dIGdl}I,

(B) Connecting additional winding in series with field | ®icedg HIfcidbd JAfdRdd B0

(C) Armature.control method | 3THTR Heid Ugd

(D) Connecting additional resistance in series with field | Bhlcsdg Hifcrehd Sifcidd HfddR

26). Which method of speed control offers the speed below the rated

speed of DC series motor? e ﬁ,\?ﬁ){ DIV Usd ST HIRIS A=A
T el ATMUET DHH! o Gl?

Correct Answer : C

(A) Field diverter method | Bl Sltloscri J&d

(B) Tapped field method | Blecs el UGd

(C) Connecting additional winding in series with field | lcsdg Hifcrehd Sifdfad aasu

(D) Armature diverter method | MR ETQGEFT J&d

Correct Answer : D

27). What is the action of assist the induced emf in a running D.C motor?

| ITAET D.C HiexHE URA SUHTH AT Had HRUA! fohdl BT 317g?

(A) Assist the applied voltage | Q’Il‘J\CE;-\lQ'e\ﬂQ'“ Had ]

Contact - 9370948482, 8055403224, 9325721873
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(B) Opposes the applied voltage | FIT'I@@FIFIT Rty wva

(C) Increases the armature current | 3MHTR PHC argad

(D) Decreases the armature current | TR BHYC HHI B

Correct Answer : B

28). What happens if the starting resistance of four point starter opens
while DC compound motor is running? | SR T3S HICR A 3R]
IR Ulgc lcxd| URIND TfdhR STS IR B Eﬂs‘a?

(A) Motor stopped | TR didetl

(B) Runs at slow speed | 94 TTcf= &Tad

(C) Runs at very high speed | SR AT 4Tad
(D) Runs at reverse direction | 3¢c e erad

Correct Answer : A

29). Which material is used for starting resistance of DC starters? | Sl

e oAl Uide RIS I A3l aTuRat off?

(A) Eureka | w
(B) Nichrome | %A
(C) Manganin | 514
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Correct Answer : A

30). Which is the most effective method of balancing armature? | TR
Haid THTdT Ugd DIUNT 3ATe?

(A) Static balancing | RR Iqa
(B) Dynamic balancing | WVWW
(C) Attached with counter balancing | ®T3eR SciRITIE Had

D

(D) Plugged with lead weight balancing | S d¢ SaTRIg @i dhard

Correct Answer : B

31). Why it.is better to change the direction of armature current to
change the direction of rotation of DC compound motor? | DC U3 S

ISR SR TSAugrIat SHER HRed! [T IEaul JiTa ol 31g?

(A) To increase the rated speed |§_C’ B o AIEIUITHIS]

(B) To maintain the motor characteristics | Hicx afdreen yravaraTdt
(C) To increase the output power | 3T3c4c UlaR dI@duaRITa!

(D) To increase the efficiency | BRI TG qUaTITa]

Correct Answer : B

32). What is the name of the equipment as shown in the figure? |
Al dld cRIGAITIHIU[ SUD U [Id hY 311%'?

(A) Megger | TR
(B) Earth resistance tester | 31 IR xR
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(C) Internal growler | SCXcT ATgTR

(D) External growler | WW

Correct Answer : D

33). What is the reason for reduction in speed of a D.C shunt motor from

no load to full load? | D.C ¢ AT o YR Tqciedl o Jof HRTIAd
BRI BT 3R?

(A) Shunt field current increases | T Hice Hic dled

(B) Shunt field current constant | /e Wice adH [RRID
(C) Armature voltage drop increases | arrﬁav-%ﬁévrsﬁamﬁ

(D) Armature voltage drop decreases | AR Eleel §TLI Sl gl

Correct Answer : C

34). Which type of DC armature winding has the front pitch (YF) greater
than back pitch (YB)? | JUIT UebReAT DC 3TH=R fafgTwed the fue (YF)
3o fUd (YB) U SR SiTe?

(A) Lap winding | SECIES

(B) Wave winding | dq arefeT

(C) Progressive winding | Eﬁ"jﬁl?ﬁ’ EIE%"T

(D) Retrogressive winding | 3 mifye asfEw

Correct Answer : D
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35). Which DC Motor is designed to work with the full load limits? |
HIvTa! ST Hiex ol Arg ﬂﬂﬂ%ﬂ?mﬁmmﬁr (ST Dbl 3Mg?

(A) Shunt motor | i Hiex

(B) Series motor | HIfCIdT HAICR

(C) Cumulative compound motor | Tt U 8 Hiex

(D) Differential compound motor | fave® Hurds Hiex

Correct Answer : D

36). Which speed control method is used in food mixture motors? | 34

foryor HieHH e BIvTT AT 0T Uegd aTuRe! SiTd?

(A) Voltage control method | @lecs 01 Ugd

(B) Field diverter control method | BIts ST U0 Ugd

(C) Armature diverter method | TR smcs& J&d

(D) Series field tapping method | HIfePT Wies < U Ugd

Correct Answer : D

37). How the no volt coil is connected in a three point starter with DC

shunt motor? | DC T Hlex=AT Zﬁfl%?ﬁ'l’&ﬂiﬁ Os\lct d?Tsﬂ Ht SISt

?

(A) Directly connected to the supply | Dre ER_OI?)TITQF[ Sedd 318

(B) Connected in series with the armature | &Iqﬂﬁﬂs HIfelhd Silsad

(C) Connected in parallel with the armature | 3THIRYE THIMR SSad
(D) Connected in series with the shunt field | Tfe Qﬂﬁ!’\‘l—s' ATfeThd Fae Pad

Correct Answer : D
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38). Which rule indicates the direction of current in armature conductors

in D.C. Motor? | D.C. HIcRHHT 3HuR dreaerdia fagygd uarer fazm
DIurdr | ?

(A) Right hand grip rule | 35T gTATd! Uhs HaH

(B) Right hand palm rule | 3T GIATHT dS AT g
(C) Fleming’s left hand rule | WATERT=T STa0T ETATT fFraw
(D) Fleming’s right hand rule | SR IS BTl A9

Correct Answer : C

39). Which formula is used to calculate the speed of DC motor? |
DCHIEIET a7 HISTUTRITAT SHI0Td I dTURa SITd 2

(A) N=K=Z
(B) N=K—
(© N=K

(D) N-K-2—
60

Correct Answer : A

40). Where D.C compound motors are preferred? | DC HUT3S HIcH H1d
Ty foet wirdre?

(A) Constant load requirements | s HTaH H@ﬁa@

(B) Constant speed requirements | e S 3 d&]
(C) High starting torque requirements | SR wIfé efds Hivar
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gD) Constant speed under varying load requirements | IS dredr a3l Tt &g

41). How many number of paral el paths are in a wave wounded 6 pole

DC machine? |FRT[ TRiFe fordt THiaR AT 3med?

Correct Answer : D

(A) 2
(B) 4
(©) 6

(D) 8

Correct Answer : A

42). What is the formula to calculate the back emf of a D.C motor? |

"SI A= ARiTd SUHTH ! UM SR g3 B 3e?

W
Eii= Vaolts
A - 3Rz

(B) Eb =V x la Ra Volts
(C) Eb =V -1la Ra Volts

(D) Eb =V + la Ra Volts

Correct Answer : C

43). Which is used to increase the insulation property of the insulating
material used in the winding? | [df$TH&) araR<AT STOM=AT
SO UIEH TG qUaTTS! o UTdT aTaRal SiTd?

(A) Enamel paint | THd Ue
(B) Petrol | Ui

(C) Diesel | ICE|
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(D) Varnish | CHER]

Correct Answer : D

44). Which type of winding wire is used to wind submersible pump
motors? | GTHRIGA UY HIcHdl aRT QUATRITS! HIUTT YhRa! 9301 IR

CICENIRSIGH

(A) PVC covered type | SNt TSI Uh R

(B) Terylene thread type | SR T PR

(C) Super enamelled type | U g UBR

(D) Double cotton covered type | Qéil I 3rBIed YR

Correct Answer : A

45). Which speed control method is applied to obtain both below

normal and above normal speed in DC motor? | SPTFF[W‘R?[ THTIUET

%ﬁ?m&ﬁﬁrmﬂ?ﬂﬁ&ﬂwaﬂﬁwﬁwwaﬂﬁmmu@m
?

(A) Field control method | hIeS @a Yegd

(B) Armature control method | MR o'bg\lﬂ Je&dl
(C) Tapped field speed control method | €U Bics Tl L0 Ugd
(D) Ward Leonard speed control method | ars ﬁfaﬁm:e,‘n?ﬂﬁ'qamm

Correct Answer : D

46). Which type of speed control of D.C series motor as shown in the

figure? | 3TPpdid GRAGITHHTY D.C RIS Hied o A= Bl YhRd
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(A) Field parallel method | Tits WRad AYS

(B) Field diverter method | flhes eI AYE
(C) Field tapping method | fhes e@tT AYs

(D) Armature diverter method | AR W Ys

Correct Answer : A

47). What is the name of the test as shown in the figure? | &W?'ﬂﬁ
19 DI 357

(A) Test for Grounded coil | b | [ FC) ?ﬁgﬂ'\‘l’lﬁ Gl
(B) Test for Shorted coil | 2 dIsaxra! Aol

(C) Test for open coil | Ul HISATS! AT

(D) Drop test | ETUEFI?IU?[

Correct Answer : A

48). Which insulating material belongs to class ‘B’ insulation? | DI

oI I A &Y SgaIRHRN e fid 3g?

Contact - 9370948482, 8055403224, 9325721873
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(A) Cotton | PIYH

(B) Bamboo | &
(C) Fiberglass | PSR
(D) Leatheroid paper | AWIZS TR

Correct Answer : C

49). What is the effect in a D.C shunt motor, if its supply terminals are
interchanged? | D.C ¢ Hie3dl [RA3] cfHAcH dgaedT™ el B GRomH

gidr

(A) Runs in slow speed | aT[W@Fﬁ
(B) Runs in high speed |B?c[a"'ﬂef YTdd

(C) Runs in the same direction | 9RET =i uraat
(D) Runs in the reverse direction | o fexId rdal

Correct Answer : C

50). Which is inversely proportional to the speed of DC motor? | DC
S YHTUTTA HIUTAT 3Te?

(A) Field flux | BIes FIT

(B) Applied voltage | IS S BlcCol
(C) Armature resistance | TR UfddR
(D) Load current | S Hc

Correct Answer : A
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NIMI Mock Test

1). Which type of test is conducted using internal growler in AC motor

winding? | AC AIcR arsf&T 98 $exd UleR dIg= 10T YbRa! Aol
?

(A) Ground test | T3S ¢
(B) Polarity test | O e

o

(C) Continuity test | d?li:\C-j\sd ciC

(D) Short circuit test | Tidafde e

Correct Answer : D

2). Which schedule of maintenance the re.sistance\of earth connection of
an induction motor is to be examined? | SSARIT HICXA] q&ﬁ

UfABRI SGHTH BT ABTUABI Dheil Sld?

(A) Weekly | STiies
(B) Daily | IS

(C) Monthly | ATRI®
(D) Yearly | aTftie

Correct Answer : D

3). What is the phase displacement between winding in 3 phase motor? |

3 ol AIcAYTA 9301 axr T Bl [aRITUA fohdt 3iTe?

(A) 90°
(B) 120°
(€) 180°

(D) 360°
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Correct Answer : B

4). Which insulation is used for cuffing in AC winding? | o fafémmen
DHIIETST HIUT ?

(A) Fibre glass tape | BTIsR 70N ¢4

(B) Leatheroid paper | @ex TR

(C) Empire fiber glass tape | THIRER HII&R @RICY

(D) Fabric based adhesive tape | 0@ &9 SfifsHl d 24

Correct Answer : D

5). What is the formula to find synchronous speed of a A.C 3 phase

induction motor? | AC 3 Thal SR Hiex =l Rish1 TWie HIvrdr JFH
PTGl oflcl?

120F
(A) Synchronou s speed = T

120F
(B)  Synchronou s speed =T

120

Synchronou s speed =——

© =
PF
D Synchronou s speed = —
®) / 120

Correct Answer : A

6). What is the fuse rate to run a 10 HP in three phase induction motor at
full Io;%? | 9 ol S8R AleAe Ul ArgaR 10 HP ATAqUaIe WSl aX
o] ?

(A) 10A

(B) 15A
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(€ 25A

(D) 30A

Correct Answer : C

7). Which fault condition the thermal overload relay protects A.C

induction motor? | Jperq| Gﬁ%??ﬁ_s' R A.C SR
Rl TRfard BHRd?

(A) Short circuit | TcTfhe

(B) Open circuit | 39 Jfdhe

(C) Over load | SN @IS

(D) No load | 4R ATg!

Correct Answer : C

8). What is the relation between the torque and the slip of an A.C
induction motor? | A.C SR HiedT Cldb S0 U Il 1 Teie 3ATg?

(A) Slip increases if torque decreases | b HH e Ry ared
(B) Slip increases if torque increases | el aTeeur™ &y ared
(C) Slip decreases if torque increases | el Aoy Rkay w4t gid

(D) Slip consant if torque decreases | cld HH! HTedy fKTT B B

Correct Answer : B

9). What happens to a 3 phase induction motor, if one phase fails during
starting? | 3 Bl SSaRM Hleld B Bld, SR T Bol Y= DhraT ATl
oXcll?

(A) Motor does not start | Hier qJ= gid ATgt
(B) Motor runs in high speed continuously | Hiex ad avTH 41ad
(C) Motor runs and draws less current | HieX Idd &Wﬁ[wmm
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(D) Motor continues to run with regular speed | qiex afid o 41ad Jgd

Correct Answer : A

10). What is the name of the symbol as shown in the figure? | &Tﬁﬂ
QIR IUHIUl [dRld —ld oy HT%?

(A) Induction motor, three phase squirrel cage | SR Oiex, did bl [ReRa ol

% Induction motor, three phase with wound rotor | $SIH Hlex, dd,s Jex e a1

(C) Induction motor, three phase star connected | SSRM 13-I|E€, T ol TR Shiedd
(D) Induction motor, three phase delta connected | SSR HieR, dF Bl Secl siredia

Correct Answer : B

11). Which test in winding is illustrated as shown in the figure? |
eIl hIUTcHl &r%?

(A) Polarity test | GIeITRE! ¥
(B) Ground test | T3S <X

(C) Continuity test | Hfcgl e
(D) Short circuit test | Qicgfhe ¢

Correct Answer : A
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12). What is the function of collar as shown in the figure? | &Tﬁ'ﬂ?ﬁ
PR BT BT 3TG?

COLLAR

(A) Provides insulation around field | WW&HW
(B) Provides insulation for coil tapping | plgd S é'ﬂan:l FRTT@[

(C) Helps tightening material for flange | [T T3 AR & EHHRUIR] TSI )
(D) Provides insulation for heat transfer from coil | HIgcaHe IWUIAT GRAUAIIS! SYR

Correct Answer: A

13). Which type of insulating material is selected for binding the coils
and over hangs? | &rri%[ 3{I@R &1 TUTATS! BV UHRA! gl

(A) Cotton sleeves | Pl T,

(B) Empire sleeves | TR fag

(C) Terylene thread | 3 aoft s
(D) Fibre glass tape | /ISR 19 <y

Correct Answer : C

14). What is the synchronous speed of an A.C 3 phase induction motor
having 6 poles at a frequency of 50 Hertz? | 50 SC'&IDHI JRARAR 6 gd
A.C 3 Trol ST Hiean Righ g 97 fobclt 3mR?

(A) 800 rpm

(B) 1000 rpm
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(D) 1440 rpm

Correct Answer : B

15). Which device is used to test stator winding short and open fault? |

e JIEFST QIS 3MFOT 31U Blee TURITITS! HIUTd SUDHRUT aTURS SITd?

(A) Tong Tester | THT xR
(B) Internal Growler | W‘Jﬁﬂ?

(C) External Growler | TREATATR
(D) Digital multimeter | f$fSice TeiHiey

Correct Answer : B

16). What is the name of the test as shown in the circuit? | gibcad

I 19 BT 3Te?
B
RO
A

(A) No load test | A NS e
(B) Open circuit test | 37 Tfdhe aruf
(C) Blocked rotor test | il Iex arauit

(D) Polarity test | %ﬁ'ﬂ?ﬂéﬁ

Correct Answer : C

17). What is the name of the contact marked as ‘X’ as shown in the

figure? | 3MTEHdld GRIGATIHIV X' TU forgiford doied HUH I A1d B
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3MT8?

8y
B ON OLRBAYYQ
1

e :ﬁ! !L\ S He |
Cj;/x 240 V NONVOLT COL

(A) Star contact | .I€R Plcac,

L]

(B) Delta contact | STl BT,
(C) Auxiliary contact | NS [RGB o)

(D) Over load relay contact | AR AlS d dlcae

Correct Answer : C

18). Which material is used as wedges in winding process? | CIRIEL
Ui du e duiy U HIUd Je R dIuRdra?

(A) Empire | TR
(B) Cotton | ®lc
(C) Bamboo | 919,
(D) Terylene|ETCI'|%F[

Correct Answer : C

19). What is the purpose of using rotor resistance starter to start 3 phase
slip ring inductiocn motor? | 3 Bol ey 7 SeaRM iR g2 HRUYMYHII]
TR IURUYT 358 BT 3He?

(A) Reduce the rotor voltage | R Bleesl HHI B
(B) Increase the rotor current | e HXC dledl

(C) Increase the starting torque | URfY® eid aredl

(D) Reduce the power loss | TlaR A1 AT Bl

------- Cotrect ANSWer £ €- - - - - - == - s s -t oo oo oo m e mmme-mmm---- -
Contact - 9370948482, 8055403224, 9325721873
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20). Which instrument is used to measure insulation resistance of a 3

phase induction motor? | 3 Tl SSaRM AR dT SYARH IR
HISTURTA! DI0Td HTY AR

(A) Meggerlﬁ"'l?
(B) Multimeter | AecIHICY

(C) Shunt type ohmmeter | Yfeesy 3figd Hicx
(D) Series type ohmmeter | RIS a2y 3iigd Hier

Correct Answer : A

21). Which formula is used to calculate the percentage in slip of an AC 3
phase induction motor? | AC 3 ol SSaRIH l%qmﬁaeaéo—cﬁ

CAURKSECIERNISIE
NS_NF
——— x100
® | P
(B) Nr Ns 100
NS
(© Ns Nr 100

N —N
(D) TS %100
Ny

Correct Answer : A

22). What is the reason for freq\ugnt blowing of fuses after the motor
running some time? | 1fllER plel doo diciedi-dxr dIRdIR sl SsUdld pIRY
HhIg ?
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(A) Improper earthing | SBITUR 3{fAT

(B) Over loading of motor | HieR 3iigrals giut
(C) Over rated fuse | 3@R T dHald RIS

(D) Good insulation in winding | fdf&Tae} TiTd SIRA

Correct Answer : B

23). What is the total electrical degrees of a 3 phase, 4 pole AC machine?

| 3 oo, 4 Ul Tt HRI THUT 391 fobell 3Mga?

(A) 180°
(B) 360°
(C) 720°

(D) 1080°

Correct Answer : C

24). Why the pre heating is necessary for the rewounded AC motors
before varnishing? | W’JTT% Ul fgfcT &1
3T 3T5?

(A) To dry out the varnish quickly in winding | IR ATHR RS HRUINO!
(B) To easy flow of varnish in the winding | ATSf$T ALTRU =] TadHx UlgIad TEUH
(C) To decrease the insulation resistance value | E’R‘jﬁ?ﬂ gfeRle HA D] HIUYMETS!

(D) To dr¥ out the moisture in the windings | windings A SETdT 9TeR PIRS

Correct Answer : D

25). What is the name of the part as shown in the figure? | Gﬂﬁﬂ
GRAGITYHTUl YR ATd DT 3HTg?
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(A) Rotor | ex

(B) Stator | W

(C) Front end cover | The U8 har
(D) Back end cover | CE7 T8 el

Correct Answer : B
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NIMI Mock Test

1). What is the name Qf the contact marked as ‘X’ as shown in the figure?
| TP dld QRITATIHTU[ "X’ U T<gllhd dhdedl HUdh[d dId DIy 3‘”%?

8y
ON QL RELAY D
Ly Ky

] 1 9, HbT

55
- flnz 3 \n ]
FUSE oF
240 V NO-VOLT COL
7
-

(A) Star contact | xR PI<ac,

(B) Delta contact | Secl hlcac,

(C) Auxiliary contact | ISR EAEE:

(D) Over load relay contact | NARATS I Blcae

Correct Answer : C

2). What is the name of 3 phase motor winding, if the coil pitch is less
than pole pitch? | ®igd U Ui fU=—UET AT G 3 ool AleR

19 D1 3M5?

(A) Full pitch winding |U;Ufﬁ€[a'f5"%7[

(B) Whole coil winding | 8l ®isd dIsfaT,

(C) Long chorded winding | @Il ®las dTsfaT
(D) Short chorded winding | e Pios GTS‘%'JT

Correct Answer : D

3). Which loss is determined by the no load test of 3 phase induction

motor? | 3 TSl SSaRIA HIe= I Al AUiigR PIvd Thu FfEd o

?

(A) Iron loss | 3T &
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(B) Copper loss | PIUR oY

(C) Friction loss | Thar @rg
(D) Windage loss | fdSisr @l

Correct Answer : A

4). How the volta%e is received in the rotor of induction motor? | S

Hlex Aeftd e A glecsl B U Bid?

(A) Direct connection from stator | L ITd HaRM HIo

(B) Due to back emf produced in stator | TR Ufid 9 5 THUH H%

(C) Direct connection to rotor from supply | e &g qied \SI\ISQ'MIJ;LO\O

(D) By the transformer action of stator and rotor | TE ST Ae=n @?‘l"ﬁﬁ'\' forigR

Correct Answer : D

5). Why the pre heating is necessary for the rewounded AC motors

before varnishing? | HIUYYE! RaT3e S T Hieqaro! Wl fBfear &
31D 3T5?

(A) To dry out the varnish quickly in winding | T TAHR HIRS HIVANIG!

(B) To easy flow of varnish in the winding | qIEfET LR (1 dadbR Uigara BUd

(C) To decrease the insulation resistance value | QT\HaQI:I IR He HHI HIUATITS]

(D) To dr¥ out the moisture in the windings | windings T 3fidTar 9Tex PIRS

Correct Answer : D

6). What happens to a 3 phase induction motor, if one phase fails during
starting? | 3 ol SSaRM Hled B Bld, SR Th Wol J= DRl
oxdl?

(A) Motor does not start | Hiex q= ﬁﬁ CIE|
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(B) Motor runs in high speed continuously | IR Fdd o= erdd

(C) Motor runs and draws less current | e TTed 3101 HHT Ua1g Hled
(D) Motor continues to run with regular speed | Hiex Mafid o= 41ad Xgd

Correct Answer : A

7). What is the name of the coil winding as shown in the figure? |
&lquld qmldculw-nw cblsm JIEfSTT A1d B 3H1g?

(A) Concentric coil winding | m Pisd arsrST,

(B) Distributed coil winding | fS¥Isgcs BHisd dlsfe,

(C) Mesh shaped coil winding | AYRHE Bisd arsiar,

(D) Diamond mesh shaped coil winding | SIUHS AUNpS EF\I%?[ G'IE'%‘T

Correct Answer : D

8). What is the purpose of using rotor resistance starter to start 3 phase
slip ring induction motor? | 3 aﬁﬂ%ﬂ?{ﬁﬂ 'squI'-I qiex q¥
TTeX qIORUTTE] dE'(-‘QI PIY

(A) Reduce the rotor voltage | R Flees] BT DR

(B) Increase the rotor current | e HIC dIed]
(C) Increase the starting torque | URTYS el aredl
(D) Reduce the power loss | UiaR @G HH HRal

Correct Answer : C
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9). Which method of speed control can give two or more fixed
synchronous speeds in the 3%?;% motor? |aT[ AU HI0Td! Ugd 3
Thol AT e glH fdhar 3ifde RR Ira1feid Tl 43 Udhd?

(A) By rotor rheostat control | e N3t we W@FT

(B) By changing applied frequency | &WW@W

(C) By changing the applied voltage | 3&IITS glecs] dac-

(D) By changing the number of stator poles | Teex Uiedl 9= daq-

Correct Answer : D

10). Which type of handle design of rotary switch is illustrated as shown
in the fi%r[e? | SMTHaH gRITGATIHTT) A< RaTd SO UhRd god
?

(A) Knob | Al

(B) Lever | faTeR,

(C) Coin slot | ®g wiic,
(D) Key operation |a’ﬁ3ﬁ®1‘€ﬂ

Correct Answer : C

11). What is the formula to calculate pitch factor? | U theeR HIGUgRITA!
DI JH dTIRAT?

Fole pitch

A PitchFactor = ——
(A) Winding pitch

Winding pitch

(B) PitchFactor =
Pole pitch
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Mumber of slots

PitchFactor =
©) Mumber of poles

Mumber of Pol
(D)  PitchFactor = bl Bt
Mumber of Slots

Correct Answer : B

12). Which instrument is used to measure insulation resistance of a 3

phase induction motor? | 3 Bol SSaI Tl a1 gﬂan:l IR
HISTUGTATAT 1T YT ATURTe?

(A) MeggerlﬁTR'
(B) Multimeterlﬂﬁjﬂa

(C) Shunt type ohmmeter | Qicc éq SﬁBTI Hiex
(D) Series type ohmmeter | RRIS <13y 3igy Hiex

Correct Answer : A

13). What is the name of the diagram used for 3phase motor winding as

shown in the figure? | TP GRITATIHATY 3
1 B 3Te?

POLE 1 POLE 2 POLEA POLE 4

wris YOt 1 w| |l
wowan foof fuout froa} fa o
oruon o= ut fu-mf fu=st faoof

(A) Ring diagram | 31 ST™oTH

(B) Development diagram | S®AUHE SIIUTH

(C) Coil connection diagram | Bigd B SAUY

(D) End connection diagram | U8 DR SIUH
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Correct Answer : A

14). What is the reason for frequent blowing of fuses after the motor
running some time? | AeR $I_E?[ dod dIefedTdR dIRdIR WYy ISU HRUT
Egp ?

(A) Improper earthing | SR 37

(B) Over loading of motor | HleR 3NgIdrs st

(C) Over rated fuse | Gﬁ%T ¥ Had U]

(D) Good insulation in winding |ﬁ'%"lﬂﬁef Sl s*ﬁale-l

Correct Answer : B

15). Which type of testing of winding is illustrated as shown in.the

figure? | STHATHY GRITIHTIHIU gV ATIUN BTl UbRl 3HTe?

- S

TULHE e AR

(A) Polarity test | QraTiel o
(B) Resistance test | IR T
(C) Short circuit test | ¢ Ffdhe cxe

(D) Voltage drop test | @I(%\rl §TL4 o

Correct Answer : B

16). Determine the torque in newton metres produced by a 7.5 HP

squirrel cage motor rotating at 1440 rpm? | 1440 rpm R UM 7.5 HP
el ol AiexA AT Barar e diexaddid ald DHRA?

(A) 21.63 Nm

(B) 24.4Nm
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(C) 33.05Nm

(D) 36.6 Nm

Correct Answer : D

17). What is the fuse rate to run a 10 HP in three phase induction motor

at full load? | 19 Tol S8R HieHL Ul A8aR 10 HP AAAUANITST TSl
R fabdt 311g?

(A) 10A
(B) 15A
(C) 25A

(D) 30A

Correct Answer : C

18). Which method of speed control is only applica\ble for 3\phase .
slipring induction motor? | HIVT WIS Held Ugd dhdo 3 el
SSaRA HICHI! A1 3HTg?

(A) Cascade operation method | ST e Ugd

(B) Rotor rheostat speed control | e faiee wits m

(C) Changing the applied frequency method | 3&ITS fTrer-ait ool AYS

(D) Changing the number of stator poles method | TR UId UGl ST dgaur

Correct Answer : B

19). What are the two functional circuits incorporated with a three phase

motor starter? | Ti- ol IR WICYE G HhaRMd Hlhed B
?

(A) Open circuit and short circuit | 3y Tfde anfor widafde

(B) Closed circuit and open circuit | FArot Tfdhe 3for GﬁTFHT%,
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(C) Short circuit and closed circuit | T0ic Gidhe 3o g W,

(D) Control circuit and power circuit | Ferd Tfthe ATOT UTaR Tfbe

Correct Answer : D

20). What is the electrical degree of 6 pole stator of motor? | e 6
Ui Wed! gafacdd fedl fad! 3img?

(A) 360°
(B) 720°
(C) 1080°

(D) 1440°

Correct Answer : C

21). What'is the speed control method of 3 phase induction motor? | 3

Bol SeaR HIcR il WIS deld ol DI Ugd B 3HTg?

1 FHARE
PP

MOTOR A 0 WEITOR & :E
L

(A) Cascade operation method | HEhS TR Ugd
(B) Rotor rheostat control method | e A3fee Wjﬁ J&d

(C) Changing applied voltage method | &g S Rlecs Ugd
(D) Injecting emf in rotor circuit method | 3cx AfhcHA § TH TH Solae Ugd

Correct Answer : A

22). Which type of test is conducted using internal growler in AC motor

winding? | AC Hicx aTef&T A&l Se-dl UIeR dTq=- PHIUT YhRd! dTIoft
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BRNISIGEH

(A) Ground test | TT$H8 &
(B) Polarity test | qraTiRel e

[N

(C) Continuity test | d?lfr\C-j\$CI c

(D) Short circuit test | TidAfdbe

Correct Answer : D

23). What is the purpose of using thermal relay in addition to fuse in A.C
motcgn%ircuit? | A.C Hicx AichcH e TS AfdNad YHd el GroRuar 3e1
P 3e?

(A) Protect from heavy earth fault | 7S Gdt IS UNIH TREUT

(B) Protect against high voltage |, STI¥d glecol PIRSG TREUT HR0I
(C) Protects against continuous over loading ‘| ddd & o ?ﬁ%‘TCI'IﬂH Y& B
(D) Protect against dead short circuit | 8 RlcH e TRIT TRETT HROIRITA!

Correct Answer : C

24). Calculate the percentage slip in a 3 phase induction motor having 6
poles with a frequency of 50 Hertz running with the actual speed of 960
rpm? | 960 rpm T ARG Tl 50 egredl IRARAHT 6 Ul SHciedT 3

-

thol SSaRI HICHEd cadbaR] gl UM HRT?

(A) 0.02
(B) 0.03
(©) 0.04

(D) 0.05

Correct Answer : C
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25). Which formula is used to\calculat\e the to:cgl\electrical degree in
stator of an A.C motor? | AC HICR Il I {elldghd] Sl Im%ﬂ

DHRUIRTS! BTG Y TR

(A) Total electrical degree = 180° / No. of slots
(B) Total electrical degree = 180° x No. of slots
(C) Total electrical degree = 180° / No. of poles

(D) Total electrical degree = 180° x No. of poles

Correct Answer : D
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NIMI Mock Test

1). What is the reason if a single phase capacitor type motor runs at slow

speed? | A he] HURTER TR Hiex TY (¥l ) TS F =1erd ey
T HRUT DI 3Tg?

(A) High voltage | I Gleedl

(B) Weak capacitor | HHOIR HURIEI

(C) Loose terminal connection | C) (<) GBI
(D) Open in starting winding | wIiéT aRfEmme Iual

Correct Answer : B

2). What is the effect if the centrifugal switch is permanantly connected

even after the motor starts? | ﬁlaﬁ?mﬁaﬁWf@ﬂ
DHOHEET] SISy B1d URUMH BIdr?

(A) Motorwill run normally | Hiex ArHd Wied fthed

(B) Motor will stop immediately | HIcR UdheHd &g ysd

(C) Starting winding will burn out | '\‘E’I’E‘THE%"TWW
(D) Runing winding will burn out | Tﬁﬂﬁ]’&ﬁﬂﬂ@ﬁlﬂﬁ

Correct Answer : C

3). What is the electrical degree between main winding and auxiliary
winding in a split phase induction motor? | fdTe B searE HieHdd
ﬁ:ra'ra’%ﬂ&rr% TfRIfRI3RY arEfe gradia Safaeda fod fadt 3img?

(A) 90°
(B) 120°
(C) 45°

(D) 180°

_______ COrreCt ANSW T = A o o o e e e e e e
Contact - 9370948482, 8055403224, 9325721873
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4). What is the name of single phase motor as shown below? | Qi

919 BT 3ATR?
L
|
gl
N
(A) Permanent capacitor motor | U39 HUMISS HICT

(B) Induction start capacitor run motor | TSIRM WIE HURIeR AR
(C) Capacitor start capacitor run motor | FURICT W HURICT I HAICR

(D) Capacitor start induction run motor | HURICR WIS SR ¥ HICR

Correct Answer : A

5). Which type of single phase motor is illustrated as shown in the
diagram? | %ﬁa&ﬂpﬁw YR RiTd ol Hiex aRifden

3Tg?

W : : ""'H .
]
B

g 4 R P [
i (v} 2 vl
E A

g . 7
i .

(A) Universal motor | gﬁoe;{-fm Hiex

(B) Permanent capacitor motor | Rt HURYeY Aie?

MO CN

(C) Capacitor start induction run motor | URICR T SR e

(D) Capacitor start capacitor run motor | PURIeR W Hufyex I e

Correct Answer : D
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6). What is the name of fault if a stator winding comes into contact with
a stator core? | TR ATSfET WeR HRAT UhId HT Bieed B

EUTTd?

(A) Short circuit fault | q1¢ Tfhe Wice

(B) Open circuit fault | 31U Tfdhe Wiee

(C) Ground fault | UISS Biee

(D) Leakage current fault | T dl gdq™ Iy

Correct Answer : C

7). What is the name of the AC single phase motor as shown in the
diagram? | 3fT&cid GRIGATIHTO AC FRTd B Aled A1d BId 3H1g?

(A) Resistance start induction run motor RI?A%C*H T SRR | HreX

o\

(B) Permanent capacitor motor | qri-ic $hUfex Hiex

(C) Shaded pole motor | Tss I AR
(D) Universal motor | ’ﬂ'ﬁ%’x‘f’ﬂ“ﬂﬁ

Correct Answer : D

8). Why the hysteresis motor is suitable for sound recording

instruments? | AT 8 YD IToTT RICIH BT fgxes] R Hie= aTuR &1 ol

?

(A) Small in size | 3THRM A&
(B) High efficiency | 3 HIU&HA
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(C) Noiseless operation | ATgfoeT SRR

(D) Less error operation | HH TR ATRIA

Correct Answer : C

9). What is the effect, if some slots of a split phase motor are left out
without winding after completion of concentric winding? | ThTU g3 l]

FAHMR e Bl Hied Bigl Wile arsfeT = ol CAp]
ék"il?
(A) Works normally | IR At
(B) Reduction inspeed | s HH gid
(C) Reduction in torque | clehAe Ue
(D) Runs withvery high speed | cIRNRECHIERII G

Correct Answer : A

10). What is the effect in a repulsion motor, if the brush position shifted
to the opposite side? | SR SR Rl {dg STo[ gaddil o) RUeRMH
HICIHE BRI GRUMH BIdr?

(A) Direction of rotation will change | AR fo=m Tead

(B) Direction of rotation remains same | Wﬁ’mﬂﬁﬂﬂﬂ%ﬁ

(C) Motor speed increases from rated speed | AR Tt X dholedT dIUE aled

(D) Motor speed will reduce from rated speed | Hie=t I ¥E el A HH Eﬁ'&fﬂ

Correct Answer : A
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11). How the direction of rotation of a permanent capacitor motor is to

be changed? | gH-e HURTex Al fhruar o= SRt dear?

(A) By interchanging the supply terminal | T TfHd SGaeed H&

(B) By interchanging the auxiliary winding terminal | AT ® qrIfET efHfFa sreaaea
P

(C) By interchanging the capacitor terminal | $HURIER AT SIgaaed Hed
(D) By changing the rotor position | N[LE] @R‘ﬁw

Correct Answer : B

12). What is the name of the speed control method of AC single phase
motor as shown in the diagram? | 3MTgHed gRIfdeToHTO T ATt thol

A=Al A MU0 UGl A9 &1 3M18?
. SERESFAELD A Ay

m VYN

al /\;Tm il

(A) Centrifugal switch method | ST o Ud

(B) Voltage control method | @lecsl dheld UgGd
(C) Tapped field method | €U Wits UGd
(D) Field diverter method | Bics SR UGd

Correct Answer : C

13). What is the name of the part marked as ‘'x’ of hysteresis motor as

shown in the figure? | THAHS TRITIATIHTT! R R Hlex= 'x' U

Contact - 9370948482, 8055403224, 9325721873
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gl d Bl YR A1d BT HTe?

R B o - T R B W

(A) Stator winding | %X dcaUl
(B) Hard steel rotor | 8T8 Wi U
(C) Laminated iron stator | <ffFce olg Tex

(D) Shading coil | ATST Hisa

Correct Answer : D

14). What is the name of the winding as shown in the figure? | &mﬁ
JBUIT ATd BT 3187

183488 78101112 121416181718 102031322354

— e _I_: ;_r_______“____T: ;_r_______“___.l_ll ;_r___'___'____l_: ;_r =
== J_I |l"__.:1___.___:l.l |_L'__.__|'___.___:I.I |l"____'f_____':l.l |_L f e — |
N, L5 al, E5) !
| i~ PR e

[ TR e [

| |

| I

i ! )

o H M. S

(A) Mesh shaped coil winding | ST T BRI Blgd e80T (ATefaT)
(B) Diamond mesh shaped coil winding | SHE AR HRI Higd drfSTT

(C) Concentric coil winding | miﬁ'ﬁ'ﬁf qasU]
(D) Basket winding | JRbe arifST

Correct Answer : C

15). Which type of single phase motor is used for hard disk drives? | HE]

Contact - 9370948482, 8055403224, 9325721873
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[SIh SISBUTS] HIUAT YRl RiTTel BrorHICR dTuRdl STd?

(A) Stepper motor | TWUR HleX

(B) Repulsion motor | Wﬁa,
(C) Hysteresis motor | %@?ﬂﬂ e
(D) Reluctance motor | R@de Al

Correct Answer : A

16). What is the input current of a 2hp single phase motor, 240V at 70
percentage efflcm;r?l%rand 0.8 power factor? | 2hp R fh_\?f qicx, 70 TP
DHIAEHIAR 240V 0.8 TIaR thaexdl 3YC HIC el 3ATa?

(A) 6.95 Amp
(B) 11 Amp {11 amp
(C) 13.52 Amp

(D) 17.68 Amp

Correct Answer : B

17) Which ty%e of motor is used for small table fan? | <igl- ¢qd B3]

7

(A) Universal motor | qﬁ%ﬁa Hie
(B) Shaded pole motor | NS I Hiex
(C) Repulsion motor | ROeRM die’

(D) Capacitor start capacitor run motor | HURYER T HURTER T AR

Correct Answer : B

18). What is the working principle of single phase induction motor? |
T B SeRM &1 dd B
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(A) Ohm's law | 3figq=l a9

(B) Joule’s law | St =T fATH
(C) Faraday's laws of electrolysis | 2R Eﬁaﬁﬁm =1 g
(D) Faraday’s laws of electromagnetic induction | sﬁa@ﬁ’ﬁ% SR brred faw

Correct Answer : D

19). What is the relation between the running winding and starting
wmdlng of a s”%e phase induction motor with respect to resistance? |

ﬁma Sl SR Hied T arsfat ATfor
a13%11%|1 HTT &Y 315
(A) Both resistances will be equal | G IoRE~T TRWT 3l

(B) Running winding is less, starting winding more | Tﬁl"TaTs'%‘TﬂTmR‘[ G2k
T ST SRl

(C) _Running winding is more, starting winding less | T arEfET o1 Xfoe=4. o @ X
ATSET =1 B AT SRl

I
(D) _Running winding is less, starting winding infinity | AT g e = et aniftr Xerfém
1 SR Sl

Correct Answer : B

20). What is the effect, if the coil groups connection are wrongly

connected while rewinding a single phase motor? | RiTTeT ol AR Rarge
P Higd R BRI IhIAT UGl SIS iR Jral DHId R glal?

(A) Motor runs slowly | IR HH! 9T fihrd

(B) Motor will not run | Hex fhRUMR TS
(C) Motor runs in very high speed | HIeR SId 9T fthed

fD% Motor runs and takes more current at no load | dls Sieddl A9d dil Hiex SIRd e =

Correct Answer : B
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21). Which type of motor is used for the vacuum cleaner? | 0_6#3%33[

fFa RT3 HIUTAT Uh R HieX aTuRdl Siid?

(A) Shaded pole motor | S UId AR

(B) Universal motor | gﬁ%’éﬁtﬁﬂ
(C) Repulsion motor | RUeRM qiex

(D) Capacitor start motor | HURICX I HIER

Correct Answer : B

22). How many windings are in the stator of a split phase motor? | T

ol HicXAl v fohdt fAfeT saard?

(A) One | T
(B) Two [T
(C) Three | A

(D) Four | @R

Correct Answer : B

23). How the radio interference can be suppressed in the sir;ﬁle phase
capacitor start motor? | RITTd Thol HURICR WIc HIexHAE AS3 gxaay

ST ST SIS, X dl?

(A), By connecting capacitor across centrifugal switch | @'@"R{‘W ag = fovs

(B),_By connecting capacitor in series with centrifugal switch | @Wﬂ g a1 RRisr 7

pUIcx vilg-

(C) By connecting an resistor in series with centrifugal switch | @'@W@Wﬂﬁﬁﬁ

ARR P B

(D) Bygg{qnnectin an inductor in series with centrifugal switch | @'@'@I‘W%ﬂﬂ
ESES
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24). What is the name of the AC single phase motor as shown_in the

figure? | 3TdHdd GRATATIHIN AC FETTA Thol Hied A1d ST 3Tg?

Correct Answer : A

(A) Permanent magnet stepper motor | WW@'CR e
(B) Variable reluctance stepper motor | uf¥ad-1a ifesT R Hlc

(C) Universal motor | gﬁog;{-fm Aie’

(D) Repulsion motor | ROeRM AR

Correct Answer : B

25%. What is the advantages of stepper motor? | LR Hled Bl Hr
?

(A) Can run at very low speed | ffa=ra &4 3= mmﬁ
(B) Resonance occurs |§@W%ﬁ?ﬁ

(C) Rotor has no teeth | el eI T9did
(D) Can run at very high speed | SR AT ?JTQ;W

Correct Answer : A
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NIMI Mock Test

1). Which is acts as a both inverter and converter? | PHIUTAT S-agex 3TTT
GGl TUH HTH HRdl?

(A) Metal rectifier | Aed JachrR
(B) Mercury arc rectifier | Il?izlﬁ 3T AfFeHR

(C) Semi conductor diode | I Sde SIS

(D) Synchronous converter | RiPI~T $=de

Correct Answer : D

2). What is the purpose of damper winding in an alternator? | e
A SR ASSTT b1 STl SITdld?

(A) Reduces the copper loss | PR AT HHI HUITS!

(B) Reduces windage losses | fdSIoT <l BHl HRUITST

(C) Reduces the hunting effect | gfew gﬁm: HUI HRUGTATS!
(D) Improves the voltage regulation | ﬁ@ﬁw CUELIRSIE]

Correct Answer : C

3). What is the voltage regulation in percentage if the load is removed
from an alternator, the voltage rises from 480V to 660V. | 3R RId

~\

IS BIg CTH AN Gl 480V I 660V IR Ale I cIhaRae
Eﬁ?ﬂéﬁmﬂm 3MMg?

(A) 0.272
(B) 0.325
(€) 0.375

(D) 0.385


javascript:void(0)
javascript:void(0)

Page 98

Correct Answer : C

4). Which formula is used to calculate EMF/phase in a ideal alternator? |

3{eeRAcR Il EMF / TS HTfgd DHRUMTST hIUTd Y dTaRdla?

(A) E ﬂ
2.2

FT

® E-= ! 4
444

(C) E=222,FT

(D) E=4.44 ,FT

Correct Answer : D

5). what:is the pitch factor (KP) for a winding having 36 stator slots 4
pole with angle (a) is 30° in an alternator? | miﬁ 30° B (o) T8
36 TR WIC 4 UId SN aISSTH131 {Ue e (KP) D1 3MTg?

(A) 0.942
(B) 0.965
(€) 0.978
(D) 0.985

Correct Answer : B

6). Which converter is having the high efficiency? | DIV Hacx ot
BIIEHAT SR 3?

(A) SCR converter | SCR Haa
(B) Rotary converter | et ey

------- (C)-Motolcgenerator-set-|-@@-@€-------------------------------------------------
Cont act - 9370948482, 8055403224, 9325721873


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 99
(D) Mercury arc rectifier | HRIRT 3fch AFTHRR

Correct Answer : A

7). How the synchronous motor is used as a synchronous condenser? |
U Rish =Y Al dTuR &1 bl SIdl?

(A) By increasing the motor load | HleR dRid dre dleq-

(B) By increasing the field excitation | e} d LTRSS %A dleqd-

(C) By increasing the stator input voltage | TX d Blecol diedd

(D) By decreasing the field excitation | LR AP dleq-

Correct Answer : B

8). Which'is the main application of synchronous motor? | Rep 14 Hicxa
IR dT0R HIUICT 31757

(A) Elevators | Eﬁ'la o

(B) Electric traction | TR feiTT A=A

(C) AC to DC converter | epai] d SRft pacx

(D) Power factor correction device | UTaY hae HIaR= %H'IEW

Correct Answer : D

9). Which material is used for the damper winding? | SR AEfeT el
%MWW?

(A) Silicon steel bar | &% Ugl

(B) Cast iron bar | &r"?g&rﬁmar\f
(C) Stainless steel bar | fUdest IR
(D) Copper bar | disdT! Ugt

Correct Answer : D
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Report

10). What is the formula to calculate the emf equation of an alternator? |

3feee} o TH U HIfgd Hruame! fadied Udh! SIurn AT I Hrara?

(A) E=4.44KdKcT¢m
(B) E=2.22 Kd Kc Fém
(C) E=4.44Kd Kc FT ¢m

(D) E =111Kd Kc F ¢m

Correct Answer : C

11). When.the two lamps become bright and one lamp become dark
during paralleling of two alternators? | &, T THIAR SRICTAT &I
fad YepTRIAM BIdTd 311701 Ueh fadl TS ¢ il dear?

(A) Terminal voltages are equal | i gleesl YR I8

(B) Voltages and frequencies are equal| Eﬁéﬁ g fher =t Il TIG'?[
(C) Voltages and phase sequence are equal | gleeol g Uhol RYeh~ TRl T8l
(D) Both the alternators supplies same frequency | el 3fcex-cx dl e UR] fTheh=!

Correct Answer : B
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12). What is the name of instrumen\t used to measure the insulation
resistance of an alternatgr? | SRR S IR YRR Areugr™Tat
gy el SV G UnRUlId —lg oplY 31’[%?

(A) Multimeter | HecHeY

(B) Shunt type ohmmeter | ]ic UHR 3figH Hiex
(C) Series type ohmmeter | RIS THR gy Hiex
(D) Megger | TR

Correct Answer : D

13). What is the function of damper windings in synchronous motor at

starting? | RIhIT Al A SAR difell d HI S 38 ?

(A) Maintain the power factor | TiaR hde? HITH ¢gur

(B) Excite the field winding | ftree a3 TaRmEe 01
(C) Maintain the constant speed | 7T HTIH &dul

(D) Start the synchronous motor | e q= g |

Correct Answer : D

14). Which causes to reduce the terminal voltage of an alternator, if the

load increases? | 3/cTI-eX AR AIS AT I AT CIHAA gleeo] HH!
DHRU DHIUTC?

(A) Field resistance | flhegdr Yo

(B) Field current | HTﬁ%le\"QEIQF[

(C) Field reactance | gefacd Rercae

(D) Armature resistance | 3nfif=rR Y=

Correct Answer : D
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15). What is the name of the converter as shown in the circuit? | gibead
QIRAd U HIUl eprg T HId oY \3‘IT%?

)
1 PHASE - - T
AC
VARIABLE
DC
VOLTAGE
LINE
POWER - oz - l
)

(A) Metal rectifier | Hed IFeHrRR

(B) Rotary converter | R Hack

(C) Mercury arc rectifier | Hed 3 AFCHRR

(D) Silicon controlled rectifier | RIftT®IT wera FeHaR

Correct Answer : D

16). What is the advantage of motor generator set? | Hlex SFRex qedl
BT B 3MT6?

(A) Noiseless | FIRd
(B) High efficiency | 81T Tt Rl

(C) Low maintenance required | HHIGEHTA
(D) _DC output voltage can be easily controlled | St STHcYc gleedl m PO A

Correct Answer : D

y the synchronous motor fails to run at synchronous speed? |

17). Wh
R drex 14 T BT YT ]ehd ATe1?_x000D_

(A) Insufficient excitation | Q3= fagga S<e
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(B) Defective pony motor | G¥YUI G-t HIcR

(C) Open in damper winding | SIR ARIET T IYS]
(D) Short in damper winding | WWG’I’{%’W@ gl

Correct Answer : A

18). What is the name of the equipment that provides D.C to the rotor of

alternator? | 3{ccxcR 91 jex ol SIT URAUMY] SUBRUIT -A1d B 352

(A) Exciter | TdAIgCY
(B) Inverter | $8¢
(C) Converter | FHdc

(D) Synchroniser | RIS

Correct Answer : A

19). What is an application of the synchronous motor? | fRchI=& Hle=T

TRIH R WBUIS HII?

(A) In conveyers | HRAqAL
(B) In cranes | B 7

(C) In elevators | foens
(D) As the power factor corrector | UiaR haeY Haex U

Correct Answer : D
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20). How alternators are rated? | 3R HY XC Bl STdTa?

(A) KVA
(B) KW
(&) Mw

(D) KV

Correct Answer : A

21). How synchronous motor works as a  power factor corrector? |
Hicx Hlax Whaex JURD WU B HIY Hd?_x000D”

(A) Varying the line voltage | A3 ®lecdl Sad 36
(B) By increasing the field excitation | Wi URIg s GG dleq-
(C) By increasing the speed of motor | maﬁaﬁ

(D) By decreasing the speed of motor | HieR o Wig ®Hl Her

Correct Answer : B

22). What is the name of the converter as shown in'the figure? | &Wcﬂﬁ
FHgeT A1d B 3Mg?

A PHARE
BUPPLY

111

4, Jay
Co IR ng:
i i _D._igﬁm*
1 ARMATURE 1 |
aLIP-RMNGA .\__i EJ:_LELQL_
B8 [[TITTIITTTTITITIIIITTT] B
N 7

(A) Metal rectifier | Aed JachrR
(B) Rotary converter | et Fad
(C) Mercury arc rectifier | Ted 3T IGTHRR
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(D) Motor-Generator set | Alex S veX I¢

Correct Answer : B

supply is necessary for synchronous motor operation? |

23). Why D.C
Rish =g AR St qRAST BT SIS 3HT5?

(A) Reduce the losses | AT HH! HRUIS]

(B) Start the motor initially | gﬁmmwmﬁ

(C) Run the motor with over load | 3EIATS IR AleR [hugRTa!

(D) Run the motor at synchronous speed | Riwi wits v diex fryvararst

Correct Answer : D

24). Which application requires only DC? | PIUTAT VI RAT] Wekd DC
TP 3Te?

(A) Electroplating | Eﬁﬂﬂ'@ﬁ'ﬂ

(B) Stepping up of voltage | dlec sl ATGAUGNTA]

(C) Operating induction motor | 3SR e WWN’I?)’QT
(D) Operating repulsion motor | e AR ﬁFWUCFRTFo'D[

Correct Answer : A

25). What is the function of inverter? | W‘& J B B G'H%’?

(A) Convert A.C to D.C | A.C d D.C A FUIcR &I

(B) Convert D.C to A.C | D.C d A.C H&l FUiaR T

(C) Smoothening A.C sine wave | A.C BIERCE F{\%ﬁﬂ

(D) Convert pulsating DC into pure D.C | WW%W@WW

Correct Answer : B
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NIMI Mock Test

1). Which is represented by the 'V’ curve of the synchronous motor? |

RispIg Ale=a1 'V’ 9h R HIUMd SRifad STd?

(A) Relation between the field current and power factor | I B AT UlaR thaeR Tae

(B) Relation between the applied voltage and load current | AR &lecs 30T Tl€ e JdY
(C) Relation between the load current and power factor | dI8 ®ee AT UiaR Thaer ey

(D) Relation between the armature current and field current | SR Fie 3T wics
HIC Y

Correct Answer : D

2). Which condition is to be satisfied before parallel operation of an
alternators? | G 3fec—cX wwﬁsﬂumﬁ{ﬁw 3¢ UTei= HRIa?

(A) Rating must be same R‘%T IR 3Td!

(B) Phase sequence must be same | Bl e gRan sr9rar

(C) Rotor impedance must be same | WQWW U] AP 3T
(D) Stator impedance must be same | KR UfASTT UM 3RTU SRS 318

Correct Answer : B

3). What is the name of instrument\used to measure the insulation
resistance of an alternator? | 3fccX-cd SR
JTORT SO SUHRUM H1d BT 3M8?

(A) Multimeter | HecIHIeR

(B) Shunt type ohmmeter | /¢ YR 3{igq Hiex
(C) Series type ohmmeter | RIS PR g Hiex
(D) Megger | AR
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Correct Answer : D

4). When the two lamps become bright and one lamp become dark
during paralleling of two alternators? | G- Gaigi JHIR SRIIHT gH
& THTRMM graTd 10T Ue faar T8¢ gl degr?

(A) Terminal voltages are equal | fHAd glees IR 8

(B) Voltages and frequencies are equal | gieew d b4l IRE! IEd

(C) Voltages and phase sequence are equal | gleao g Uhol RTeh~4 SIRGT T8l
g&@?%%\ghe alternators supplies same frequency | alal Seed-ex o SRt fthar-a

Correct Answer : B

5). What is the name of the converter as shown in the figure? | \’AW
FHregexd 19 B 3g?

a-RPHARE
BUPPLY

11

R mg:
i i _TEFG"*
1 ARAATLIRE I ]
ALIP-FRMNGE .\__i J_LELQL_
B [T TTTTTITTITTITTITIIT7] B
L0 7

(A) Metal rectifier | Hcd JGCHRIR

(B) Rotary converter | et H=adx

(C) Mercury arc rectifier | Hed 3T (GBI
(D) Motor-Generator set | Hiex SFeR ¢

Correct Answer : B

6). What is the purpose of damper winding in an alternator? | e

Contact - 9370948482, 8055403224, 9325721873
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A SWR AT &1 S9ac] STdTd?

(A) Reduces the copper loss | HIIR AT HH! HROMTS]

(B) Reduces windage losses | fdsie arg HH! HRogMe!

(C) Reduces the hunting effect | gfeT shae Ut HrugTS!
(D) Improves the voltage regulation | Eﬁéﬂwm

Correct Answer : C

7). What is the name of curve of the synchronous motor as shown in the
figure? | 3Pdlid GRAGATIHIU JHBICIeh Il aghld 11d H1Y 3Tg?

FIELD GUFAFENT
{weoultaion)

(A) V' curve |V &%

(B) Inverse 'V’ curve | Wﬁ 'V’ ﬁ

(C) No load characteristics curve | 1 oire afrse
(D) Load characteristics curve | s afdred

Correct Answer : B

8). Which is the main application of synchronous motor? | R Al
T dTUR DIl 3Tg?

(A) Elevators | E"f%ﬁ?ﬁ
(B) Electric traction | TR AfeRT A=A

(C) AC to DC converter | T o S} ddex
(D) Power factor correction device | UTaR haeY HIaRE %313'\‘[
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9). what is the speed in r.p.m of the 2 pole, 50Hz of an alternator? | 2

Ui r.p.m H o ol 3118, 3feex-exdl 50Hz?

Correct Answer : D

(A) 50 rpm
(B) 100 rpm
(C) 1500 rpm

(D) 3000 rpm

Correct Answer : D

10). Which method of the parallel operation of alternator is shown in the
g}ar%gram? | STHAHLY 3feeIAcI= THAR TR B0 Ugd aifach
?

R T B
[= = L @ /_mumﬁlm
- 1 = =
] —1 —
——r— £ 1 M
— ]' '] a Y
-— 1 a B
oo 2 AYRNGHRONIING FRC A IWC G
SWITCH MACHINE

(A) Moving iron type synchroscope method | H@"T 3T UHR Rihdg
(B) Western type synchroscope method | % PR Rivlesiu

(C) Dark lamp method | 3T foar Ugd

(D) Dark & Bright lamp method | STeh ST oTeall fgdT UG

Correct Answer : B
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11). Which converting device can be over loaded? | DU BHragiet
[EBTeY 3R TS Bl WS Yehd?_x000D_

(A) Rectifier unit | fFeHRR giHe

(B) Rotary converter | A Fak

(C) Motor generator set | TeR SRR e

(D) Mercury arc rectifier | a3 3T JFeHR

Correct Answer : A

12). What is the name of the converter as shown in the circuit? | qicheae
g X A1d BT 3Ta?

)
4 PHASE y = = T E® T
AC
VARIABLE
+ DG
VOLTAGE
LINE
POWER e - - l
)

(A) Metal rectifier | Aed JaehrR

(B) Rotary converter | e} Hac

(C) Mercury arc rectifier | ATd 3T (GBI

(D) Silicon controlled rectifier | Rifer® 4 Hela feewrR

Correct Answer : D

13). What is the function of damper windings in synchronous motor at
starting? | Rich M9 AR 48 SHR aATSfET o &1 H 3G ?

(A) Maintain the power factor | UiaR thdeX HIgH ¢gul

(B) Excite the field winding | fhes a2 TaRe )
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(C) Maintain the constant speed | CUEARERGEL

(D) Start the synchronous motor | AR q= Y0

Correct Answer : D

14). Which test is conducted in an alternator as shown in the diagram? |

& HIUd! Aol Ul Sild?
| ——
F_ N

(A) Continuity test of the field winding | T1eS aRIf$T av Hfe=gdt ol
(B) Continuity test of the main winding | {31 RS o TeR Eh_ﬁ?{cpf EIELI]
(C) Insulation test between the main winding and frame | T4 AfST 3101 Tl &&=

(D) Insulation test between the field winding and frame | Bics fafST 3f1fon the gve

Correct Answer : A

15). What is the advantage of motor generator set? | AR SFRex Jedl
BIIGI Y 3Te?

(A) Noiseless | aRa

(B) High efficiency | 81 TRt
(C) Low maintenance required | HHIGEUTA
(D) DC output voltage can be easily controlled | St STHcYc gleeo W 0 Y

Correct Answer : D
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16). When all the 3 lamps become dark in the dark lamp method of
parallel operation of two alternators? | Gl 3{ccX- AT HHIAR TR

TeC fecure UgdiAed 94 3 fad degl T8 (ST ) BidTa?

(A) Terminal voltages are equal | cfHd glees URM M6

(B) Voltage and frequency are equal | gleeol AT fihah=t IR WTed
(C) Voltage and power rating are equal | gleco 30T UTaR T IR e
(D) Frequency are same in both alternator | G 3feex-ex dl Ther-4! ARW! Igd

Correct Answer : B

17). What is the function of inverter? | W_& J B B &I'I%?

(A) Convert A.C to D.C | A.C d D.C A FUicR BRI

(B) Convert D.C to A.C | D.C I A.C HEH FUTdR BT

(C) Smoothening A.C sine wave | A.C Flg:fao_s'ﬂlﬁﬂ

(D) Convert pulsating DC into pure D.C | WW%@@H@WW

Correct Answer : B

18). Calculate the speed of an alternator having 2 poles at a frequency of
50 Hz. | 50HzT IRARAGR 2 UId 3Tl 3fee—eAl dIT! TUMHT B,

(A) 1500 rpm
(B) 2500 rpm
(C) 3000 rpm
(D) 6000 rpm

Correct Answer : C

19). Which formula is used to calculate EMF/phase in a ideal alternator? |
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3{ecAcR Il EMF / Bol HIfgd HRUTMNTS! SHIUId Y dTURdTd?

(A) E ﬁ
2.2

FT

® E-= L
444

(C) E=222,FT

(D) E=4.44 ,FT

Correct Answer : D

20). Which formula is used to calculate the percentage voltage
regulation in an alternator? |

P10 G dTUR Sill?

Correct Answer : B

21). What is the use of synchroscope? | Rieh R 1Tl IUANT BT 3M8?

(A) Adjust the output voltage | 313cC JC glecol USoIe HRU]

....... (B). -Adjust the phase sequence | Bol B TSOIRC MRW - - - - .o oo
Contact - 9370948482, 8055403224, 9325721873
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(C) Adjust the supply frequency | 9@ flher=l TSoie HRUl

(D) _Indicate the correct instant for paralleling | IR A HGR SArsull siEde

Correct Answer : D

22). What is the advantage of using rotating field type of an alternator? |
Hice UHR JIIRUITEN BIICl BT 315?

(A) Easy to locate the faults in the field | fireeHelia Wlee JMYTIATHTST |ITT SR

(B) Easy to connect the load with alternator | dle 3feex-e} Hldd Set I gid

(C) Easy to dissipate the heat during running | TN SWId WW@'& 3iTe

(D) Two slip rings only required irrespective of No. of phases | & &g fiar paw
CUATCUAT A 9 STaXaP 3Mod

Correct Answer : D

23). What is the formula to calculate the emf equation of an alternator? |

3fee-er o TH U HIigd Huame! facied Ul S Iurd ATl I HRAla?

(A) E=4.44Kd KcT ¢m
(B) E =2.22 Kd Kc F¢m
(C) E=4.44 Kd Kc FT ¢m

(D) E =111Kd Kc F ¢m

Correct Answer : C

24). Which application requires only DC? | PITT VRIS Wk DC
31D 3T5?

(A) Electroplating | sﬁﬂﬁ'@ﬁ'ﬂ

(B) Stepping up of voltage | dlecsl ATGAUITA]

(C) Operating induction motor | SR qie’ q= HRUYETS]
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(D) Operating repulsion motor | Rueg A’ = HRUGMTS]

Correct Answer : A

25). Why the LED's are avoided as converters in rectifier diodes? |
T Hrgex WU Udse! Pl Clesal SIdld?

(A) Heavily doped device | SIRGRUU] doped ISCIER]
(B) Very low power device | {0 &I Isf STHUT
(C) Designed for light emitting | TehTRI STSIHIIIG! (SIS dbalcl

(D) Very sensitive to temperature | TUH 3 NEEENI

Correct Answer : B

26). What.is the name of the part of alternator as shown in the figure? |
3Pl Graderedl 3fee-ey =l IR A1d B 38?

(A) Stator | WX

(B) Exciter | TRATRCR
(C) Salient pole rotor | IAfera Ui AR

ON_DNeN Y

(D) Smooth cylindrical rotor | ¥4 RIcIgPH I XX

Correct Answer : C

27). Calculate the coil span for a full pitch winding having 36 stator slots
with 4 poles. | 4 TIeTEE 36 ¥R Wil 3Rl gul digd

------- P w101 S
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(A) 1-1
(B) 1-9
(© 1-10

(D) 1-8

Correct Answer : C

28). What will happen if the field excitation of an alternater is increased?
| 3feeR"eTdl hite URITSCRM e el BT

(A) Prevents the.demagnetizing effect | S Hie shae HU gial
(B) Generates less voltage | \313@? Eﬁéﬁ IRCSE

(C) Prevents the short circuit fault | 38 YicHfthe UleaxH

(D) Increase the demagnetizing effect | 3eee] ERAIS gidl

Correct Answer : A

29). Why D.C supply is necessary for synchronous motor operation? |
I T Sl QRIST BT IS 3Tg?

(A) Reduce the losses | AT HHI HIUATETST

(B) Start the motor initially | SRR HICR Y= HRUFHIS!

(C) Run the motor with over load | iRl aR e Rt

(D) Run the motor at synchronous speed | Rispi wits ax #iex fhvvaret

Correct Answer : D

30). How synchronous motor works as a power factor corrector? |
HIeR UiaR ek YURD WU HY B HRd?_x000D_

(A) Varying the line voltage | ?Tg glecdl gead 3l
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(B) By increasing the field excitation | Bics T3S ¢ dlegd

(C) By increasing the speed of motor | HICRAIRGIE d1gqA
(D) By decreasing the speed of motor | HieR o Wig &l ded

Correct Answer : B

31). How the synchronous motor is used as a synchronous condenser? |
Ho~IR TEUH Righ 9 HIedl duR HHl ol SITdli?

(A) By increasing the motor load | HleR oRid dIg dleq-

(B) By increasing the field excitation | Te¥ o THATSS ¢4 dI&qA

(C) By increasing the stator input voltage | TR d gleeol dicd-

(D) By decreasing the field excitation | LR AT dleqd

Correct Answer : B

32). what is the pitch factor (KP) for a winding having 36 stator slots 4
pole with angle (o) is 30° in an alternator? | m‘iﬁ 30° B (o) I8
36 TR WIC 4 Uld 3RIeIed) IS ST3! {Ud e (KP) PR 3MTg?

(A) 0.942
(B) 0.965
(€) 0.978
(D) 0.985

Correct Answer : B

33). Why the synchronous motor fails to run at synchronous speed? |
Tl T YTq ehd AATe1?_x000D_

(A) Insufficient excitation | Q¥= fagga S<e
(B) Defective pony motor | GQINYUf T HicR

....... (C) -Open in damper-winding } SR TS T T BHRT. - - - - oo oo oo
Contact - 9370948482, 8055403224, 9325721873
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(D) Short in damper winding | PG A AEfSTHE &M

Correct Answer : A

34). What is the supply frequency of an alternator having 6 poles runs at

L(Fl%o rpm? | 1000 rpm R 6 TIdT 3{eIed 3feex—cRd! QR aRARAT fdbal
?

(A) 25Hz
(B) 40 Hz
(C) 50 Hz
(D) 60 Hz

Correct Answer : C

35). Which converter is having the high efficiency? | PHIUTT Hraes

BT SR 3_Td?

(A) SCR converter | SCR Hacy

(B) Rotary converter | e Facx

(C) Motor generator set | TSl 9e

(D) Mercury arc rectifier | ARSI 3t JFeHR

Correct Answer : A

36). Which rule is used to find the direction of induced emf in an

alternator? | ey Ui é@(fqv_zﬁ e YTt SHivrar e
CIERGIRSIGIE

(A) Cork screw rule | W\WW

(B) Right hand palm rule | 3T GIATHT dS AT g

(C) Fleming’s left hand rule | FITHT=T ST BTdT fAaq

....... (D} - Fleming’s right hand rule | TftiTran -Isat grar=r faom - - o oL
Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : D

37). How alternators are rated? | 3R HY XC B SATdTa?

(A) KVA
(B) KW
(© Mw

(D) KV

Correct Answer : A

38). What is the function of the part marked as ‘X' of the rotary

converter as shown in the figure? | WW e Prege Al
X' TR fegifhd dhaied] T ®IY BT 317

IFHABE

AUPPLY

Tl =
ﬁ@!lll|||||||||||||||||||IIE [ﬁ{m

O CUTMT

IR
5

(A) Converts AC into DC | AC d DC H& iR dhRd
(B) Reduces voltage drop | glecol §TVC[ S B0

(C) Collects the alternating current | 3eEIHICHT BRe TMes] B

(D) Collects the direct current | STUNTE HIC Mo3T Bl

Correct Answer : D

39). Which causes to reduce the terminal voltage of an alternator, if the

....... load increases? | 3eeIHcl I T AIS JNeddd - ciad Blee BHT- - oooaoooo
Contact - 9370948482, 8055403224, 9325721873
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B0 HRUT HIUA?

(A) Field resistance | fheedT Yore =g
(B) Field current | 3R RuaeH
(C) Field reactance | és@ca Rafracg

(D) Armature resistance | SnfR IvRe=

Correct Answer : D

40). What is the effect of armature reaction at zero leading power factor
in an alternator? | 3feeX-CRAL TR UATUY UldR thdea
gfcfohdTel T GiRuMH gidr?

(A) No effect | giomH :ﬂﬁ
(B) Cross magnetising | 1 HUCTATSHT

(C) Demagnetising |3‘iﬁﬁ?rcri§m
(D) Magnetising |ﬁ"ﬁatr%m

Correct Answer : D

41). How to compensate the de-magnetizing effect due to armature

reaction in an %n%o_;p?{! e g ﬁ&wg‘){m

(A) Reducing the speed of alternator | 3eeder df Wig HHl Hed

(B) Reducing the field excitation current | hicS UHIZS M HIC HHI B
(C) Increasing the field excitation current | Tits THISS XM Hie dleq-
(D) Increasing the speed of alternator | 3R ° Wig dleq-

Correct Answer : C

42). What is the voltage regulation in percentage if the load is removed
from an alternator, the voltage rises from 480V to 660V. | 3R RId
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Al BT CTh Ty Glecsl 480V - 660V IR dlecdly cahaR Ay
@éﬁgﬁmﬂw 3e?

(A) 0.272
(B) 0.325
(C) 0.375

(D) 0.385

Correct Answer : C

43). Which is acts as a both inverter and converter? | HI0TGT S8 Cx ST
alval U HH Hdl?

(A) Metal rectifier | Acd ACHRR
(B) Mercury arc rectifier | naéﬂ 3Teh IfFHII

(C) Semi conductor diode | I eael SIS

(D) Synchronous converter | Ripig Hacx

Correct Answer : D

44). What is the name of the equipment that provides D.C to the rotor of
alternator? | 3fec¥HcX AT [ dI YAUITT YD RUITH AId hTY 3‘”%?

(A) Exciter | TTgCR
(B) Inverter | W‘c‘?
(C) Converter | H-acx

(D) Synchroniser | IEARIEES]

Correct Answer : A

45). What is the type of an alternator as shown below? | @W FECENI]
3{eeRAR YhRAT 3feccR 3g?



javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 122

EXCITER FIELD

EXCITER
AFMATURE

(A) Brushless alternator | §IRT A 3[eeIHex

(B) Three phase alternator | oft hot 3reever

(C) Single alternator | R ol 3feec

(D) Salient pole type alternator | Jferg Ui TRy 3feexex

Correct Answer : A

46). What will be the speed of a 4 poles alternator supplies the
frequency of 50 Hz at the rated voltage? | Xc§ gleTs[dR 50 Hz Ell

JRARTI QRAUITT 4 UId 3fee-exdl aif fabdl fe?

(A) 1000 rpm
(B) 1500 rpm
(C) 3000 rpm

(D) 4500 rpm

Correct Answer : B

47). What is an application of the synchronous motor? | R Hlexn
h1g?

(A) In conveyers | Gepestanstats)
(B) In cranes | & 7l

(©) In elevators | [eraed
(D) As the power factor corrector | UiaR ey HIae B[
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Correct Answer : D

4% What is the cause for hunting effect in an alternators? | 3R
1T IUaTe 4 HRUI B 3T5?

(A) Due to over load | MNEdrs

(B) Running without load | X faarae die

(C) Running with fluctuation of speed | T 0¥ GgFTRM 31 Wi

(D) Due to continuous fluctuation in load | m&q T uAA 1 drs

Correct Answer : D

49). Which material is used for the damper winding? | SR AIEfST 9t
DI R ITORT! STTd?

(A) Silicon steel bar | 1&g Ug!

(B) Cast iron bar | 37 egifag IR
(C) Stainless steel bar | fUdat IR
(D) Copper bar | GIEIE]] q?r

Correct Answer : D

50). What is the purpose of the damper winding in a s nchronous motor
at starting? | 99 7 SR arEfeT %ﬁ\‘rﬁtﬂﬁém%ﬁ

(A) Produces a high voltage to oppose the stator flux | JICTM = DU 3 Flees
TIR PR

(B) Produces a high current to oppose the stator flux | Hiex fopiao = HRUGNTS] 3=
Udlg

C) _Produces a torque and runs near the synchronous speed | el TUR B AT
SIqad

D) Produce a high magnetic-field to maintain a constant speed | ¥dd Tl ST
%T:W?IWB‘? 3 GaD g & TR BRI
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NIMI Mock Test

1). Which amplifier produce a given gain with the minimum of

distortion? | PIUA SIAENHTR HHI HH! [dghdTg feerem Brrar fAafor
FRAT?

(A) Small signal amplifier | TTd RUd - TEAHRR
(B) Common base amplifier | HIH7 S 3 RahRIR

(C) R - C coupled amplifier | 3R - ¥l STSd 3 RABRR

(D) Voltage amplifier | g ool 3 fRawrR

Correct Answer : D

2%. Which quantity can be measured by CRO? | CRO SR PHIULd] sifed
?

(A) Frequency | fiper=il

(B) Inductance | S Sac

(C) Resistance |-T%1ETH

(D) Power factor | Ui BdeX

Correct Answer : A

3). Which is a active component? | PHIUIT Ucdh Ufdeeg DhUc 3HTg?

(A) Inductor | TSI
(B) Resistor |-T|%1ET
(C) Capacitor | HURTER

(D) Transistor | g’lﬁﬂ%’?

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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4). What is the reason for more barrier voltage in silicon diode than

germanium diode? | RifeIpi- SAeHY SHMaH SAISUST SR SRR

glecold HRUI BT 3ATe?

(A) Lower atomic number | ﬁaﬁﬁﬁ X HHI 3o
(B) Resistance is very low R’%IETH Sffa=r &+ gy
(C) Doping percentage is more | STI¥d UHTUMA ST 30y

(D) Valance electrons are two only | 8= saek;Td Pk Giel ST

Correct Answer : A

5). What is-the main function of Uni Junction Transistor (UJT)? | gﬁr
SIaRM gliveiiex (@oich) d T S »1Y 3iTe?

A

(A) Relaxation oscillator | frera=r eiferer

(B) Broadcast transmitter | SIS PR ;Ir{-ll-lnlc{

(C) Loud speaker amplifier | AT$HS Th SMEIBTIR

(D) Microphone input device | HISh It <1YcC SEHER

Correct Answer : A

6). Which electronic circuit produces signal waves or pulses without an
input? | IV SADCI b wwmﬁﬁ%mw

?

(A) Detector | f§c¢dex

(B) Amplifier|5fyf@lw
(C) Oscillator | 3TRIGER
(D) Modulator|ﬁ|%§@??

Correct Answer : C
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7). What is the name of the symbol as shown in the figure? | &mﬁ
QIR IUHIUl [d5ld —ld oy HT%?

— >

(A) NOR gate

(B) OR gate
(C) AND gate

(D) NOT gate

Correct Answer : D

8). Which diode is used to requlate the voltage in the power supply unit?

%ﬁwqﬁm‘%ﬁa oH HRUGIST DIvTdl SIS argel
?

(A) Crystal diode | fhcd SIS
(B) Zener diode | W¥IX TS
(C) Tunnel diode | <d SIS

(D) Light emitting diode | @sC THITCT SATS

Correct Answer : B

9). Which resistor determines the voltage ?%ain in a common emitter
amplifier as shown in the circuit? |
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1A THR MBABRRALT ®lees A1 33ddI?

R
K ‘
W] jl "
v s
|| s ==
1 [ =
&
o
5 Re 3
< > =Gy
1) & )
(A) R4
(B) Rz
(O RL
(D) Re

Correct Answer : C

10). How does the depletion region behave? | ST YT HaT SN

(A) As resistor R%IWFIRET

(B) As insulator | $IcIeX IRGEI
(C) As conductor | hSF R

(D) As inductor | IR& TUH

Correct Answer : B

11). What defect will occur in the radio, if the pulsations are not removed
from the input of the rectifie%mwwmﬁﬁwm
L TR RSN A DI G B2 -

Contact - 9370948482, 8055403224, 9325721873
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(A) Improper tuning | &R:ﬁ"T[Eqﬁ"T
(B) No response | UfcITe fiesd ATg!
(©) Humming sound | E'ﬁ-l?TilT 3(TaTet Al

(D) Works with high volume | 3= ®IcgHdg B B

Correct Answer : C

12). What is the name of the symbol as shown in the figure? | &mﬁ
19 DY 3{T8?
.i.o—

B ¥=AR

(A) Two input OR gate | G 3TGC 3R e
(B) Two input AND gate | G- 3¢ AND 7ic
(C) Two input NOR gate | &9 $79¢ NOR 7Ic
(D) Two input NAND gate | GIFT $99¢ NAND e

Correct Answer : D

13). What is the name of the regulator circuit as shown in the figure? |

3AMPHdld GRATATIHTON IRTIe 1d BT 3MTR?

T&12

-+
RED
Jid LED
i
_| zror + | 10uF
i J—
- 2
T R|
L— w» " * 2

(A) Adjustable regulator | ST ?{'gad

(B) Fixed output voltage regulator | ftherg 3{T3cYc glecol \Q*gad
(C) Variable output voltage regulator | e 3[3cYc Eﬂ@ﬁw
(D) Basic positive regulator | @ uifvrdla iﬂgaa
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Correct Answer : C

14). Which type of biasing is required to a NPN transistor for .
amplification? | @"rh?vmﬂm% NPN CTIfRex ol ST Ueb Rl SRR
hdld

(A) Base ground, emitter and collector positive | ST U3 S 9 FHICR 30 Holaex UiRicia
(B) Base negative, emitter positive and collector negative | oY fifee iR Uiiciag SAIfoT
HaiaeR e Sig

C). Base positive, emitter negative and collector positive | 9 uTherdie giter
fﬁﬁﬁ@arrﬁr Pades UiNicle siig

(D) Base positive, emitter negative and collector negative | 9 UIIcies SHICR Mifeegaiion
B ﬁ#ﬁc—zx ot

Correct Answer : C

15). What is the name of the symbol as shown in the figure? | &I'qu_cﬂ?[

1d BT 31e?
KO—H—GA

(A) Photo conductive diode | Hlcl H e SIS
(B) Light emitting diode | dsc THIfeT Srvs

(C) Zener diode | SR SIS

(D) Diode | SIS

Correct Answer : C

16). How many characters are in hexadecimal number system? |

A fd TR R 79 fhd) Haex 3rqdia?

Contact - 9370948482, 8055403224, 9325721873
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Q) 12

(D) 16

Correct Answer : D

17). Which filter circuit is capable of removing voltage spikes in the

rectifier cwcu;ﬁ%ﬁm AN HWWWW

(A) LC filter | LC fiheex
(B) RC filter | RC flheex
(C) Capacitor input filter | PHURIC g1Yc flheer

(D) Series inductor filter | WIS gadey flheey

Correct Answer : A

18). What is the full form of PCB? | PCB d JUI A1d %14 3{Tg?

(A) Prevent Circuit Breaker
(B) Printed Circuit Board
(C) Power Circuit Breaker

(D) Panel Control Board

Correct Answer : B

19). Why most of the semi conductor devices are made by silicon
compared to germanlum7 | STH (g (;J,QHCI ®I§d0b 31’?40IIE§Ob SUHI]
CIRSECRIRSISISK

(A) High barrier voltage | 9TRd 3R3R Fleeo ™
(B) High resistance range | SR e 39 3™

(C) High thermal conductivity | ST yid Hefdefad e

....... (D) - High current carrying-capacity | ST e SR URI SR - - - oo oo
Contact - 9370948482, 8055403224, 9325721873
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20). What is the main application of a Field Effect Transistor (FET)? | fihee
Zhac CI+eRex (FET) d T S &1 3{Te?

Correct Answer : A

(A) Voltage control device | Fleedl Heid fS@TRd
(B) Current control device | H3C _ch?jﬁ%%'@
(C) Positive feedback device | tﬂ?ﬁ'cﬁ?s' Blesd I%OGISCH

(D) Low input impedance device | Sl g1Yc i fe®ey

Correct Answer : A

21). Which is the main application of SCR? | SCR ﬂTH’@Jﬁ'@Iﬂv_ﬂqa’ﬁUﬁT
?

(A) Amplifier | SIRTHREIR

(B) Oscillators | 3ceR

(C) Multi vibrators | Hee! @—-s*rqaz'\f

(D) Speed control of motors | Hiexd v faeor

Correct Answer : D
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22). Which circuit is essential to maintain oscillations or waves in an

oscillator circuit? | 3{TRIcex Aidhe AL ARG fdhar /d RRR Sauarme!
DIvT ST DT 3d?

(A) Rectifier with filter | AFCHRR fheex Aldhe T
(B) Voltage multiplier | glee ol Afce R

(C) Negative feed back | fAAifee Blsdd
(D) Positive feed back | uf%rﬁauﬂrs'é’w

Correct Answer : D

23). How the gate terminal of N channel JFET biased? | N <4l JFET 9 7IC
B TG ST?

(A) Gates are reverse biased | Regd S09 3/ @ad

(B) Gates are forward biased | RS ST AT
(C) Gates are forward biased with drain | §7 SRISR BhRds SN AT
(D) Gates are reverse biased with source | It SRER ﬁ'&u’ﬁm B GIGH

Correct Answer : D

24). Which resistor is used to measure light intensity? | PEANIEIIEG]
AU ATORT?

(A) VDR

(B) NTC

(C) PTC

(D) LDR

Correct Answer : D
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25). What is the purpose of connecting L, through C; to the transistor
base as shown in the flgure7 | 31I<1?cllcl dl@ldc'qIHJ-IIUI L, <l C, QN dII-'::,NCQ

éﬂ?ﬁaﬁ—s’wmm

K ca

_|_
)

c,

—i——

I

(A) Provides DC supply | DC WWIBDI

(B) Provides positive feed back | UTRI¢IE Wisd® JRAuATHTS!

(C) Provides negative feedback | ﬁ'ﬁﬁ%’ PAREED ERTWQWTBQ[

(D) Provides transistor biasing voltage | EAT&HW SR A1d1 diecst WIBDI

Correct Answer : B
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NIMI Mock Test

1). Which is a passive component? | PHIUTAT hUl-C URIE 3Tg?

(A) Diac|Sl®
(B) Diode | SIS

(© Transistor|§T%IRT
(D) Capacitor|€l'>'aﬁ|2?

Correct Answer : D

2). Which logic gate refers the truth table as given below? | CANGRNIINED

e Tt eeed 9 gRuftEr 9ey <d?
A B AtB
4] 0 i
(1] i a
1 4] u]
1 1 0
(A) AND
(B) NOT
(C) NOR
(D) NAND

Correct Answer : C

3). What is the name of the regulator circuit as shown in the figure? |

3TPHad GRAGTIHIU XRciex Aidbed A1d BT 3Te?
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RED
LED

(A) Adjustable regulator | fSSReTd WA
(B) Fixed output voltage regulator | ftheRs 3{13cYc Eleco] Q‘gac{

(C) Variable output voltage regulator | G R 3T3cYc @@WW
(D) Basic positive regulator | S Tifoicleg Weiex

Correct Answer : C

4). What is the main advantage of a class A amplifier? | TTA
IR HIIGI BT 3HTg?

(A) Minimum distortion | feweq sfae 3@

(B) Maximum current gain | H3c T SIS 317l

(C) Maximum voltage gain | Qleesl T STRATASI 3l

(D) Minimum signal to noise ratio losses | IBPNGEIES ‘IUﬁ?lT YT HHIADH HTd

Correct Answer : A

5). Which device has very high input impedance, low noise output, good
linearity and low inter electrode capacity? | W dcdh Gk 1YC

3 eiell Bl ﬂTs;ﬂ%Mcgc el e (oISt Sreian d Sl
?

ScY SIS HU

(A) NPN transistor | NPN CI-aReR
(B) PNP transistor | PNP TR

(C) Field effect transistor | fres E'a’_GE' gTi%l'\‘?\'

(D) Uni junction transistor | gril SiaRI ;IP{:NCQ

Correct Answer : C

Contact - 9370948482, 8055403224, 9325721873
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6). What is the name of the symbol as shown in the figure? | &mﬂ
C'(I{QIdQ'qILIHIUI ITJ'E;ITJ -l1d Y HT%

(A) P’ channel FET | P’ 91l FET
(B) N’ channel FET | N'.3<d FET
(C) Triac | <R

(D) Diac | STdd

Correct Answer : B

7). What is the type of amplifier circuit as shown in the diagram? | ICEIS]
gidhedl UBR BT 3HTg?

i
1
Ul
+

n
1

(A) Common base amplifier | PHIHT 99 SRR

(B) Common emitter amplifier | B SHICR SR
(C) Class B push pull amplifier | o<il¥ B YT Yl TR
(D) Common collector amplifier | HIAT Hage? SHTHTaR

Correct Answer : A

Contact - 9370948482, 8055403224, 9325721873
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8). What is the main application of a Field Effect Transistor (FET)? | fihes
2Whac CI+eRex (FET) d T SN &1 3{Tg?

(A) Voltage control device | Flees m %G'Igﬂ

(B) Current control device | P C o'bg\lm I?SOE;I':‘:{-I

(C) Positive feedback device | trT'sﬁ'a?s' hlesd %OGI'{SH
(D) Low input impedance device | i g149c sufle fomey

Correct Answer : A

9). What is the main function of Uni Junction Transistor (UJT)? | ?Iﬁ
SIaRM Ti~eiex (goich) d T &1 H 3T8?

A

(A) Relaxation oscillator | reraa=r= sfifRyeres

(B) Broadcast transmitter | SIS PR ;Iri-ll-l(\lc{

(C) Loud speaker amplifier | i3S AT MBI

(D) Microphone input device | qIEhIh I <1YcC EEHER

Correct Answer : A

10). What is the difference in the current control of MOSFET compared to
JFETs? | JFET &A1 -Id MOSFET =01 YT FRU=UTHE 61 Bl 3Tg?

(A) Insulating layer instead of junction | ST vgelt ET\ﬁﬁﬁ"T AR

(B) Using N material instead of P material | P TeRge Uast N HeRad aroRad $Rid

(C) Using P material instead of N material | N Héﬁ‘qaﬁf?ﬁﬁ P HeRYd aTRad 3d
%Using N material gate instead of P material | Teqrdt N AeRad Uash P HeRad duRdd

Correct Answer : A
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11). Why a feedback network is used in the oscillator as shown in the
circuit? | i cHe TRATTVHIU] SIRICICRAE Bigud Hcddb bl aluRd

SIGK

(A) To cancel noise distortion | :ﬁ%ﬂ fewe g FHOIOT

(B) To phase shift the signal by 60° | e 60° A T Rte HRugrTSt

(C) To phase shift the signal by 180° | Rrrer 180° 3 %ol R1oe HRUgEES]
(D) To cancel second harmonic distortion | @WWWW

Correct Answer : C

12). What is the name of the symbol as shown in the figure? | &Wﬂﬁ

ERERICEIC IR
—{ >

(A) NOR gate
(B) OR gate
(C) AND gate

(D) NOT gate

Correct Answer : D


javascript:void(0)
javascript:void(0)

Page 140

13). What is the name of the symbol as shown in the figure? | &Tﬁﬂ
QIR IUHIUl [d5ld —ld oy HT%?

KO—H—GA

(A) Photo conductive diode | Ticl hefdce SIS

(B) Light emitting diode | @ac THIT SIS
(C) Zener diodelﬁﬂ?gﬂﬂg
(D) Diode | SIS

Correct Answer : C

14). What is the minimum and maximum value of resistor with four
colour bands of red, violet, orange and gold respectively? | Gﬁiﬁﬁ?ﬂﬁ
e, AR HTOT FI=reaT TR FAT UsdiNgg fgRed fhar Sfol HHTe
oo focht 22

(A) 237509 - 262500

(B) 24700Q - 27300Q
(C) 256509 - 28350Q

(D) 22400Q - 33600Q

Correct Answer : C

15), Which multi vibrator produces a repetitive pulse wave form output?
| HIUTAT A< FASER JRIGT U &&d HIH 3T3cYe dIR Hrar?

(A) Astable multi vibrator | 3RCTd Hee! FHINE

(B) Bistable multi vibrator | STIRCEA Hecl BRISER

(C) One shot multi vibrator | 99 TMTc Hec] GRS
(D) Monostable multi vibrator | HFRcad Hec! A
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Correct Answer : A

16). What is the input ripple frequency (Fin) of full wave rectifier? | pdd
9t g1Yc Ruye fther=l (Fin) fobdil 3rTd?

(A) Fin="%F
(B) Fin = Fin
(©) Fin =2Fin

(D) Fin =+V2Fin

Correct Answer : C

17). Whichis a active component? | ®IUIdl g Ufdeag HulHe 3a?

(A) Inductor | gSdcX
(B) Resistor | JORCY
(C) Capacitor | HURICY
(D) Transistorlg'iﬁlﬁ'\’

Correct Answer : D

18). What is the effect of pinch-off voltage in JFET? | JFET e fUg-3ih
B BIdI?

(A) No depletion region exists | SR YT A4

(B) Drain current becomes zero | %’-'-I HC A HEL]

N C

(C) Reverse bias voltage becomes zero | ey I Rlee [ glgd

(D) Width of channel is maximum | EENEIRTCR ] 31T%'

Correct Answer : B
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19). What is the full form of PCB? | PCB T JUI A1d %14 3{Tg?

(A) Prevent Circuit Breaker
(B) Printed Circuit Board
(C) Power Circuit Breaker

(D) Panel Control Board

Correct Answer : B

20). Which resistor is used to measure light intensity? | PEANICIIEG]
A3 IR ITORAT?

(A) VDR

(B) NTC

(C) PTC

(D) LDR

Correct Answer : D

21). What is the power gain of CE amplifier with a voltage gain of 66 and
B (Beta) of the transistor is 100? | SR CE S{QIPRR =1 glees 1 66 d
CI-3Rex 1 b (Beta) 100 3 GidR T fdvell 3a?

(A) 15
(B) 166
(C) 0.66
(D) 6600

Correct Answer : D

22). How the gate terminal of N channel JFET biased? | N YA JFET I T
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<fHd S 91899 3gdTd?

(A) Gates are reverse biased | ﬁaﬁam RG]

(B) Gates are forward biased | RS IIOY 3Gdrd

(C) Gates are forward biased with drain | ?‘;_"f IR BRIS T 3T

(D) Gates are reverse biased with source | I SRR ﬁ%ﬁm X LGIGH

Correct Answer : D

23). What is the reason for more barrier voltage in silicon diode than
germanium diode? | [RifeThH SASHE SHIH SIAIS U SR SRR
PRUI DY 3M5?

(A) Lower atomic number | ﬁaﬁw HaX HHI 3RI0
(B) Resistance is very low | %@W SR HHT 3ol
(C) Doping percentage is more | ST UHIUITA ST 30y

(D) Valance electrons are two only | @~ 3aidgi- e Gl STl

Correct Answer : A

24). What is the output DC voltage in half wave rectifier, if the input AC
voltage is 24 volt? | T} Elecsl 24 Bl Y g% A
AfFBRRAL 33y % gleeo fael

3Tg?

(A) 24 Volt
(B) 12 Volt
(C) 9.6 Volt

(D) 10.8 Volt

Correct Answer : D

25). What is the purpose of connecting L, through C, to the transistor
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|2
T

(A) Provides DC supply | DC J&IT W

(B) Provides positive feed back | UiIdle Wisd® 'QTH'U'Q'I'\"-H?ﬁ

(C) Provides negative feedback | FIIfcE Bigdd JRITARIS!

(D) Provides transistor biasing voltage | @'ﬁlﬁ SR 13T dieest Wﬂﬁ

Correct Answer : B

3’% Which is the main application of SCR? | SCR WWWW
?

(A) Amplifier | SITRAHTIIR

(B) Oscillators | 3fTIeie?

(C) Multi vibrators | HAeel gASER

(D) Speed control of motors | Hied a1 fAdaror

Correct Answer : D
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27). Which amplifier produce a given gain with the minimum of
distortion? | ao%l?r SRR HHIT HH [dHdNg faadl Braar A
CRGIGK

(A) Small signal amplifier | T RUd 31 TR

(B) Common base amplifier | B oY 3 RABTR

(C) R - Ccoupled amplifier | 3R - It Sredd - RamrR
(D) Voltage amplifier | Fleeo 3 fRAwraR

Correct Answer : D

28). Which letter indicates the compound material cadmium sulphide? |
: TPIS © T B0 31&R e=faama?

(A) ‘A

(B) B

©

(D) R’

Correct Answer : D

29). What is the name of the symbol as shown in the figure? | &ﬂﬁﬂﬂ
1d BT 35?

.i.o—
E Y=AR

(A) Two input OR gate | aﬁs:rg‘c' IR Te

(B) Two input AND gate | G $79¢ AND TI¢
(C) Two input NOR gate | G- 3¢ NOR 7I¢
(D) Two input NAND gate | GIFf 3¢ NAND T


javascript:void(0)
javascript:void(0)

Page 146

Correct Answer : D

30). Which is the advanced version of power electronic component used
in the output stage in drives? | E'I'sf?s’ﬂ%ﬂﬁ &Idcgc IS A& dTIRUATd

YHRIAA UIdR SAdI b HUIHC HIUG?

(A) FET
(B) wT
(C) SCR

(D) I1GBT

Correct Answer : D

31). Which diode is used to regulate the voltage in the power supply
unit? | dio]. a1 gAeadid Glecord Raas HRuarId! SHiord
ATORT STl

(A) Crystal diode | fhcd SIS

(B) Zener diode | SR TS

(C) Tunnel diode | ¢1d SIS

(D) Light emitting diode | @Tsc THIfET SIS

Correct Answer : B

32). What is the name of amplifier as shown in the figure? | G{W
c'(ltgldctlIHHIUl AT HTd BT 31Tg?

nr-J,—

BH . =¥k

(A) Common emitter amplifier | B IR MRABRR


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 147
(B) Class B push pull amplifier | FTH B YT Jd fRABTAR

(C) Common collector amplifier | HIHT HAaeR HTABRR
(D) Class AB push pull amplifier | T AB YRT Yol HRABTIR

Correct Answer : B

33). Why the collector region is pggflsically made larger than emitter

region in a transistor? | TI-RCIHE Hadedl HITT IHICR HITUET Hifdd
TS HI8T &1 3adl?

(A) It has to dissipate more heat | ST YHTUITd 3TOTCT qrdt T

(B) As output is taken from collector | S| 3f3cyc Obadtiicbﬁﬂ BRACIG]

(C) As base collector region is reverse biased | I Pidex &F Idc U&UIT 315

(D) As input is given to collector | CANCTR | T4c feeamgaTol

Correct Answer : A

34). What is the effect, if SCRis latched into conduction and gate current
is removed? | SR SCR Shg o= HL Yl dd ATal 30T I HC Dlg
TTH AN 10T URUMH Blad?

(A) SCR gets cut off | SCR ¢ 3 g
(B) Current through SCR OFF | SCR WY %<c dlgll ¢ glsdl

(C) Output voltage will be reduced | 3T3cYc T Flees B Blsd
(D) Gate looses control over conduction | HSATIA Tedr YHTD T-I'I'(ﬂﬂT ﬁgﬁ

Correct Answer : D

35). Which circuit is essential to maintain oscillations or waves in an

oscillator circuit? | 3{TRicex Fidhe AL TR fdhar /d FRRR Sauarame!
HIT iched! STaIDh T Sd?

(A) Rectifier with filter | Yfae®HRR fheer Tfdhe T8

Contact - 9370948482, 8055403224, 9325721873
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(B) Voltage multiplier | ®Blecol Alet @IRR
(C) Negative feed back | ﬁﬂié% Hlesd
(D) Positive feed back | tITV%IﬁE Biesd®d

Correct Answer : D

36). WhICh electronic circuit produces signal waves or pulses without an
input? | HIUId ﬂf?%'s:ﬂg?:’ fRrarg Riwie &= d fhdl Ty AR

?

(A) Detector|%%3€?

(B) Amplifier|\’rfwfa1'w
(C) Oscillator | 3ATRIeICY
(D) Modulator | Hiegcicx

Correct Answer : C

37). Which instrument provides a visual representation of measured or

tested quantities? | DI BUBRUTHE <X deteil fdbal HisTaidl eifee!
XY WU fGHd?

(A) Voltage stabilizer | @lec TIIATIR

(B) Function generator | ThaR SRER

(C) Cathode ray oscilloscope | PUTS ¥ A IARDBIT
(D) Radio frequency generator R‘%Gﬁ et Sivey

Correct Answer : C

38). What is the output voltage if the centre tap of the transformer is _
open circuited in a full wave rectifier circuit? | Wmﬂ?ﬂlﬂ"ﬂ?ﬂ
Bd dg AFRBIR Fichensd Jusal 38 @R AMICYC lecsl Tl 312

(A) Zero voltage | [ Fleed
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(B) Full rated output | JUT 3¢S 3T3CYC

(C) Half of the rated output | Y¢S 33cYe =l (A
(D) One fourth of rated output |§%_5' 313cyc AT Uh U

Correct Answer : A

39). Which type of biasing is required to a NPN transistor for _ _
amplification? | &rﬁuﬁﬁwrogf NPN CTSReR a1 P10 YhRd SR
CRGIG!

(A) Base ground, emitter and collector positive | ST U138 g SHICR 30T heidex Uiicia

(B) Base negative, emitter positive and collector negative | o9 frifes gHiex Uiiciag SATfoT
HeiaeR [Hlfce Srg

C), Base positive, emitter negative and collector positive | 99 UiRidieg sHies
%ﬁﬁa&r@r Paiae UIRIdIE SIg

(Dg Base %ositive, emitter negative and collector negative | 9 UiRicteg gHtex [Hilfcaganfor

Correct Answer : C

40). What is thegpe of function in the transistor circuit as shown in the

2{.%”“? | GfcreH & DI THRd TR
?
il; LAMP
:" BASE :," PEWER CIRCUIT. |+
um“l“wl- EIIH'ITEI H-E-w
a- L

(A) Switchingl%ﬁi’ﬂ
(B) Oscillation | TR

(C) Modulation |II'\IJ?:§J,@I'-‘ZF[
(D) Amplification | SfferftharrH

Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : A

41). What is the use of the voltage dependent resistor? | Glecs 3fddfad
SUTNT BTy 3MTg?

(A) For the temperature compensation | dTUHTT HRUTS ol

(B) For the resistance measurement | Ufd®R ATgH 91é!

(C) For the impendance measurement | (impendance) S0~ H1U9 9131

(D) For the over voitage protection | SgR@Iee S GI&UETST

Correct Answer : D

42). What is the name of the resistor as shown in the figure? | &Hﬁﬁ
1d BT 3Te?

(A) Wire wound fixed resistor | dIER and s Al Migd e &

(B) Carbon resistor | Hle IR &

(C) Trimmer resistor | |aq€iﬁl€7\q$
(D) Wire wound variable resistor | AR %8 TR ferex

Correct Answer : D

43). Which logic gate refers the truth table as shown below? | DIuTd
i e @) T YR e Aa?
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A B Y =AB
0 ] n
1 i) 0
0 1 0
1 1 1

(A) ORgate |ORTIC
(B) NOT gate | NOT 7@
(C) AND gate | AND 7€

(D) NOR gate | NOR €

Correct Answer : C

44). What is the formula to calculate the resonance frequency.in an

oscillator circuit? | TR e AL [ Ther—ird A h1Y?

1

A F=
A 5 24.C
-
(B) 1'% 27.C
gy
© " amfIC

1
F=
(B) LC\2x

Correct Answer : C

45). Why most of the semi conductor devices are made by silicon
compared to germanium? | STHNTH=T Jid Sgde 3rtdige
EACEERINSIRIRK

(A) High barrier voltage | ST ISR Fieed g™
(B) High resistance range | SR e IS e

------- {€) -High thermal conductivity I-Blftd-aﬁ?r-dvsfd\er%c(-\l B 1
Contact - 9370948482, 8055403224, 9325721873
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(D) High current carrying capacity | SII¥d ®xc BRI HURIC 3™

Correct Answer : A

46). Which doping material is used to make P-type semi conductor? | G-
I3y YHIh S SIGUIMHTS!T DIUTd! SITUNT FTHeil dTuRet Sild?

(A) Boron | CINE

(B) Arsenic | e

(C) Antimony | sfer i

(D) Phosphorous | B

Correct Answer : A

47). What is the characteristic property of base material in a transistor? |
o fid 99 gefgers aRkrequf uietd s 3mg?

(A) Lightly doped and very thin | @I SItRT aer Sfr U Uras

(B) Heavily doped and very thin | STRd SITUT Bl IO U Tl

(C) Lightly doped and very larger | ST SIUT derar Sfor qy oS

(D) Heavily doped and very larger | STRd SITUTT Bl 3ol U @IS

Correct Answer : A

48). Wg negative feedback is required in amplifier circuits? | EAHRIR
Yfden ﬁ#@aqﬁmiﬂwm?

(A) To reduce the distortion | fewea o Hrvamard)

(B) To increase the amplification factor | SffeIfth e haer arefauararat
(C) To increase the output voltage gain | 313cYc dieedl T dGfauarITa!
(D) To increase the output current gain | 3T3¢UC HC T dTefauarTat

....... Correct ANSWET « A - - C L e o o o e e o e e e e e e e e e e e e e e e e e e e e e e -
Contact - 9370948482, 8055403224, 9325721873
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49). What is the name of the device symbol as shown in the figure? |
3T diId SRATATHHTU ISR fegTd A1 B 3HT5?

(A) SCR
(B) IGBT
(C) DIAC

(D) TRIAC

Correct Answer ; C

50). Which electronic circuit generates A.C signal without input? | DI
Hfche A&l 3AYc FRar Tt Riva See giara?

(A) Filter circuit | ftheex Tfde

(B) Rectifier circuit | GCHTER Hidbe

(C) Amplifier circuit | B RR ihe

(D) Oscillator circuit | 3iRIdeR Afdhe

Correct Answer : D

A
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NIMI Mock Test

1). What is the d\efect in an air circuit breaker, if trips intermittently on
loading? | AIS Id SRIAMT AYAHYA feU i SRIAN USR Hidhe shaed
D TV 387

(A) Incorrect setting of relay | o = Afém ﬂ?ﬂ% R
(B) Excessive heat | STIRd 3WIdl

(C) Insufficient air pressure | 8941 ald SR 3

(D) Higher setting of relay | el 3= A

Correct Answer : A

2). What is the purpose of control transformer used in the control panel
wiring? | $elel U-d araTH el aioRed] U=l dhed S-ahiHRel 3e-] B

3Me? ’

(A) To maintain the constant supply voltage | ¥dd YRdal Flecsl IRGUITHTS!

(B) To supply the power to the auxiliary circuits | STgTTerart Gfbeen glaR T

(C) To supply the power circuits | GIaR Tfched JRAUITTS!

(D) To supply the power to the motor circuits | qiex {-Ilracoq%lml qtol ‘{RH'UHN'IBD[

Correct Answer : B

3). Which circuit breaker is used as a switch and protective device in the
domestic wiring circuit? | BRI aINRT Alche AL PHIUT Hfhe SDHR g
e Wuﬁ%@%%&éﬂ TEUH dTORdl SITdl?

(A) Air circuit breaker | T3R Tfdhe g
(B) Miniature circuit breaker | ﬁ-lﬁ'@? gfhe sp3

N

(C) Moulded case circuit breaker | e € By githe S

(D) Earth Leakage circuit breaker | 31 ferdhot Afdhe S

Contact - 9370948482, 8055403224, 9325721873
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4). Why the motor is contunious in the same direction if the reverse
ush button is pressed in the forward and reverse star delta stater? |
ORI 90 BiRae AT Rgd TR Seel WexHe qaedy Aie Thld
fE= Fad BT 3d?

Correct Answer : B

(A) No volt coil is not energized | Tl Biee Hied SHeiidr Te]

(B) Fault in forward contactor | RIS PBlcde 9 aIY

(C) Due to interlock in reverse contactor | ﬁﬁﬁﬁﬁ%ﬂ%? ey gav i 3 8d

(D) No voltage exist in reverse contactor | ﬁ@ﬁ Hlcdey 7Y OG\IcE\rI T

Correct Answer : C

5;. What is the criteria to select the contactor? | PicdeR HISwr Ay
?

(A) Type of supply | ST UHRR

(B) Type of load connected | EISINISEIRCN

(C) Type of Supply voltage and load | YRdST oo ST gl UPR
(D) Place of use the contactor | PIcacy aIURUATE! ST

Correct Answer : C

6). How the control circuit voltage f for a contactor are selected? |
Plcaeral ObCIQ'1 HId?C <"{">|Q'C\T| &Y Masd SIdrd?

(A) As per rated current |:§%€WW

(B) As per supply voltage | 9= lee ol JHTOI

(C) As per no volt coil rating | q’r&ﬁﬁaﬁ’s‘?ﬁmﬁ
(D) As per the type of supply | WIIAT YHRIGHIO!

Correct Answer : C
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7). What is the function of Buchholz relay in power transformer? | giaR
e gasiest Rad ®1d &1 34d?

(A) Over load and short circuit protection | NS ST /TS Afbe MR

(B) Over voltage and earth fault protection | e &Tﬁ[q@tﬁﬁww

(C) Open circuit and earth fault protection | 3T Gfche 3Mfor 31 Wi U=

(D) Open circuit and over voltage protection | 319 Tfche SfUr 3R Bleest UeaRM

Correct Answer : A

8). Which is the correct sequence of operation of contactors for
operating an automatic star delta starter? | JICHICH TR SeT] W

3TINE HRUYGIST Bl deadaaT SHTIRA= AT HH HI0TdT 3Ta?

(A) Main—Star—Delta—Timer
(B) Star—Main—Timer—Delta
(C) Main—Timer—Delta—Star

(D) Star—Timer—Delta—Main

Correct Answer : B

9). Which accessory prevents the flare out of stripped stranded cables in

the panel board wiring? | U-cl St <A1 IRIRTHE SfSdheied] dRTH Saeid
CAGIREERRR ?

(A) Sleeves | &gl
(B) Wire ferrules | I”R lhecd
(C) Lugs and thimbles | &7 3for fiae

(D) Cable binding straps and button | B QI'{;%‘I «Eua 30T §ed

Correct Answer : C
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10). Which cable ties are used to bunch the wires? | CIERE IR CIER|
SIYUITS! DIUId! Hed T dTuRdTa?

(A) Silk ties | e T/

(B) PV.C ties | PVC T/

(C) Nylon ties | ATIAIT e

(D) Cotton ties | Hic T

Correct Answer : C

11). Why sequential control of motors are required in an industrial

:ﬁ%ncation? | SN vl Hiedd ShiHe AU &I Sawas
?

(A) To share more loads | SR THTUNG @IS RISR HRUIMIS!

(B) To reduce power consumption | UiaR 91 dTUR HH] SO

(C) To minimise the operating cost | JTRIET fbad w4t wrugmSt

(D) To increase the accuracy of operation | SO ot SIbdl qrefquarars!

Correct Answer : D

12). What is the use of ‘G’ channels in control panel? | ¢l U-d A ‘G’
DhIY?

(A) For fixing relays | et frfeRTTaTat

(B) For fixing contactors | Plcded (it

(C) For fixing instruments | Wg@m

(D) For fixing terminal connectors | i a Faaer frfRiTrardl

Correct Answer : D
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13). What is the name of the part marked as “X” in industrial agitator
system as shown in the figure? | ﬂ]ﬁﬂq@ 31:I%j|i%I$
3figId® Juaiae "X T fagifdhd ddedl I A1d BT 3MTe?

X

(A) Discharge pump | & uu
(B) Agitator tank | ufoicer el

(C) Feed pump | IS UY

(D) Agitator motor | uforder Hiew

Correct Answer : D

14). Which switch is operated at OFF load condition? | OFF e Rdia
DIl I BRI Bl

(A) Limit switch | feifie faa

(B) Isolating switch | 3TagIafeT aa

(C) Two way switch | _g.:a Sk

(D) Push button switch | G §c &4

Correct Answer : B

15). What is the name of the device marked as ‘X' in the circuit as shown

in the figure? | 3T dId GRAGTIHIY AfheHH ‘X’ U fagifdhd dhaied
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SUBRUM AT1d B 3Tg?

(A) Contactor | PHicac

(B) No volt coil | I ®ice Hiad
(C) Stop button | Y g
(D) Overload relay trip | 3fi@x @ls Ra feu

Correct Answer : D

16). Which DC load is represented by the DC4 standard duty cycle of

contactors? | Hic el x3e Sl Uha Y DC4 § DC diS
?

(A) Resistive loads except motor loads | Alcx dls g AfARCE Al
(B) Starting and stopping of shunt motor | qI¢ Aiex WIEHT g Wi
(C) Starting and stopping of series motor | Rr¥ter e wrdln g weru

(D) Starting and stopping of shunt motor with inching and braking | ST 31for sfdbrag
T AR Y= HR0) &rr%[ Yigaul

Correct Answer : C

17). What is the function of relay in the operation of circuit breaker? |

Tfdhe SHv=d ATRIFAS R BT BT 3MTg?

(A) Mgasure the abnormal condition and send the close command | SIETHTY IRIGIRAS
aclislt s Hls Ulodl

(B) Measure the abnormal condition and display the value | g Ryt Ao GF@IHEJ
------- L8 ) T i o
Contact - 9370948482, 8055403224, 9325721873
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(C) Senses the abnormal condition and display the value | MY R 3fiewgd SHfor Hl
TefRid Bd

(D) Senses the abnormal condition and send the trip command | S{HTHTI Ryt
3fe@dr 3Mfor fou wHis ureaar

Correct Answer : D

18). Which type of load is protected by ‘G’ series MCB? | ‘G’ series MCBHI

(o

JTUR B DI Cl5y o die Jferd ool SATdrd?

(A) Ovens | 3

(B) Geysers | Tﬂ%ﬂ

(C) Air conditioners | T3R HISTR

(D) General lighting systems | argfc Rt

Correct Answer : C

19). What is the name of accessory used in control panel wiring as shown
in the figure? | 3T GRITATIATY! PHeld Uet ANTTHE ITOReT
SToT=T 919 BT 3118?

\

(A) Lugs | ™

(B) Thimble | dHHad

(C) Grommet | HIAC

(D) Terminal connector | fHd paeR

Correct Answer : C
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20). What is the defect in a oil circuit breaker if the oil heats up
excessively? | 31gd Gfdbe ghR A 3 SR TR &I 3 dR &Td
DI GV &Rlia?

(A) Line current is too low | ¢lg- quaﬂ:ﬁ 3(Te
(B) Load is too low | s qu HH \’rI'I%
(C) Poor dielectric strength of oil | TATH WRTE STAATFES dTdHG

(D) Good dielectric strength of oil | daT TRTeH SRIdGed dlhg

Correct Answer : C

21). Which device is controling the operations in the sequential control

Z%emsuﬁvﬁm&awmﬁmmwn?ﬂ?ﬂawmﬁﬁw
?

(A) Timer | CIAHY
(B) Relays | el
(© Contactor|$\f€a€?

(D) Control transformer | Oivgi\lﬂ gerLh\IJJ-TQ

Correct Answer : A
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22). What is the effect, if the test button marked as ‘X' is closed
permanently in ELCB as shown in the figure? | \’rﬂﬁﬂ GRIfTATIHT ELCB
q‘iﬁ X WU Itl'E':IIOhCI 0bQ'1Q'1 aT?IUﬁ dcUl p|dHT dg Al plY

(A) ELCB trips.intermittently | ELCB 3{¢TH¢ Jgail
(B) ELCB functions normally | ELCB ITHT-IT0 %14
(C) ELCB trips permanently | ELCB W'\‘I@?ﬂ

(D) ELCB-will not trip on leakage | ELCB clidhoiaR feU UMR A6t

Correct Answer : C

23). What is the reason for providing two separate Earthing in the panel

board? | Ud SieH &IH Wad 3T SUa HRUT BT 3ATR?

(A) Panel board is made in metal box | 99 &I YT URET SATAciel SRl
(B) Control the stray field in the panel | UAaHid ¥ fthes AdRd Hrugmmat
(C) Reduce the voltage drop in panel board | 09d Sie A Eleel \§T14 S HRUGMETST

(DE Ensure one earthing in case of other failure | IR U 3 ?:Eﬁ GES §'\‘I§' GHERR

Correct Answer : D

24). Which circuit breaker is installed along with W|r|ng circuit against
leakage current protection? | ferdrot e HI%E
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(A) OCB

(B) MCB
(C) ELCB

(D) MCCB

Correct Answer : C

25). What is the purpose of the trip coil used in a circuit breakers? | gidhe
SHIAY TR SO [¢U i3l 3630 BRI Hg?

(A) For the under voltage protection | 3{SX Sleeol TGRS
(B) For the remote operation | e SRl

(C) For the over voltage protection | e Iee S TRETONTS!
(D) For the over load protection | TGRS TR

Correct Answer : B
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NIMI Mock Test

1). What i |s the function of Buchholz relay in power transformer? | PN

i gagiest Rad &1 &1 34d?

(A) Over load and short circuit protection | SRS ATfUT /TS Afbe WieaRM

(B) Over voltage and earth fault protection | 3lcgRcgIec sl JTfOT Gedt Wiee TREUT

(C) Open circuit and earth fault protection | 3 Gfdhe 3n1for 31 wiee WeaRm

(D) Open circuit and over voltage protection | 30 Fide SNfiT i Bleest TeaRM

Correct Answer : A

2). What is the purpose of control transformer used in the control panel

va\?[réng'? | dreld Ud aRIRTHE JTRedT SIU=T e ld SRl Se] B
?

(A) To maintain the constant supply voltage | ¥dd Ydal Blecsl IRGUITTA]
(B) To supply the power to the auxiliary circuits | Hﬁﬁﬁl’& Gfbeer ufaR Fwd

(C) To supply the power circuits | BICH ﬂm Wﬁﬁ
(D) To supply the power to the motor circuits | Hier qfd alol WWN’IBDI

Correct Answer : B

3). Which device detects a physical quantity? | DI IYHR {hiSTh el
wifedl Mud?

(A) Motor | HIER

(B) Circuit breakerlﬂﬁﬁrw
(C) Sensors | A=

(D) StarterRET&

Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : C

4). Which circuit, the limit switches are used? | HIvT b forfie
BEEREICEGIGH

(A) Lift circuits | foroe afdenen

(B) Street lighting | I amAfc

(C) Battery Charging Circuit | §e3I 9o Sfcre

(D) Domestic power circuits | BT (SHRCH) TIaR TlcheHE]

Correct Answer : A

5). What is the effect, if the test button marked as ‘X’ is closed
permanently in ELCB as shown in the figure? \}Wm ELCB

%gax QUM fergifhd ol Il 9o §G A D1 URTIH

(A) ELCB trips intermittently | ELCB 3{¢TH¢ Tgail
(B) ELCB functions normally | ELCB HHEIU0 ST A

(C) ELCB trips permanently | ELCB HIIHTGEUL H?Fﬁ

(D) ELCB will not trip on leakage | ELCB cfldhSTaR fdU SRUMR 16!

Correct Answer : C

6). What is the pick-up voltage in a over voltage relay indicated? | 3’
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e el Ay U 30 glecs BT Fleid HRd?

(A) Working voltage of relay | o = afh1 Bleew

(B) Maximum voltage rating of relay | el o SRl SR @leeot ST

(€) Minimum voltage rating of relay | el o BHld HH Glees ST

(D) Minimum voltage to start the relay | e ?I'Iﬁﬁ'u'qﬁ T B Fleeol

Correct Answer : D

7). Which gas is used in SFs circuit breaker? | SFs Hfthe ST D0
d1g dTURT SIe?

(A) Acetylene | VQ!?IIE(_'H:I

(B) Sulphur dioxide | TeHR S 3HATLS

(C) Sulphur hexafluoride | TEHY FFATFAIRTSS
(D) Carbon dioxide | HTa ST 3HRIES

Correct Answer : C

8). Why the power and control wirings run in separate race ways? | BICK

3MIOT hela AT avTeadT YAdid ol Aradia?

(A) To decrease the heat dissipation | 3WId ¥ Eﬁﬁ[ HH HIUATITS]
(B) To reduce the radio interference R’%Gﬁm HH HIVYTHTST

(C) To reduce the insulation resistance | QRH@IQH UfdhR Bl HRUGRITS!
(D) To decrease the current carrying capacity | qTHT a8 & HH! HRUTNITS!

Correct Answer : B

9). Which device is controllng the operations in the sequential control
systems? | |§5I5|UI &Iéi’Ql:\q


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 167
(A) Timer | CAHR

(B) Relays | Rl
(© Contactor|ﬁ€5|€?
(D) Control transformer | eI CFAHIHR

Correct Answer : A

1Q). Which cable ties are used to bunch the wires? | EITCFFT-_-ITW%
SIYTITATAT HIU] had e1d argdla?

(A) Silk ties | Riesh €

(B) PV.C ties | PVC 2@

(C) Nylon ties | HTIIT /™

(D) Cotton ties | dic T

Correct Answer : C

11). Why sequential control of motors are required in an industrial
gﬁglication? | SIS SRANTAE Hicxd SIIh W FIA BT HTaAH
?

(A) To share more loads | SR THTUNd A8 W3R BRI

(B) To reduce power consumption | UiaR 91 dTUR HH! HRUGNT!

(C) To minimise the operating cost | RIS fhHd HHt HRugrSt

(D) To increase the accuracy of operation | ST ot b dl arefaugraTal

Correct Answer : D

12). What is the name of the control circuit as shown in the figure? |

"3hdId GRIGATIHTU el Hidbed A1d B 3HTe?
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2

K
ATOR ATART ::I |
al

Aéjdﬂﬂu

(A) Remote control circuit | RHIE deia Tfdhe
(B) Jog control using a relay | el g S Ob@ﬂ

(C) Inching control circuit with push motor | WWE’%‘TH@EW
(D) Jogging control circuit with selector switch | Fras® s SiRET @?{ gfde

Correct Answer : D

13). What is the part name of the contactor as shown in the figure? |
" AU b ATHl HITT AT BT 37Tg?

(A) Contact support | Hicdc qare

(B) Protective housing | W&WTWB’IW&FT
(C) Magnetic coil | W Pisd

(D) Support for the yoke | i AT YR

Correct Answer : B
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14). What happens, if time delay relay of an auto star delta starter still in
closed condition after starting? | &Iéi IR Sl IICHT CIgH %@fﬁ@fﬁ‘@_
A aRe] d¢ R I B glsa?

(A) Motor runs in high speed | AR AT YTad

(B) Motor runs normally | Tex A0 3Tl

(C) Motor runs in star only | Hlex ad dIvd arad
(D) Motor runs in delta only | e} o SecHe dTed

Correct Answer : C

15). Why the motor is contunious in the same direction if the reverse
ush button-is pressed in the forward and reverse star delta stater? |
ORI 90 Bixae AT Rgd TR Seel e exd e qraedry HicR Udhd
f&=I Hefd BT 3a?

(A) No volt coil is not energized | T BT Bled SHoAdM Ta

(B) Fault in forward contactor | hRAls PlcdeX HA Gl

(C) Due to.interlock'in reverse contactor | ﬁ%’\‘f Plcdey 7 32? wih A

(D) No voltage exist in reverse contactor | ﬁ%ﬁ Hlcdel A <5\|Q'e\5| Td

Correct Answer : C

16). Which type of relay is used in both A.C and D.C supply? | A.C 3{Tfor
D.C I &l51 YRAGATHE hIUraT el aoRa Srdi?

(A) Reed relay | Js o

(B) Impulse relay | SHI& e

(C) Thermal relay | e el

(D) Clapper-type armature relay | IR TRy R Ra

Correct Answer : B
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17). Which switch is operated at OFF load condition? | OFF e Ry
DI Rd BT RN

(A) Limit switch | feifire R
(B) Isolating switch | gt g

(C) Two way switch | ¢ CALSE]
(D) Push button switch | G §ic &

Correct Answer : B

18). Which switch with an actuator is operated by the motion of a
machine or part of an object? | 3/FeITCTHE DIV f&d AR foha
IRI HITTAT Tl ATerd e Siidl?

(A) Limit switch | faifire &g
(B) Toggle switch | eTa e
(C) Isolating switch | M Rag
(D) Push button switch | E[‘\’[W%a

Correct Answer : A

19). Which device protects from overload and short circuit in a panel
board? | U-d dle HY DIV gedh @R Al AT YTc ithe IR Sd1d
DHRUGTS] ITIRATC?

(A) Isolating switch | SMIareT (g

(B) Time delay relay | <IgH Shdd Ra

(C) Thermal overload relay | Jpare Gﬁﬂ?ﬁgﬁ@[

(D) Miniature circuit breaker | ﬁlﬁ'ﬁR’ gfdhe aHe

Correct Answer : D
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20). What happened if the load increased beyond the rated level in

transmission system? | 'C;FH&I'QH e Y dhaedl UTddIuE die

dle ey BT JTA?

(A) Increases the current in the line | shaﬁ?ﬂaﬁggauawamﬁ

(B) Increases the voltage in the line | ﬂlsﬂHiﬂﬁ os\lc%\ﬂ aredd

(C) Decreases the current in the line | Q’ilsv-ll-l%ﬂﬂ HYC HH B

(D) Decreases the voltage drop in the line | eaedd ®lec S'TU A B

Correct Answer : A

21). What is the name of the device marked as ‘X’ as shown in the figure?
| 3MPald eRIGeHHT ‘X’ U fIgifdbd dbaed UGN Aid B 3HTe?

(A) Stop button | ®Ig §c
(B) Start button | TS ged
(C) Main contact | A plcde

(D) Auxiliary contact | SfRIferart dicae

Correct Answer : D

22). What is the criteria to select the contactor? | Dicdex Haesuard Aey
?

(A) Type of supply | ST UhR

(B) Type of load connected | SISl Aledl UHR
(C) Type of Supply voltage and load | YRdST Fleeol TUT drsdl UPR
(D) Place of use the contactor | Plcde UG ST
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23). What is the name of the device marked as ‘X’ in the circuit as shown
in the figure? | 31Tl SRITTIHTO Fichered ‘X' T frgifdbd deted
O UPRU[Id ld oY 3'”%?

4]

[ Z
|

Correct Answer : C

(A) Contactor | Plcdc

(B) No volt coil | ar EPIFC' ?@H

(C) Stop button | WY gcd

(D) Over load relay trip | 3R s R E’q

Correct Answer : D

24). What is the name of the accessory used in control panel wiring as
shown in the figure? | 3T dld TRITCATIATY it Ut AT ITHEY dTuReT
SITOTT=AT 19 D1 357

a8

(A) Wire ferrules | a1} e

(B) Wire sleeves | Al T

(C) Nylon cable ties | Ad Bhad el

(D) Cable binding straps and button | F9d IAfST T{TI 3TfoT Feur
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Correct Answer : D

25). How the contacts in a contactor can be engaged for working? |
Hlcde Py engaged

(A) By manual operation | ﬁfﬂ&lﬁ SRR H&A

(B) By mechanical settings | TifA® AT ded

(C) By operating electromagnet | Ea@ﬁ'ﬁ? 3RE S
(D) By using bimetallic strip | H@?Wq?[ aR=q

Correct Answer : C

26). What is the use of ‘G’ channels in control panel? | @ﬁﬁ:ﬁ[ 7L ‘G’
DIY?

(A) For fixing relays | el fpfoRiTmdl

(B) For fixing contactors | CARC R A CRERIG]]

(C) For fixing instruments | fﬁ?@ﬂgﬁgﬁmﬁ

(D) For fixing terminal connectors | i SAaer frfRmard)

Correct Answer : D

27). What is the reason for providing two separate Earthing in the panel

board? | 90 SISHY &I Wda ST GUAT HRUT B 3M1g?

(A) Panel board is made in metal box | U &8 YT URLT STdeiel SR
(B) Control the stray field in the panel | PEREPIK] @A IEISARRIERCRSINIE]
(C) Reduce the voltage drop in panel board | Ud als A Glecol S0 HH! HRUARITS!

(DE Ensure one earthing in case of other failure | IR Tdh 3rfdfar ﬂ?ﬁ GES §'\‘ﬁ' @R
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Correct Answer : D

28). What is the purpose of the trip coil used in a circuit breakers? | gfde
& JTUR T ST feU Shig et IR BT 3M8?

(A) For the under voltage protection | 3SR Bleed TREUMHTS!
(B) For the remote operation | e szl

(C) For the over voltage protection | SR [ec ol YR EIUMTS!
(D) For the over load protection | IR TS TREUIHTO!

Correct Answer : B

29). What is thevdefecht(in a oil circuit breaker if the oil heats up
excessively? | 3Igc Hlh < deh? g ST WIl¥d TIRH gld A d dld
DIl IS a%a?

(A) Line current is too low | dlg T gy HHI 35

(B) Load is too low | drs qq HH @riT%'

(C) Poor dielectric strength of oil | GLGIE KGRI mﬁ% dih ¢
(D) Good dielectric strength of oil | SGIEICIUE Smﬁ% didhe

Correct Answer : C

30). What is the name of the circuit as shown in the diagram? |
"JTHAIHE GRITATIHIT Ffched H1d B 3Ma?

L4

By 7

Py
Fa
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EA). Control circuit of fully automatic star delta starter | U;Ufcl'lﬁ WAAeld R Seel TIed

(B) Power circuit of fully automatic star delta starter | ‘{quﬁf TG TR Seel €ewd
EIEES

(C) Control circuit of semi automatic star delta starter | AW ST P WR Seel
W™ Heid gibe

(D) Power circuit of semi automatic star delta starter | 31¢f TaTEfId R Seel WIEH UlaR

Correct Answer : C

31). What is the name of the wiring accessory used in control panel
wiring as shown in the figure? | 3T dId GRITITHHTO] Selcl U-d

AT TR ST AT UaaRd A1 &1 3MTe?

il

(A) DIN rails | DIN ¥&H
(B) G channel | G EE|
(C) Grommets | THC
(D) Race ways Rﬂa\_xf

Correct Answer : A

32). Which circuit breaker is used as a switch and protective device in the
domestic wiring cirg\uit? Lﬂ??l(‘il IR Gfche H HI0TdT Flidhe Sh Bl
e 3M1for Uicfaces eIy WU AR Sidi?

(A) Air circuit breaker | T3R Tfthe S
(B) Miniature circuit breaker | ﬁlﬁ'lﬁﬂ' gfhe sp

(C) Moulded case circuit breaker | e s HY Jfhe s
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33). What is the name of the part marked as “X" in industrial agitator
system as shown _in the figure? | &Wﬂﬂ?ﬁ 31:I€-Ilﬁl$
& "X WU fargifed el HITT A1d BT 318?

x

oC Y

(D) Earth Leakage circuit breaker | 31 ferdhol Ffhe SR

Correct Answer : B

(A) Discharge pump | &&= tu
(B) Agitator tank | Qﬁ@?? iG]

(C) Feed-pump | ®IS UU

(D) Agitator motor | uforder HieY

Correct Answer : D

34). What is the use of PVC channel in a control panel wiring? | ﬁﬁ
UTdl IR He PVC e SUTNT 12

(A) Mounting MCB | 3¢ MCB

(B) Mounting relays | T3 Ral

(C) Path way for electrical wiring and protection | ﬁ@w AT AN @
LRI

(D) Mounting double deck terminal contactor | A3 S9d S ¢fHd dicdex

Correct Answer : C

35). How to prevent the entry of the insects and rats into the control
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panel? | (AT U4 Sicdh IO SR Td=T Hul IGR?

(A) By using sleeve | ReTegSTT ATR &

(B) By using Grommets | PHIACHT IR &

(C) By using cable binding straps | B SrefeT] tc:b{-l I TR h-

(D) By providing nylon cable ties | AW Had 1 9T ATUR B

Correct Answer : B

36). What is the purpose of thermal over load relay in control panel? |
Held UTaHE YH SilegRcls Raldl 3e Ba?

(A) Switching ON/OFF the circuit | fdc ON/OFF fqd &l

(B) Protect the circuit from earth fault | 31 Wiee IR gfhed TREUT B0t

(C) Control the circuit based on time delay | 3{{9 213 H Sidl Afdbe FaHd HRul

(D) Protect the motor from over loading | "Hiexdr 3y E}%‘TQ'RFI TRIEa BT

Correct Answer : D

37). Which supply indicates by the colour of conductor exhibited on Red,
Blue and Black? | <Td, fAcaT 31101 STeaa IMaR U fRid Hadexdl 3
SISIRCNERIGE

(A) Supply DC 3 wire system | 3 IR Rifven S <t 9w
(B) Single phase AC system | [RiTct ol Tt Rifed

(C) Supply AC system 3 phase | off trot Uit Rl

(D) Apparatus AC system 3 phase | 3{URTcH ot e wel R

Correct Answer : A

38). Which DC load is represented by the DC4 standard duty cycle of
contactors? | HlcdeyAN WSS S| Ydhd & DC4 8 DC A8
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Rifdar

(A) Resistive loads except motor loads | Aier die {-I\I\;i-l feeE s
(B) Starting and stopping of shunt motor | ¢ AIeX WEICEHT g WU
(C) Starting and stopping of series motor | Rdte Atex werdfn g wiftn

(D) Starting and stopping of shunt motor with inching and braking | ST 311for sfdhrag
T HIR = ) errr%[ Yigaul

Correct Answer : C

39). What is the name of the contactor marked as ‘x’ in the star delta
starter as shown in the figure? | 3T e GRITATIHIT TR

& ‘x" TgUH Ieirgiichd doledl YU -1d BT 3g?
&

1
—\g%}l: TKP T/x

(A) Main contactor | H’@Iﬁﬁ'd%ﬁ

(B) Star contactor | ¥}€R HIedac

(C) Delta contactor | Secl BIcdecy

(D) Timer | CIgHR

Correct Answer : B

40). Which circuit breaker is installed along with wiring circuit against
leakage current protection? | ferdrot e HI%E

P Ffhe SH VTG BT 3MTg?

(A) OCB

(B) MCB

Contact - 9370948482, 8055403224, 9325721873
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(C) ELCB

(D) MCCB

Correct Answer : C

41). What is the name of accessory used in control panel wiring as shown
in the figure? | 3T dld TRATITIHTU! bl UeT aFRITHE aTaR e
SITOTT=AT AT BT 3Tg?

\

(A) Lugs | 7SI

(B) Thimble | diHad

(C) Grommet | Earr

(D) Terminal connector | fHd paeR

Correct Answer : C

42). What is the purpose of DIN-rail used in the control panel wiring? |
a»—éaqqa ATORET ST ST - S&R BT 315?

(A) It provides a path way for electrical wiring | Sdfdcdd AN ANTNITA!

(B) Mounting the control accessories using screws | @Wﬁfﬁm IUHRU AT HR0|

(C) Mounting the double deck terminal connectors | Sdd & ffd paer Arde B0
(D) _ Mounting the control accessories without screws | W&Hﬂ W RIS HIde

Correct Answer : D
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43). What is the purpose of using thermal relay in addition to fuse in A.C
mot%r”%circuit? | A.C Hicx Tichered WSl fdRad YHd el aroRudrar 36
DI 3AHg?

(A) Protect from heavy earth fault | SIS q%a‘T aly URYA HR&T0T

(B) Protect against high voltage | ST glecol TR TR&UT 60!
(C) Protects against continuous over loading | ddd Mg @%‘W TREUT Hd
(D) Protect against dead short circuit | 3T YcHibe U TR0 HIUTTST

Correct Answer : C

44). What is the purpose of external source for passive sensors? | URreg
SRHIE) QAT ST SR T I

(A) To generate pressure | cdld i HRugrRTSt

(B) To generate heat | SWIdT fmfor oSt

(C) To generate light | UhIRI IBE Ui

(D) To generate signal | Rrurer fArafor sroarardt

Correct Answer : D

45). What is the function of relay in the operation of circuit breaker? |

Rl S B 31762

(A) Me_:\asure the abnormal condition and send the close command | STETHTY Ryt Aot
STIOT TS HHIS U]

(B) Measure the abnormal condition and display the value | 3[{TH TRyt Ao s HY
PRI

(C) Senses the abnormal condition and display the value | S Rt sfiesEd Gﬂﬁﬂaﬂ
TeRid Hrd

(D) Senses the abnormal condition and send the trip command | 3IHTHTT Rt
3@t 3T feu wais
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46). Why control panels are provided with control transformer? | ﬁAFT
UIHe dheld TrIBhIHR &l aruRdld?

Correct Answer : D

(A) To maintain the rated voltage |§?W@éﬁm

(B) To operate the auxiliary circuits | Gﬁ"%lﬁfél'\ﬁ gfhe araqut

(C) To maintain the rated load R%_S’Fh'é’w

(D) To supply reduced voltage to power circuit | Uik Gfdhedre! HHl ®leed W

Correct Answer : B

47). Which relay is hold their contacts in the position after power is

cutoff? | "OIaR e 3P ATeaR DIoTdl el i Judhi] eae|
?

(A) Readrelay | Jefa
(B) Current relay | Hec Ra

(C) Voltage relay | Sleco Ral
(D) Latching relay | afaa e

Correct Answer : D

48). Which is the essential feature to be considered while designing a
layout of control panel? | dclcl Y-cd 33T TIR HRAM] HARYh
AT Udd UTfRSi?

(A) Weight of the control panel | [BRENRERECSE]
(B) Cost of the control panel | =0T daer fhad
(C) Suitable method of labelling and cable harnessing | NEINUEICEENEREIR S

(D) Outside dimensions and swing area of cabinet door | Pia-e ster ot A afor g
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Correct Answer : D

49). Which is the correct sequence of operation of contactors for
operating an automatic star delta starter? | 3ffcHfcd WR el WK

3UTINC HRUIMTS! Bicde T AR GG g6 H HI0TdT HTe?

(A) Main-Star—Delta—Timer
(B) Star—Main—Timer—Delta
(C) Main—Timer—Delta—Star

(D) Star—Timer—Delta—Main

Correct Answer : B

50). What.is the name of circuit breaker as shown in the figure? | G@Fﬁﬁ
Tidhe Sdd H1d BT 3HTa?

(A) Oil circuit breaker | 317501 gfhe s

(B) Air blast circuit breaker | T3 &I gfdhe dHT
(C) Vacuum circuit breaker | %VT:PEF[ gfhe s

(D) Air break circuit breaker | T3} & Tfche gH

Correct Answer : B
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NIMI Mock Test

1). What are the |mportant stages in a simple inverter? | 1T Frger g
Hgard ol

(A) Oscillator and rectifier stages | 3HTRTeeR AT e hTR ol
(B) Oscillator and amplifier stages | 3TRyerex 3nfor fRTHrR W

(C) Amplifier and transformer output stages | SfRIHIER SfoT ngHLhTJ-fQ 3f13cyc Lol

(D) Oscillator, amplifier and transformer output stages | Siiidex SffRreraR anfor
STIBTHY 3T3CYC oy

Correct Answer : D

2). Which battery can be kept in the AC room along with an inverter? |

T AL Sg e DIV g3l sadr Ud?

(A) Nickel iron batteries | fAord drg sl g
(B) Industrial lead acid batteries | e e VQl%lS el
(C) Sealeéd:maintenance free batteries | §Id H -9 Wl Jel

o o A=A e

(D) Nickel cadmium batteries | 1 & HSHIH Sl

Correct Answer : C

3) What |s the type of A.C voltage stabilizer? | A.C CAGS R ERIRERE]]

T—E—\“"‘“

L
INPLIT T
YOLTAGE @.) OUTPUT

S B

Contact - 9370948482, 8055403224, 9325721873
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(C) Manual stepped voltage stabilizer | H=g3d T Gleeol TITATIZR

(D) Constant voltage transformer stabilize | HICT BTl E'F\‘Tcﬁ'lﬁ LIAER

Correct Answer : C

4). Which feedback network is used for automatic voltage stabilizer? |
HE DIUd higdd Hcdd aruRdld

(A) Current divider network | e fSHaS Jcdd

(B) Voltage divider network | Gieedl fS@TaSY Acad
(C) Tapped transformer network | <y @R‘lﬂﬁﬁ? Jeddh

-~

(D) Resistance temperature detector network RI?—NCH{-I SRR Hcdd

Correct Answer: B

5). Calculate the voltage and ampere/hour, if four cells rated as 1.5V and
8 A.H are.in parallel? | HI‘%I SAUSR/ArT HIST, SR 1.5 V 3118 AH
319 Y€ hetlel IR el FHIcR Sl av?

(A) 6Vand32AH
(B) 3Vand16 AH
(C©) 6Vand8AH

(D) 1.5V and 32 AH

Correct Answer : D

6). Which type of output t\ranstg\rmer is used in automatic voltage
stabilizer? | 3TCIACH Flees LITAHIR T 3T3TYC TIHIHR ??ﬁw
Uh Rl

(A) Auto transformer | 3t m
(B) Static transformer | Tied E’F\‘:Itﬁ\ﬁ?

_______________________________________________________________________________

Contact - 9370948482, 8055403224, 9325721873
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(D) Ferrite core type transformer | TRISC ISR Q'RHW

Correct Answer : A

7). What is the reason for tripping the UPS with full load? | WW
HZ]WEGWWW?

(A) Main supply failure | 31 Y& WGR

(B) Incorrect over load settings | Gﬁmg Jfew gaﬂ%r ST
(C) Input voltage is low | g79C lecsl HUT 3T

(D) Input frequency is low | 7YC el A 318

Correct Answer : B

8). Whatis the full form of PWM? | PWM 1 $d IH &1 3(Te?

(A) Pulse Wide Modulation
(B) Pulse Width Modulation
(C) Phase Wide Modulation

(D) Phase Width Modulation

Correct Answer : B

9). Which transformer is useg in servo voltage stabilizer? | ﬂﬁf@éﬁf

TSR Al HIUT SFAHIHR aTgRdTd

(A) Step up transformer | XY 37 gIrHLhTJ-TQ

(B) Step down transformer | XY S ;IrHWTJ-IrQ
(C) Toroidial autotransformer | eRIISd &nﬁgmrtﬁﬂ?

(D) Constant voltage transformer | PHICT GBIl §|erqu
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Correct Answer : C

10). What is the purpose of output transformer in inverters? | gger gy
33eYe T DI BT 3R?

(A) Step up input AC | 79C T WY 3{U HR00

(B) Step down input AC | $TGC Tl XU S35 HRU]
(C) Step up AC from amplifier | SITRIBTIR URET Tt %2 314 H0Y
(D) Step down AC from amplifier | ST&RTHER UREH T T S35 01

Correct Answer : C

11). Which term refers that the mass of a substance liberated from an

electrolyte by one coulomb of electricity? | TP Had fast Q_q'l_el'le[
SAdClasc T Had gIoMT Gardfe a¥gdH PIvrc Ugrar Y aa?

(A) Electrolysis | Wﬁ?ﬁﬂ

(B) Electro plating | sﬁﬁgﬁﬁn

(C) Electro copying | Wﬁﬂn

(D) Electro chemical equivalent | Sﬁﬁ CatCag) Wﬁ?

Correct Answer : D

12). What is the minimum permissible single phase working voltage, if
the declared voltage is 240V as per ISI? | 319 U 3T gHT0] FMYTRT Paia

FBleeol o V 3d d RITTA el o HHId HHT AR T Gl fhdt
?

(A) 233V
(B) 228V
(C) 216V

(D) 211V
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Correct Answer : B

13). Which instrument is used to check short circuit faults in electronic

circuit in voltage stabilizer? | Elecwl TITAIZRAT Feide e Hiche AYTe
¢ Fidhe Biee qURITIRITS! DI IUhRUT dTURTd

(A) Ammeter|3rl'1ﬂa
(B) VoItmeter|o_5P|R1ﬂ?T

(C) Ohmmeter | 3EHHICX
(D) Multimeter | Aegitex

Correct Answer : D

14). How the backup time of UPS can be increased? | qfﬂwiﬂﬁﬁm
cleH i dleddld?

(A) By decreasing the VA rating of UPS | UPS o VA T ol e
(B) By increasing the AH capacity of battery | el e &udl dleg-d

(C) By decreasing the AH capacity of battery | Sedl U emdr HHl de

(D) Maintain_the battery voltage less than 90% of its rating | Selid Blecsl AT T
90% U&fT HHI &aT

Correct Answer : B

15). What is the full form of UPS? | UPS ﬂTWWﬁW 3{Tg?

(A) Uniform Power Supply
(B) Universal Power Supply
(C) Unregulated Power Supply

(D) Uninterrupted Power Supply

Correct Answer : D


javascript:void(0)
javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 188

16). Which is frequency converter? | HIUTdT e Hrage 3TR?

(A) Rectifiers |W
(B) D.C choppers | SRR
(C) Cyclo converters | Taad] B

(D) D.Cto A.C converters | St QQ@ PHIde

Correct Answer : C

17). How the hard sulphation defect in the secondary cell can be

removed? | G&H URMdId 8T8 AethT Q1Y BT R Bl Ol Adhdll?

(A) By providing trickle charging | @W IR UeT= -
(B) By providing fresh charging | TSl =TS UeT e
(C) By providing boost charging | ¥ TIHT U&= B

(D) By providing high potential charging |BE[H"J-I'I_OHE|T%T"TWWT

Correct Answer : A

18). Which is the cause for the fault if the output voltage of UPS is higher
than normal? | UPS El 33 CYC glecy AU SR 31T
BHRU B 3T6?

(A) Battery gets short circuited | Sest T Fihe gid

(B) Defective feedback circuit | Plsa® Tfthe aﬂ'ﬂﬁ ST
(C) Input voltage is low | E':FE{E@@GIW 3Te

(D) Battery get open circuited | et 3y Tfdhe giard

Correct Answer : B

19). Which principle the constant voltage transformer works? | DI
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~\

Glecol CFIHIER HIUAT TdTaR DI Bl

(A) Self induction principle | qeh S8R dd

(B) Fall in potential principle | Bid 39 UIcREd dd
(C) Ferro-resonant principle | TRI ¥ dd

(D) Mutual induction principle | RIH3d SR dd

Correct Answer : C

20). Which is the function of an inverter? | WEYT J BT HIUd \311%’?

(A) Converts A.Cvoltage into D.C voltage | AC ®lecdl d DC Glecsl A& FYidR dxal
(B) Converts D.Cvoltage into A.C voltage | DC @Eleesl d AC FleeoTHH SR ©vdl
(C) Converts D.C voltage into higher D.C voltage | DC Glecold SRd DC Blecoded ¥R

(D) Converts A.C voltage into higher A.C voltage | AC Blecord SlRd AC Bleeoided BYiaR

Correct Answer : B

21). Which part of the UPS supplies continuous output in case of input
fails? | STYC SURG] AT UPS T 10T YRT ad HSeyc JRadI?

(A) Battery unit | 5e31 gf-e

(B) Inverter unit | 378<X g
(C) Rectifier unit | AFBRR g
(D) Controller unit | HEIeR e

Correct Answer : A

22). What is the cause for the output frequency of an inverter is high? |
ZgCdl H3CYT dRART SR YU HRUI BT 3Tg?
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(A) Short circuited transformer | Q¢ Hiche bl ;Ir{-ILhTJ-IrQ
(B) Low battery | e HH

(C) Defective oscillator | %&mﬂa 3fiaer

(D) Open circuited transformer | gfdhe P 'g“F\‘:lﬁﬁ? SYUSI

Correct Answer : C

23). Which transformer is used in stepped voltage stabilizer? | e

Flees WITAISRAL DIV CT=Ih R dTuRdl Sdl?

(A) Stepup transformer | <US3T CIHIHR
(B) Isolation transformer | &m—é}mmﬁﬁ?

(C) Air core transformer | U3 GAN glr{-lleJ-TQ

(D) Autotransformer | Hﬁm

Correct Answer : D

24). What is the reason for having low back up time in UPS? | ?Icﬁw?f{
DHH! IS TISH U HRUT H1?

(A) Output load is low | &W@gw 3ATe

(B) Battery is over charged | S SR dTo! el 3T
(C) Mains earthing is not proper | G811 311 I T

(D) Ampere hour (A.H) capacity of battery is insufficient | iR 919 (A.H) St
&I ST 3T

Correct Answer : D

25). What is the effect in internal resistance of a discharged cell? | SIS
d gob oA SHidReb faR1Y R S UROMA gl

(A) Increase | ared!
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(C) Becomes zero | [ gidl

(D) Remain same | GEEES ?IB(‘]I

Correct Answer : A
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NIMI Mock Test

1). What is the full form of UPS? | UPS 1 rcdl BiH 1Y 3{Tg?

(A) Uniform Power Supply
(B) Universal Power Supply
(C) Unregulated Power Supply

(D) Uninterrupted Power Supply

Correct Answer : D

2). Which principle the constant voltage transformer works? | PIRE<
HIUTT TATAR DT Bl

(A) Self induction principle | AP TSR dd
(B) Fall'in potential principle | Bid 3 UlcREad dd
(C) Ferro-resonant principle | T ¥HIe dod

(D) Mutual induction principle | RIH3d SR dd

Correct Answer : C

3). Which is the application of automatic stepped voltage stabilizer? |

3{feHfed WU @lees! TITATR IT IUAN

(A) Geyser | UERN
(B) Grinder | m‘é%&
(C) Television | W&’h

(D) Pump motor | U4 Hlex

Correct Answer : C
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4). What is the effect in internal resistance of a discharged cell? | St
Id Hob Jor=dT HTaikeh faRIY aR H1g gikond gidl

(A) Increase | ared!
(B) Decrease | AT Al

(C) Becomes zero | qufﬁ?ﬁ
(D) Remain same | GEEES Qléél

Correct Answer : A

5). Which feedback network is used for automatic voltage stabilizer? |
A HIUd Bigsdh cdd dIuRdId

(A) Current divider network | PC IT'%OE;ILISQ Acdd

(B) Voltage divider network | Bleedl fe®Taey Acas

(C) Tapped transformer network | L) glr{-IWTJ-TQ qcdd

(D) Resistance temperature detector network |%@|RTH CHRTR Jedd

Correct Answer : B

6). Which term refers that the mass of a substance liberated from an
electrolyte by one coulomb of electricity? | b held fast EITﬂBﬁ
gAdCIdTse TYA God BI0MRIT Uerdlel axgd Il Yerdl HaH ga?

(A) Electrolysis | sﬁa@ﬁvsﬂ?r

(B) Electro plating | Eﬁﬁjﬁﬁ'ﬂ

(C) Electro copying | g@lﬁﬁtﬁ"{

(D) Electro chemical equivalent | W Sfed sfPgade

Correct Answer : D
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7). What is the full form of PWM? | PWM o1 d HIH 1T 317

(A) Pulse Wide Modulation
(B) Pulse Width Modulation
(C) Phase Wide Modulation

(D) Phase Width Modulation

Correct Answer : B

8). Which is the function of an inverter? | W_&%[ I HIUTd \’rﬂ%?

(A) Converts'A.C voltage into D.C voltage | AC ®lecol o DC Blecs] Hel XoidR @l
(B) Converts D.C voltage into A.C voltage | DC Fleeol d AC FleeoTHH ©YIaL drdl
(C) Converts D.C voltage into higher D.C voltage | DC RPlecord SRA DC Blees e FUIaR

(D) Converts A.C voltage into higher A.C voltage | AC Glecord STRA AC Blecor e WUicR

Correct Answer : B

9). Which transformer is used in stepped voltage stabilizer? | LE Flees]
CIENGIRSIRI

(A) Stepup transformer | KUY E‘F\‘Tﬁﬁ{

(B) Isolation transformer | Wﬁmmﬁﬁ?
(C) Air core transformer | U3{X DR _ng\‘:lUv—\IfR
(D) Auto transformer | ar‘fa’r'g’raqﬁﬁ'\r

Correct Answer : D

10). What is the name of the stabilizer as shown in the figure? | &Wcﬂﬂ
1d BT 3T5?
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(A) Stepped voltage stabilizer-automatic | LE Fleodl LITAIER - 3cHicd

(B) Stepped voltage stabilizer-manual |@'l'(‘5’ Glecol TSR ﬁ.g@m

(C) Constant voltage transformer | RR Elec S glf{-ILle-TQ

(D) Servo voltage stabilizer | Hal Gltesl WLIAATISR

Correct Answer : D

11). Calculate the voltage and ampere/hour, if four cells rated as 1.5 V
and 8 A.H are in parallel? | @@Tﬂ 3107 AR/ HIST, SR 1.5 V. 30T 8
A.H 3 haid IR el FHITR SHclIer oR?

(A) 6Vand32 AH
(B) 3Vand16 AH
() 6Vand8AH

(D) 1.5V and 32 AH

Correct Answer : D

12). What is the purpose of output transformer in inverters? | gger gy
33cYc T B B 3He?

(A) Step up input AC | 79C T WY 3{U HR00

(B) Step down input AC | $TGC Tl XU S35 HRU]
(C) Step up AC from amplifier | STRIPTIR TR Tt WU 317 H0I
(D) Step down AC from amplifier | TR FIRSG T T B3 B
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Correct Answer : C

13). What is the full form of 'EVSE'? | ‘EVSE’ © Ul A1d &1 31187

(A) Electronics Voltage Supply Equipment
(B) Electric Voltage System Equipment
(C) Electric Vehicle Supply Equipment

(D) Energy Variable Supply Equipment

Correct Answer : C

14). What.is the cause for the output frequency of an inverteris high? |
3{I3eYc TRARI SR UG HRU B 3He?

(A) Short circuited transformer | TITe Ffhe Haral gIrHHOTJ-TQ
(B) Low battery | qest HHt

(C) Defective oscillator | %m&f 3Hieer

(D) Open circuited transformer | Hfdhe dad _ng\‘Tqv—\llﬁT 3Ys]

Correct Answer : C

15). Which electronic circuit is used in a automatic voltage stabilizer to
produce the constant output voltage? | R SMM3CYc glecysl IR

i GUaleId Gleedl TITATdeRAS HIUd Fadei-d Jihe aTaRa
?

(A) Rectifier circuit | YFemRR Gfhe

(B) Amplifier circuit | SRAHRR Afdhe

(C) Oscillator circuit | 3RS gihe

(D) Zener diode and transistor circuit | SR SIS 3for QT%I'\‘E'{ gfde
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Correct Answer : D

1@). Which transformer is usgd in servo voltage stabilizer? | ﬂﬁf@éﬁf
CITAIIR A HIUT SFAHIAR aTaRdTd

(A) Step up transformer | XY 37 gIrHLhTJ-TQ

(B) Step down transformer | XY S gerLhTJ-Ir{
(C) Toroidial autotransformer | RIS Gﬂag'f:\‘lﬁﬁ'{

(D) Constant voltage transformer | HIcT Gleco] glr{-IHOTJ-TQ

Correct Answer : C

17). Which is the cause for the fault if the output voltage of UPS is higher
than normal? | UPS T 3T3CUC &lecs JHFIUET SR 1T ﬁ‘amfcr
BHRUI B 3TE?

(A) Battery gets short circuited | Scst e Jidhe gid
(B) Defective feedback circuit | IS Hihe &rugad AR

(C) Input voltage is low | g79¢ Flees HHI e
(D) Battery get open circuited | ScXl 31U Hfde gidrd

Correct Answer : B

18). How the hard sulphation defect in_the secondary cell can be
removed? | Y URITdId BT Yeth M GIY DYl G thdll SIS, hd|?

(A) By providing trickle charging | ﬁﬁ TINT UM H

(B) By providing fresh charging | Tl TTSHT UG Hee

(C) By providing boost charging | ¥ TN TG e

(D) By providing high potential charging | Ja YU Mo UGH Hed
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Correct Answer : A

19). What is the reason for having low back up time in UPS? | gd’lwmir
FHH! SH 3T CIZH U HRUT H1I?

(A) Output load is low | &I'IBE'EK’@_S’W 3T
(B) Battery is over charged | Sex] SR dTo! el 3]

(C) Mains earthing is not proper | % 31T T A

(D) Ampere hour (A.H) capacity of battery is insufficient | SR a1 (A.H) Jedi
& Y

Correct Answer : D

20). What is the advantage of on-line UPS over offline UPS? | KIS ER|

gUITY UefT 3iiHcTs- Uity o B HIv?

(A) Supplies constant power output | PIE< Yiax 313cYc adr

(B) It gives variable output frequency | 8 ®RUad 33cYc dRARAI ad
(C) Works with transition problems | S0l THNG B4 dc

(D) Free from change-over and transition problems | Tol 3fig Sffor QT%I'QF-I e H
UL Herd SrHat

Correct Answer : D

21). How the backup time of UPS can be increased? | gdﬂwma’aﬁ&rq
cleH ol dleddid?

(A) By decreasing the VA rating of UPS | UPS o VA ST ool e

(B) By increasing the AH capacity of battery | eIl Tu &l dleq-

(C) By decreasing the AH capacity of battery | el TUa amdr HHl B

(D) Maintain_the battery voltage less than 90% of its rating | Jelid Blecsl AT T
90% U&T HH! &aT
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22). Which is frequency converter? | CANGIRE ] W_& \’rI'I%'?

(A) Rectifiers | XdCHIR

(B) D.C choppers | St AR

(C) Cyclo converters | TTaadl B

(D) D.Cto A.C converters | St QQ@[W_&

Correct Answer : C

23). What is the minimum permissible single phase working voltage, if
the declared voltage is 240V as per ISI? | 3T U 1Y aHTol
Flecdl YoV, 3d R RATTe ol o SHid HH! HI STcie! Blecs! el

?

(A) 233V
(B) 228V
(C) 216V

(D) 211V

Correct Answer : B

24). What is the reason for tripping the UPS with full load? | W%
ISR fCU BIvard HRUI B2

(A) Main supply failure | J3 J&IY l\bc'gm

(B) Incorrect over load settings | 3fgdrs AfeT ﬂﬂﬂ% ST
(C) Input voltage is low | g79cC Slees HHT 3T

(D) Input frequency is low | 7YC flrer-al Al 318

Correct Answer : B
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25). Which type of output transformer is used in automatic voltage
stabilizer? | 3TCMHfCH Flees WIGAIIR T 3MICYC TAHIH DU
YhRAT 3l

(A) Auto transformer | 3MTet @R‘I’W\Iﬁ'\’

(B) Static transformer | Kled gIrHLbTJ-TQ

(C) Ring core type transformer | AT BIeR CIEEH glr{-lhh\l’l-lc{

(D) Ferrite core type transformer | TRISC HIR Q'RqﬁﬁT

Correct Answer : A
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NIMI Mock Test

1). What is the advantage of AC power transmission? | AC BIEN §'F\Erﬁ-IQFI
o BTG DY 3167

(A) Corona loss negligible | IR HH! FHRIAT AN
(B) Stress on transmission lines is minimum | 'g“F\‘:@QFT SIERCHGESIILER

(C) Low voltage drop in transmission lines | gmlﬁm dls dRId Gleel §TL4 4t

(D) Voltages can be stepped up and stepped down easily | Flees P! SR HI01 A1

Correct Answer : D

2). What is the main purpose of cross arm used in electric poles? |
OIeT &R oh19 STH b aTuRdId

A

(A) Supporting the line conductors | qIs h8dex Al YR SIS

(B) Holding the insulators on overhead line | 8lf@¥gs ATsaR S-HAEY U= oaul

(C) Avoids the short circuit between conductors | HeaeHd YTc Fibe crad
(D) Reduces the conductor sag between supports | thﬁ R Hadexdl U HHI Hxd

Correct Answer : B

3). Why the pin insulators outer surface is made by glazing and bent the
sides inward? | fS¥@ fO7 S_cIe¥a STEAT GEUHT &1 ﬂﬁ%ﬁ 3{TTOT SATefted
SIS dichdaidl BT SI?

(A) To withstand the high voltage | I glecordl ATHAT HRUGNITS]

(B) To attract the birds to sit on it | TR SYUITITST U 3MTh N d HRuaraTa!
(C) To offer the high mechanical strength | 3 ifAes el SHTHI HIUIMTS!
(D) To drip off the rain water | mﬁuwﬂgmmmﬁﬁ

Correct Answer : D
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4). Which electric lines connect the substation to distributors in

distribution system? | JaReR 101 fRES R FiHAT HIUTAT <1 SISdrd?

(A) Feeders | i

(B) Distributors | fefigsger
(C) Service lines | ﬂ'[%ﬂ (_'Il'sﬁ:l
(D) Service mains | qfdg A9

Correct Answer : A

53 Whic&;\%is the conventional power generation? | URUR® arSI=Hr
%

(A) Wind power generation | TG 301l diet-THe

(B) Tidal power generation | HRall-3gre] diafAfHd
(C) Solar power generation | IR Sl it

(D) Thermal power generation | SN i

Correct Answer : D

6). Why steel is reinforced in ACSR conductors used for over head lines?

| 3R B AR Al ACSR heaey Hell Tl RBIFS BT ddld?

(A) To minimize the line sag | AT AT I HHI HIUATHATS!

(B) To increase the line voltage drop | <lg- glec §Tl-l I3RS

(C) Type of Supply voltage and load | YT Gleedl AU ASd UHR

(D) To decrease the current carrying capacity | qTHT a8 &HdT HH! HRUITTS]

Correct Answer : A

7). Which material is used in solar cell? | IR I ALY IO a1y
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CICRGIGK
(A) Silicon | IGINEAG]
(B) Copper | LIS
(C) Antimony | 3ffer i
(D) Phosphorus | I IRY

Correct Answer : A

8). What is the voltage ratio in A.C distribution line adopted for
domestic consumers? | ‘ER!!('“ JIIRITST IORAT A € %%ﬂi’l‘l
A glecsl X2 BRI SI?

(A) 415V/240V
(B) 240V/110V
(C) 415V/110V

(D) M Kv/415V

Correct Answer : A

9). Which type of line insulator is used at the dead ends of the H.T
overhead lines? | H.T 388 S as-TedT Qqcedl SlbIall DIV TRy =l
xcicx dibxdid

(A) Pininsulator | o= saaaaz
(B) Disc insulator | fs Ef{[aﬂ

(C) Stay insulator | ¥ 3=alc}
(D) Post insulator | Wsﬂﬁa

Correct Answer : B
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(A) Pin type insulator | {09 15U 3gaieR

(B) Disc type insulator | f&%® ED sﬂgad

(C) Shackle type insulator | gTh CI'{H svﬁadi

(D) Suspension type insulator | LIRS BRI L ET\ﬂﬁE?

Correct Answer : D

11). What is the reason for effective utilisation of the conductor cross-
sectional area in the transmission of DC as compared to AC? | AC&I
qa-d DC AT CAMARMTS Shede? o Ig-HaRHd &3 TYTd! JTuR $HRudrd
PRI BT 3ME?

(A) No heat loss | Bl A 9
(B) No skin effect | e s'a’_clf Tl
(C) No power loss | TiaR A =Tl

(D) No corona loss | BT A Tl

Correct Answer : B

12). What is the type of over head line joint as show in the flgure? |
31Iq_bd|d C'(I@Id('tlIHHIUI 31I06Q 66 Q’1I’$"I ulQcCdl Ui iy

w4

=3 ¥

(A) Twisted joint | fg¢E Sige

(B) Straight sleeve joint | %?;d %ﬂnlos UIT{C

(C) Compression joint for ACSR | ACSR HTS! BRI Slgc
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(D) Straight joint through connectors | e?;c SIEE ?.t{\dv-}IdCQ

Correct Answer : C

13). What is ACSR stands for? | ACSR Ul BT

(A) All Conductors Steel Reinforced
(B) Aluminium Core Steel Reinforced
(C) Aluminium Covered Steel Reinforced

(D) Aluminium Conductor Steel Reinforced

Correct Answer : D

14). What is the name of the power, generated from the coal? |

-\’

PISRIUI AU gI0M=T faord A1d &2

(A) Solar power | AR Sl

(B) Hydro power | EW@ BICK
(C) Thermal power | YIe UfaR
(D) Tidal power | YR RIadt

Correct Answer : C

15). What is the name of the substation that all equipment of substation
is installed within the station building? |
19 DT 3MT8?

(A) Outdoor substation | 3ICTSISR gg WA

(B) Indoor substation | '&"-'-T?IGR Jae =

(C) Plinth mounted substation | iy SMRifgd gaexH
(D) Pole mounted substation | TId AT draicl YR

Correct Answer : B
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16). What is the insulation resistance between any two conductors in a
medium voltage domestic installation as per IE rules? | IE <1 78R
e Sleeo! Als AT G deaer AT Y JRey fard!

STIdT?

(A) Infinity | 3FFafg
(B) More than one mega ohm | TT STEH U&T ST

(C) Less than one Mega ohms | U HT 319 U&T 4t
(D) Zero | [

Correct Answer : B

17). Which turbine is used for _highhead inthe hydro power plant? |
BS! UlR WicHS g1 5SdIdl caig aRal

(A) Francis turbines | Iy EEIT'SFT
(B) Impulse turbines | SHIcH E‘GI'YET-[
(C) Kaplan turbines | $Hp Targd

(D) Reaction turbines | R E‘@ﬁ%zf

Correct Answer : B

18). What is the name of the power, generated from the water resources?
| ST 10T SIOM=AT RAekiTall BT FOrdTa?

(A) Thermal power | YHe UraR
(B) Wind power | g SHoll

(C) Tidal power | YRl rakil
(D) Hydro power | ETQ@UVWT

Correct Answer : D
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19). Which fuel is available in plenty in India for power generation? |
T3T URATHE DIUTd S fAYe YA SUaTsy 31Tg?

(A) Coal | ®icdl

(B) Diesel | fegi@

(C) Gas oil | 719 3figd

(D) Gasoline | TG

Correct Answer : A

20). What is the name of the insulator used in O.H\Iines as §hown in the
figure? | SMiPpaTd GRITTATIHIY O.H TS ~THL AR Sqaied A1d B

(A) Pin insulator | o 37\3@!3?
(B) Post insulator | W%T\ﬂaﬁ

(C) Strain insulator | ¥ 3IAIC
(D) Shackle insulator | ﬁwsagﬁar

Correct Answer : D

21). What is the name of the insulator as shown in the figure? | &Wﬁ
ZIed A1d B 3Hg?
| e
iy
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(A) Stay insulator | ¥ 3gcicx

(B) Shackle insulator | Qe SIeCR
(C) Suspension insulator | H@W%T\ﬂa??
(D) Single shed pin insulator | Rivre grs fue 37{1@2?

Correct Answer : D

22). What is the cause for phase to ground fault on the transmission
|ine?ﬁﬂﬁ¥ﬂﬂéﬁ@%ﬁmwma@ammwﬁ%
Egp ?

(A) Low voltage | %4l fdggdard
(B) Insulatorfailure | SIdICY ARG
(C) Human Error | T-dT FCI

(D) Fuse failure | /ST d gIur

Correct Answer : B

23). What is the name of the symbol as shown in the figure? | GWT‘[
1d BT 3T5?

_>':_||.

(A) Coupling Capacitor (CC) | YT HURIER (CC)
(B) Circuit Breaker (CB) | §fdhe siahR (CB)

(C) Lightning Arrester (LA) | SITSEfTT 33X (LA)
(D) Earth switch (ES) | 31 f&d (ES)

Correct Answer : C

24). Which type of line insulator is used for terminating on corner post? |
TR 1 $cIeR ATORATA?
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(A) Pin insulator | {09 Sgaicx

(B) Strain insulator | % §gaex
(C) Shackle insulator | ET FFaAC

(D) Suspension insulator | TEIYA IIeX

Correct Answer : C

25). Which is the permissible load for lighting subcircuit in domestic
wiring as per IE rules? | IE 30 TR R Adia i 99 Afdhe
Ell IS fopel?

(A) 800w
(B) 1200 W
(C) 2400 W

(D) 3000 W

Correct Answer : A
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